NOTES.

ccaonnechions |

M2-1i,

2.Refer 1o quide diawing M28-1 for tronsformer lead sizes ond
primory fuse sizes.

3 Increase this dimension 2'—(!" for spans over 300 faat in length .

4.The tronsformer grounding loop assures lwo seporale conneciions lo
ground . See guide diowing M27 tor delails |

opsts

— — )

|
|
(Kamral Atsan

Asst. Seq

I Refer to transtormer guide drawings for secondary and service

5. A ground rod is required lor this installation. Specily separotely as

" I v . .
6. N 3 minimum separalion is required between neulral and low
tension jumpers,

B

Mollik)
cy. (Board), BREB.

\ o
4 | o6 B g:
_________ o . 7/
- ha" | fe
aq ! ! B” I : e af E
G 3 { o e U, 1 L1} (]q
1 Iyt 4-6 ]
" | :f | 1 (See Note 2\)\~~ II',--{: 5]
| 1
ig. | c-d-ek |
[E' c-d-ek _ 1 c-d-ek
. O | ' .
) 4 / | E
I | "“““““——**“t' Transformer M aq 5
~ ' '-o"  lank qrounding\ ! _’__ (N2 6cu) ‘g
R : :
| 2= % 5
s I -6 i A
2 Neutial v
i § "rﬁ" ""*-——*" "7 D l_....._...__...._....__._...__....__.. D
on I -T | "
I-6 P l g
l“‘ ¥ P hosee
- L “,\\ —————— 3'"""""']"(!: ————————
B o See Nole 3 e
< ITEM| NO, MAT ERIAL 1) M| NO. MATERIAL
¢_| 4 |Boll, machine, 5/8" x required length  f ap | | {Clamp, hol line
d | 4 |Wosher squore, 2'{1 % 0q | -~ |Jumpers, os required
P | — |Connectors, os required ek | — |Locknuls
oe | | |Lighlning orresier fm | | |Brocket, culout ond arresler
al { | {Cutout o st | I |Stirrup for hot line clamp
on | | | Transformer, convenlionol lype

?

(Md (rzibur Rahman)
“onsultant TAPP BRER

(Md. Dunidul islam)
Censuitant. TAPP BRFEF

(Md. Moxammel Hug)

(Md_ Abdul Khaleque)

‘onstltant TAPP RRET

--"""-—-—_-—__7
Consultant, TAPP, BREB

(Debasish Chakrabortty)
PD,TAPP BBEB

Md. Ahsanul €)
“n(nsultantTAPgaFt!}}JlEP

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV SINGLE PHASE TRANSFORMER AT 1—PHASE TANGENT

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

G105

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




NOTES

ap—st
l

' | !
ﬁ" (See Note 7) A :
P : ( o i

— V e _ﬂ_“

Refer to drawing G 105 or 108
for these Notes.

PD,TAPR BRER

N o RLD -
(Debasish Chakrabortty)

See staking sheet to determine
on which phase transformer
is to be connected.

dul Khal
Consultant TAPP gq}]{g)P

=9
=4
(Md.

ozammel Hug)

fad
LL
34
fea)
o
e
I_
=
)
7
£

o
=

No. & cu
See Notes
4, B

.
1
[l
unidul fstam)
t TAPP RRE

R T e
Ls

(Md._ |
ansutant TAPPR

an

/&

o
)
REP

‘ARshiltant TAPP R

|

7|

Transformer
tank grounding

lug

& | Newso
! !
me_gse_ )

e
See Note 3
MATERIAL {TEM | NO.|MAT. CODE MATERIAL
%X reqd length ap clamp, hot line
aq -6 Jumpers, as required
ek B5a0 Cocknuts as required

st Stirrup for hot line clamp

Ad. Mozibur Rahman

e
o

; M;TSCODE Bolt hine, 5/8
olt, machine,
- Washer, square, Z 1/4

15/6 Connecltors, as required
H=-2 Lightning arrester

= Cuteut
rransformer, conventiondl {ype

G
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6 35/11 KV SINGLE PHASE TRANSFORMER ON 3-PHASE CIRCUIT

Revision No, Unit Designation

ITEM | N
c
d

P
ae

af
an

—Nf“_‘t—‘

—-4 44 in30

Reviewed by Approved by

BREB Board 6 G 1 36

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

Date of Origin

July 1979 BREB

—— T




S Y S ————. o,
W
Am
cO
=0
25
23
g:—
ze
=wu
o
s -
33
o h™
S
2
=
S B @ o Srfve Frae e 99900 /9.
¢ (Kamrul Ahsan Mollik) / o
Asst. Secy. (Board), BREB. /
_____ g ="~ b Y
’r]{_ VA - - = el - s ’
————— o— S S, — & —
=
" ; k :
\ _l l I i -
[ - \
1| 9 ! )
| Z @
¥
15 \ p b
|2 ! 9 (
I ) ' I 2
s@(j T W"&M, f
d. Rahman) ‘ IH .Abdul Kh
"%Rultam TAPP RREF {Md. Duhidul Islam) Téﬂgﬂ“aﬁaﬂ?ﬁ‘ oo Consultant TApp Eqﬁgg céﬁiﬂ&i%

Consuitant TAPP BRF!

NS

TAPP. BREB

PD,

~N
(Debasish Chakrabortty)

&,
!B F

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

{4-WIRE GROUNDED WYE-GROUNDED WYE FOR 230/400 VOLT POWER LOADS)

6.35/11 KV, THREE TRANSFORMER CLUSTER MOUNT

Date of Origin

Reviewed by Approved by Revision No.

Unit Designation

July 1979

DBREDR BRED DBoard 6

G312
SHEET 1 0of 2

Revision Date: July 1980, Junc 1981, August 1989, Julv 1995, August 2013, February 2020




an dm Transformer
Grpunding Lug i

=

P B%éﬂw

L)
/ i ._.\’ / " ga__
“{(@ C N i o 25 of
= : o
v X O e B
f o Ta
=
i
: 1 ﬁg
8
fo Ground Mounting
Transformer. Bracket
Grounding iLug
Jumper

Secopdary Lead

‘Neutral Terminal Jumper

SECTION XX Grag W >9900
w@ﬂﬁﬁmm .

(Md_Abdy)
Consultg nt TAI}{)I;?qu%g

.&
. Do
~ 25
1 s o o 6
6.35/11 KV ana-ry Neutrals] B o
B £
¥ 8=
R « ==
Fused 27
Cutout =~ g._l =
Lightning ; | .
Arrester » Primary and . T
Secondary e
neutrals A
/ i must be x—gw
f 3 interconnected 2 T &
Q' :—:‘? =
§& S5
o=
. g =g
j@b — |1 c
a
(‘fﬁ@? " Neutrals
&S 8 =&
O ® i
' 230/400 Volt Secondary g
NOTES : WIRING DIAGRAM 8¢
1. Refer to M@*-1 for transformer lead and primary fuse sizes. .,,_.:E
2. A ground rod is required for this installation. Ground all transformers and the mounting bracket S
as per guide M27-1. =t
3. See guide M31 for cutout and lightning arrester installation and connection details. £
4. C1 or C1=1 pole top units may be substituted for the C7 shown on this drawing.
5. For ease of operation install cutout turned in toward pole.
ITEM [ NO. | MAT. CODE MATERIAL ITEM [NO.|MAT. CODE MATERIAL
¢ 2 | B7/8/9 |Bolt, machine,5/8"xreq'd length an. ' 3 G Transformer, 167 KVA moaximum
c 2 B15 Bolt, machine, 3/4"5(12” ap 5] |24/46 Hot line C|Qmp
d 2 B46  |Washer, square 2~1/4" agq = Dé Jumpers, as required
p - | 11/2/3/4 | Connectors, as required dm | 1 | B87/88 |Bracket, cluster mount
ae 3] M Lightning arrester ek | - B50 Locknuts
of 5 H1 Cutout fo 3 B71 Secondary lead brocket and insulator
st 3 | 135/54 |Stirrup for hot clamp

BANGLADESII RURAL ELECTRIFICATION BOARD

Unit Description:  §.35/11 KV THREE TRANSFORMER CLUSTER MOUNTED
(4-WIRE GROUNDED WYE-GROUNDED WYE FOR 230/400 VOLT POWER LOADS)

Revision No. Unit Designation

Reviewed by Approved by

BRIB Board 6 G312

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, Februarv 2020

Date of Origin

July 1979 BRI




|

{ { ; s g
] ] 5 w I
ST &
- 1] > i — = —— '3 —;—m —
/ 88§
T )
30" Rég =/
S g
EE\\ 3K dek 8
t-d-e
— [ [48
= TH]
g = g gg
Iy = 4
E L 0
EF g -27€¢
H B % §
P
2 f ‘ﬁ &
PT | [[er] [[er erlf| P ﬁ =z g &
S e ke L e = =]
= ’ 4
| | Er
- R &
i gLl
V e ‘ I E,'O: .\‘{g{%r
wo [1:]
an g é =% Sa
BF =
| | S: 25
f— S 8 E
=
| L | l = S
| =5 | | 5 )
1 | . VRe 5 o
bl T :Fb g B9
m\\: 1 g [-j gé
| | !
- b :5 Eg
l
| J T
Mote :-
I ) | T/ 1. Minimum Pole Requirment 35f Class 6.
2. Place Nutral on same Pole W/LT.
~ 3. LT. May be Quadruplex.
I Jc 4, Turn Cutouts toward clear Pole .
90" u@ 5, Back guy LT. as Required,
I’ Normally 9'-0" but poles must always T | 6. One Fole should be open for climbing.
be set to measured lenghth of platform 7. Brace holes at both end should be 11/16"¢
ITEM [MAT. CODE | Qty. MATERIAL ITEM | MAT, CODE | Qty. MATERIAL
c B 6/7/8 04 Bolt, Machine, 5/8"¢ x required length ae H?2 03 |Lightning Arrester
¢ B1S 06 Bolt, Machine, %" x 12" an G 4/5/6 01 [Transformer, 30, 250 KYA max.
cu B 41 04 Brace, steel aq D 6/7/8 . Jumpers, as required
g 1 g-gs 06 grolssann 4" x 2" ’;55: x 4" % 10' steel channel ek B 50/138 04 | Locknuts, as required
04 olt, m/c 5/8" - 114" 01 |Platform assembly
P - - Connectors, as Required 01 |J8 or J6 assembly for neutral as required
aq D 6/7/8 - Jumper, Secondary as Required st 135/54 03 _{Cutout and fuse
- - 02 4 - way pole band with bolts & nuts. ap 1 24/46 03 [Clamp, hot line

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

I'1 KV THREE PHASE TRANSFORMER ON 2 POLE PLATFORM MOUNTED FOR

230/400 VOLT POWER LOADS

Date of Origin

Reviewed by

Approved by

Revision No,

Unit Designation

July 1979

BREB BRERB Boa

rd

6

G315

Revision Date: July 1980,

June 1981, August 1989, July 1995, August 2013, February 2020

.--I—-\_,_‘____



4t | 38" 4
I
: b
i [
i Gl /ac
c—d—ek I i ] . | s
l = n—d—ek | - 1
I | )
. P-4 o B N\ 4k
]
g <3 e o = oy { . e R =i
T ]
il TN\
: Pl 1 g1
cu @ﬁ g
l | <>
B2,
' " | | | e 3097 C%h@@
-, &
5'-0 : | —dﬁ%ﬁ )
e~ T &
44'! \é Q 4”
¥ 52
SR
NS
N
. T “ » _ — S
g : n-d—ek | 6"
53
7=
bZ
- (_
| 7
11 KV Crossing I I : (Md Duhidul islam) (Md. Myzammel Hug)
. See Note 2. | I | kﬁmw)pwr TAPD RREANytant TADP RAF
NOTES :

1. This construction standard may be used as a "Lift pole” in a 33 KV transmission line.
When the 33 KV phase conductor configuration or other circumstances permit, the preferred
"lift pole” construction assembly unit is either the T2 or T2A. Refer to PBS Instruction 100—45
for material and assembly details. ’

2. When used as @ common pole for a 6.35/11 KV crossing under a 33 KV line, the 11 KV A
construction ossembfy unit shall either be @ A9, a C8-1 or a C9 and shall be instalied >
a minimum of 5'—0" below the bottom H| crossarm.

ITEM|NO MATERIAL MAT.CODE [TEM IMAT.CODEl NOQ MATERIAL

g |1 |Pole top Insulgter (11 KV) Ct gl X1 2 |Croszarm, 31/2"x41/2"x8 Q"

b |1 [Pole top pin B1 a2 X2 2 ICrossarm, 33/4"x43/4"'x10'-Q"

c |8 |Bolt, machine, 1/2"x6" B4 aa CH 6 linsulators pin type (33 KV)

¢ |4 |Bolt, machine, 5/8"xreq’d length B8 cu |B45/42 | 4 |Broce, 60 span

d [B |Washer, rd, 1 3/8" diag, 9/16" hole| B48 ek B50/138 JLocknuts as required

d |22 |Washer, square 2 1/4° B46 p B46 Connectors as req d.

f 16 [Crossorm pins [33 KV] B92 n BR6/27/28 6 [Bolt, double arming, 5/8"xreq’d langth |

BANGILADESH RURAL ELECTRIFICATION BOARD

6.35/11 KV LIFT POLE FOR A 33 KV LINE

Unit Description:

Revision No.

Ulnit Designation

Date of Origin

Reviewed by

Approved by

July 1979

BREB

BREB Board

6 H1

Revision Date: July 1980, JTunce 1981, August 1989, Fuly 1995, August 2013, Febrnary 2020

T



o0

.

b
- TETY
€ Ll
el |
LA
i
¥ 3 36" & 1] 3:6"
|
°'| I c«d-ek—éL__L l :
P
8 (‘i ‘][\ i lEx
.
8 - . — - i it 4 Ay e it _..__-T._E_l_ . T v s —— T -
I I
\_ | |
|
' | ] |
{ |
|
| Ii .
. £ g
] N—a gé’
n :
[ 7
| I ! %’ g &
| ; %
o~ ; (Kamrnl Atsan Mollik § o
I [P | Asst. Secy. (Board), BREF 2 o
3 3 3.6" | § sk 36" 3 3
I I | ==
& L
c-ek FoE
/_ |
| I
§ = - L =N
i T 1 75 e S | A
N 78 i
|
| 5
= | gm
s B | Tar
E Sy
o E | gg
b | . . g
11 KV Crossing : ¢ ~09 0© EE
See Note - 2 | 0 v S
4 P\’@_i

L
I. Thiis construction standard may be used as a “Lift pole” in a 33 KV
transmission line. When the 33 KV phase conductor configuration or other
circumstances permit, the preferred “lift pole” construction assembly unit is
either the T2 or T2A. Refer to PBS Instruction 100-45 for material and
assembly details.

2. When used as a common pole for a 6.35/11 KV crossing under a 33 KV line, A/ i
(Md: Mozarnmel rug,

the 11 KV construction assembly unit shall either be a A9, a C8-1 or C9 and ; ; * (Md. Duhidul Islami . WIVE :
shall be installed a minimum of 5'-0" below the bottom HI crossarm, Md-Xlozibur Rghriﬁ‘;'&)r ".(‘:Lsuimm TAPP rer Sonsultant TAPF Y

\
4
v
Z
o)
| =
m
ue)
BREB

(4
&
\
!
d.Abdul Khaleque;
Consultant, TAPP,

(M

~apeultant TAP

ITEM | MAT. CODE | Qty. MATERIAL ITEM{MAT. CODE|Qty. MATERIAL ]
a [l 0l Pole top Insulator (11 KV) '3 X-7 04 | Crossarm, stee] channel 4" x 2" x 2" x %" x 8'-0"
b Bl 0l Pole top Pin a {4 6 |Insulators Pin Type (33 KV)
[ B 6/7/8 08 Bolt Machine, 5/8" x required length cu B 42 4 | Brace, 60" Span
d B.46 04 Washer, square 2 1/4" ek B 50/138 32 | Locknuts as required
f B 92/122 06 Crossarm Pins (33 KV) n B 26/27/28 06 | Bolt, double arming, 5/8"x req'd length

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  6,35/11 KV 1-PHASE STEEL CROSSARM (X7) CONSTRUCTION-DEADEND

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board O H1A

Revigion Dates Ialv 1980 Tnne 1981 Anoust 1989 Tulv 1995 Ancust 2013 February 2020




em (3" bn

s
/ ;m or tape
AR S

-
0
e,

|
s

/
N\
\

Q)
(

FOR 60° TO 90° ANGLES
AND DEADENDS

(

£
o/
i)
Sg
T =L - s
N @ =
pryal
&Q_
o
g5
JBA =Y
EXTENSION TO EXISTING gé
* DEADEND - C S
< BrEe »qu
i | T |
cm - T
5
P DRAWING TITLE &
' 6.35/11 KV SECONDARY ASSEMBLEES =
& J5 to J1 ¥
8
W—é Mg SE
(Md. ¥407T6ur Rahman) hidill 1el4% (Md. Moagmmel Hug &
~  onsultant TAPP BRER s DUNKUNSIETE), Ot T mRe S
3° 10 30°
NUMBER REQUIRED
ITEM MATERIAL MAT. CODE J5 J6 JBA J8 J10 J12
c | Bolt, machine, 5/8" x required length B6/7/8 1
d | Washer, square, 2 1/4" B46/118 1 1 1 1
o |Bolt, eve. 5/8" x required length B18/19/20 1
i [Screw, lag, 1/2" x 4 B40 2
q | Bolt, double upset B36/37/38 1
s | Clevis, secondary, swinging (B73) B73 1 1
oa | Nut, eye, 5/8" B53 1
bs |Bolt, single upset . 1B33/34/35 1
bn | Clamp, loop deadend B85 /86 2 2
cm | Spool, insulator, 13/4” or 3" groove diameter c3 1 1 1 1 I
da | Clevis, secondary bracket (B72) B72
ek | lockunts ; - BoY 1 1 1
fo |Transformer secondary lead bracket (B71) B71
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Deseription:  230/400 V SECONDARY ASSEMBLIES
Dus 0L Liigen, Reviewed by Approved by Revision No. Unit Designation
July 1979 . it _ .
y BREB BREB Board 6 J5 To Ji12
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




c—d—ek

pail

40000030008808D|

i

aaaaoat

|

K13
dq

/

K10

.
=

K15

cm

.

< AANWIA

< IO \:/i 1

d—ek

rtty)

e

b
BRER

Chakra

(Debasisp,

)
(Md. MofabeT R (Md. Dufidul Isiam) 4. Mo _ MW— (Md.Ah
Apnanttan? Consuitant TAPP BRE i:gneﬁu}tah? TAPP RRE! Conmmgl#ﬁ#gq&)]g Cﬂnsmmiﬁnﬁgﬁﬁ%ﬂ
QUANTITY REQUIRED
ITEM | MAT.CODE | Kli0| KIlI K13 K14 K15 K16 MATERIAL
¢ B 6/7/8 ! ._Bolt Machine, 5/8" x req'd length
d B 46/118 I ] ' _Washer, square 2 1/4"
8 B 18/19/20 ! Bolt Machine, 5/8" x req'd length
aa B 53 K 1 Nut, eye, 5/8"
as B 75 ! i Clevis, service swinging
ar B77 1 i wire holder, service, screw type
bh B 74 | Clevis, service deadend
cm C4 1 I 1 Spool, Insulator, 1 /2" dia, groove
dq B 104 1 Drive hook
ds B 78 [ wire holder, service, clamp type
ek B 50 | | Lockunts

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

230/400 V. SERVICE ASSEMBLIES

Date of Ongin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

K10 to K16

Revision Date: July 1980, Junc 1981, August 1989, Julv 1995, August 2013. February 2020




/ e e
< @/m - il
[
. KI7 K8
d- ek by on

il e
'ﬁb =l __@'-:—774 ik o o {f'.. g
I Se ;

- K .9 e Noie | See Nole |
K20
bw
N COLOM CODE ANL N - e TIEE 7229400
. CMOSS OVER MANKS > oN (@io ol mﬁﬁ—‘; Pre ?
YR
K2l
NOTES -
. Hem " bw”, preformed grip service deodend, moy be used inslead of Item by
wedge lype service deodend .
dul Khaleque)
o w‘(// Md Dmmm (Md: Mozarmae: tug, “W\/
JId \ts anbm 3 NOT r r“qr{';clsnh A aA;J;: QFT:]I-‘{ “onsultant TAPD ARE nmﬂtnnLTAPP %%‘E
r\ Apeniran
i o pakiy Debas‘ ChaKIaDGmW
(MuanTA?P BREB : PD,TAPP, BREB. Mo%
Asst. Secy- (Board), BRES:
QUANTITY REQUIRED
[TEM | MAT.CODE | Ki17] Ki8 | K19 K20 K21 .___MATERIAL
d Bd4s 1 Washer, square 2 1/4"
0 B 18/19720 I Bolt, eye, 5/8" x req'd length
:a g ;3 : | Nut, eye, 5/8"
5 5 Clevis, service swinging
bw E 17-20 1 service deadend, presformed grip
by B 120 I service deadend, wedge type
cm C4 | Spool, [nsulator, 1 1/2" groove diameter
ek 830 I Lockunts

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

230/400 V. SERVICE ASSEMBLIES

Date of Origin

Reviewed by Approved by Revision No. Unit Designation

July 1979

BREB Board 6

BREB

K17 to K21

Revision Date: July 1980, Junc 1981.

August 1989, Julv 1995, Aueust 2013, Februarv 2020




“““““ T & T

ey -
1T il (Kamrul Ahsan Molt) 118
i = | W),BREB- '
, —=£f P a | Qil,s  Asst Secy —eef] + -
_ S | £
(] | 2 K| |, | il
Neutral f - A ot (] i
— — — — p— — ) ":- l},—' e mai b — —— b —-‘-J&
p—— R I
al _‘E L|"m L"F\J -
T S| | SERVICE ENTRANCE CONNECTOR §>
| 7 REB No. 14 o A g
4 * | §'ﬂ’
2 | 4 g8
% &
3 5,6 STR [ SE
—~ o 4 Solid | Colour | S
3 for Blue 1N
4 Alum.
Ground Level §dy >3
2 STR : ém
oS R 1 STR Colour UNIT M2-11 ¥ o
w' RIS, for Red Similar to Unit M2-1 22
" 5/16" Steel except as shown. 2§
o
\ W1 &% Notes : ég
AR | . 3
\,:\? ‘\;;\s‘\:,: 1. Ground wire to be located on same side os Neutral Conductod
\,g::f A—__ and in quadrant opposite climbing space or pole top pin.
jj\a, i ;fi,' 2. Staples on ground wire shall be 2'-0" apart, except for a &
2'-0" min, 9 g;:,;; distance of &-0" above ground and 8'-0" from top of pole £&
TR | where they shall be 6" apart. (28
\5_/\\2’;_’_’; 3. Ground wire to clear all hardware by 2" min and shall be = /ES
Y stapled to maintain this position. o %
4. For use with 1 and 3-phase assemblies refer to quide 23
drawings M30-1 and M30-2. ’ =8
g{g'ﬂ 22“1 5. Upto 25 KVA transformer, two 8'x5/8" size hot dip galvanized ground
egl Ground Rod rods are required and above 25 KV A four rods are required
Md. Mozibur Rahman) 6. For system grounding, resistance of ground maintained maximum 10
¢ t TAPP, BREE(Md. Duhiul Is| 4 F i
Consultant TAPP. sl -r-,wfanf}l)_m- ohms as per PBS Instruction 100-22
_ ASSEMBLY UNIT
ITEM MATERIAL MAT. CODE M2-—1 M2—-11
D1 Connectors, H--ivpe frr "Hycrimp. 16 as_regquired
A Rod, ground, 5,/8" minimum diometer (8) B65 T to 4 T tod
aj Clemp, ground rod. B8O 1 1
al Staples, ground wire. B67 as_required |as required
D4 Ground wire, No. 4 Aluminium, Solid - as_required |as required
p2 Sleeve connector, "LINKIT", REB Item No. 14 114 1 1
N1 Ground wire, 5/16" ga'vanized steel, 5~St-and. - 0S_required [GS required

BANGLADESH RURAL ELECTRIFICATION BOARD

GROUNDING ASSEMBLY—GROUND ROD TYPE

Revision MNo.

Unit Description:
Unit Designation

Date of Origin Reviewed by Approved by

. M2-1, M2-11

DBRID Doard

July 1979 BREDB

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




I M
1 e j g~
L —sef}
D4 T N
Neutrai i o {1 P
______ | [T
i Is
i
“%v ) \E ‘ f r 4
i, P
¥ - 4
~= / (I
i ) fom,
- || gL
S | | :!‘4?
Ground Level - % 4 ::-E z
; % i
| | M2-12 E.
Ny PLAN OF PLATE e_
I8 TYPE GROUND
|| | > S I ST S g 2 4900
M, %mﬂ@g/%ni ! Notes :
Ceogiian g | 1. Ground wire to be located on same side as Neutral Conductor
U and in quadrant opposite climbing space or pole top pin.
oD UHNGJ-J‘%BTJFF?H 2. Staples on ground wire shall be 2'-0" apart, except for-a
¥ = | distance of 8'~0" above ground and 8'-0" from top of pole
~ R where they shall be 6" apart.
(Md. Mxammeltug) T1—_ dh 3. Ground wire to ciear all hardware by 2" min and shall be
Consiltant TAPP RRF! stapled to maintain this position.
For use with 1 and 3-phase assemblies refer to quide
paa Lo Rseque 0 drawings M30-1 and M30-2.
Consultant TAPP, B asalls }“f;%-’:n (Debasish C xranomy;
ConsiatT D TAPA B
ASSEMBLY UNIT
TEM MATERIAL MAT. CODE MZ=2 M2=12
bp Nails, qalvanised, 1", roofing 4 4 4
ql Staples, ground v.ire. B&7 as read Qs reod
ol Ground wire, No. 4 Aluminium, Solid N4 as read as regd
dh Grounding_plate, butt type BAA 1,
J1 Ground wire, 5/16" galvanized steel, 3—Strand. N as reqd as req‘d
= Conneztors 114 gs._reqd as_reqd
BANGLADESH RURAL ELECTRIFICATION BO;RD .
Uslt Bescriptions POLE PROTECTION ASSEMBLY—PLATE TYPE

Date of Origin

Reviewed by

Approved by Revision No. Unit Designation

July 1979

DRED BRI Board [

M2-2, M2-12

Revision Date: July 1980,

Tune 1981, August 1989, July 1995, August 2013, February 2020




et e g
: if)ﬁql L‘,T_T
[
3 e
I ml | rlf |‘1,_
J J i T £
| b4 | §| Jt
| 1] Tl
| al
N
4. i Tk Rk
- f __l | x
b T cj
______ —evasdge | Lk | fismr
gl = TR T
p | | / I 2 p £z
BN Y |
| | \}&/5‘ | |
. |i |
kpod L—Ground vire L‘_{-_j

DEADEND ARRANGEMENT SECTION X — X TANGENT ARRANGEMENT

B> 9G4S ST SIS IS 7% 39967

&1{'/1 - (Md, Duelul s 4(Md' ozammel HUQ{ (Md. ABdul Khaleque)
(Md MEOURRIED.  Consutant Taep migy OnSUtant TAP® RRT conqitant TAPP, BREB

Tananitant TAR

M: Haque (Dendsloir wik wiaportty)
NOTE ;  ConsitantTAPP.B PD,TAPP[BREB
~
I. Ground wire to be located on same side as Neutral Conductor ard in quadrant Raimral A4, -

opposite climbing space st Bopr. TEamwib oo
2. Staples on ground wire to be 6: apart.
3. Ground wire to clear oll hardware by 2" min and shall be staplea to maintain

this position.
4. For use 1 or 3-phase assemblies refer to guide drawings

M30—-1 and M30-2.

ITEM HITEM NO.| NO. MATERIAL ITEM [ITEM NO | NO. MATERIAL
p 1 Connector
al Staples ground wire
cj Ground wire, # 4 aluminium
1

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: POLE TOP PROTECTION ASSEMBLY

Date of Origin Reviewed by Approved by Revision No. Unit Designation

Tuly 1979 BRED BRED Doard 6 M2-9

Revision Date: Tuly 1980, Junc 1981, August 1989, July 1995, August 2013, Febrnary 2020




Khal

| | Connect to | 5-0" |
| | | / Neutral i ]
| O i
q | \
f _j: ‘ ai
| i | | NI '
} “ o , ,?
| A i | s
‘ ABS
L‘“Q O_PERATENG\
HANDLE :
/ II| | S LOCATION
| [ = L b4 ’
| Aluminium Wire K_Q -
1™ |- B— i
TR L T
p
o — ' Lo i ‘
| L B CONNECTOR o
N . 7
~ I > _ |
ar al
[ (“ | / \
I < ,&{ O O
: [ | 4 | '
7 ' ®- SECTION X - X
;/Lj/l, ! : ,\,%?‘@ (Detail of Ground Grid)
SEE . g | AP =
i . 30
==z L. B p NOTES : 8 ":%‘
| S ﬂ =
? i' | i z 1, CONNECT ONE GROUND WIRE TO ABS OPERATING MECHANISM Sg
1 T ' Fs
I [ | 2. THE GROUND WIRE SHALL HAVE A MINIMUM CLEARANCE g:
| T NI iron wire OF 2 INCHES FROM ALL HARDWARE AND BE SECURELY a8 g
|| ‘| STAPLED TO MAINTAIN THIS POSITION., S
U I 0 B 1 E
| | .
| Clomp ond Ty
' Braid to be g
| l furnished with — } - Ta
controls :’Q”__ \ 32’
TSug TR
o NS
aadP 1 S8
7\‘-.’ Lo l
r@@ﬁ [ooog |
LBN} —
BTN
: | §|22
| ar

| & C il N RES
| M—{/ {Md D Il E
i Vid. Duhidul Islam)  (Md. Nozammel Hua) ~ geya =5
M 'n'-?wZ;l'EsI-.rIx{r?g!nfé}T- Consuttant Tapr ’-‘-’jf"r(mau!t t TAPD RRE' G
o3 iR I REN
ITEM | 'ATERIAL_CODE [ NO. MATERIAL ITEM_| MATERIAL CODE |NO. MATE AL
aj B65 4 | Rod, ground, 5/8" dia D4 D4 8 | Ground wire, No.4 Al I ter
aj B8O 4 | Clomp, ground rod p 16 2 | Connector, if rec ired
al BE7 35| Staples, ground wire p 114 1 | Sleeve connector, "LINI KIT"
Ni N1 35 | Ground wire, soft annealed iron,galv.5/16°

BANGLADESIH RURAL ELECTRIFICATION BOARD

Unit Description: § 35/11 KV GROUNDING ASSEMBLY FOR SECTIONALIZING AIR BREAK SWITCH

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

RRIDB

DBRED Doard ¢

2]
)

1K
1o

Revision Date: Tuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020




NOTE

Use o smoaller fuse within
Min—Max sizes :

/ Mount cutout

exhaust blast of arc is
directed away from lineman

Y 8
; " E;I‘DH'
—y 3 G o
o s £
Asst 07 Ca
£
2 &
&
€
[ =]
’E‘}\ 3
so tha Za/
=
gs‘%’
-
=5
am
S
S
£
58
2
=y
: 8
SE
S
NOTE : 1 5,
- B o
For use sectionalizing use : f
40 T Max. aofter 70 Amp recloser g
}_

25 T Max. ofter 50 Amp recloser
15 T Max. after 25 Amp recloser

Md. Mozamm

nnsultant

Where cutouts are used only for
isolating line sections use g
proper fuse link Size, not over 40 T.

\

J
=g ==

NETE & 2

i aul islam)

A smaller fuse aids coordination.
Engineer may specify smaller fuse based on

l
!
I
Fuse Range * | i
| 1. Max. & Min. fault amps. _E?
: . ; 2. Peak load amps. — ¢
»I’" Rec : i? T max-30-25 T min. | 3. Recloser size and fuse heating
Lo Rec @ 25 T max—20-15T min. B L. sl _
25 Rec : 15 T max=12-10 T min. | | P : a6
| Ex
* Recloser on 2A, 2C operations. | {[j———>L ‘;g
=
| by es
L,Fj 33 O (1€ TR SIS FER 72 54400 S E
o SE
ITEM | NO [MAT. CODE MATERIAL ITEM | NO.| MAT. CODE MATERIAL
c 2 | B7/8/9 Bolt, machine, 5/8"xrequired lenqth| d 2 | B46/118 | Washer, sq. 2 1/4"
aof 1 H1 Cutout p 1 15/6 Connector, compression type
aq 1 01 Jumper, as required ap 1 124 /486 Clamp, hot line
ek 2 B50 Locknuts fm 1 BSO Bracket, cutout and arrester
st 1 [35/54 Stirup for 'hot Tine clamp

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription: 6,35 /11 KV, 1-PHASE ONE SECTIONALIZING FUSE CUTOUT

Revision No. Unit Designation

Date of Origin Reviewed by Approved by
July 1979 BRI BREDB Board 6 r\/“ 3 S 4
June 1981, August 1989, Tuly 1995, August 2013, February 2020

Revision Date: July 1980,




8" 3-6" I 3-6" | 6"
/‘L 1 ’_I—l ‘L
&
o
s s (4% w—— i !
|
| %
c,d,ek g
See Note 4 See Note 2
\oCu
' J —~—_C. ¢k
=} |
|
in
E S
i A
+ 7
cg
o
|
P
2 P g |
™~ |
.KD '_la_._l'
J 2
”)
)
] USE M2-15
| GROUNDING
| T ASSEMBLY
WT/’

SEE SHEET 2 OF 2 FOR NOTES AND MATERIAL LIST

¢)
k\z‘[d ﬂﬁm{mj (Md. Ul;i/- (M. HﬁunEF

« ) dul Is| leque) (o TAPP. B
Tonsultant TAPP BREB e tant Fm PP "};"QE, (Md. Mgzamme! Hugq) (Md. Abdul Kb eqRE) st

‘onsultant TAPP ppe Consultant TAPP B

(Debasish Chakra ortty)
PD,TAPP, BREB.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription: 6.35/11 KV SECTIONALIZING AIR BREAK SWITCH

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

O

MI=15

BHECE: 1 OF-2

Revision Date: July

1980, June 1981, August 1989,

July 1995, August 2013, February 2020




TOP VIEW
11KV DOUBLE DE

ND
zibur Rahman) (52%

- ) ' . ;
Md Mﬁggh{?uur (Md. Duhidul Islam) %’:ﬂ;m £ TADD RRET  Consultant TAPP, BREB

e : 1 i
Ananitan Consuitant TAPD RRE

abortty)

PD,TAPP, BREB.

NOTES

1. REFER TO SWITCH MANUFACTURER’S "INSTRUCTIONS FOR INSTALLATION” FOR
INSTALLATION DETAILS AND RECOMMENDATIONS.

2. CONNECT THE 11 KV SOURCE JUMPERS TO SWITCH SO THAT WHWN SWITCH IS OPEN
THE SWITCH BLADES RE NOT ENERGIZED.

{Debasish Chakr.

Pi i

~
3. INSTALLATION OF THE M2-15, AIR BREAK SWITCH GROUND MAT, 1S REQUIRED AT =
ALL POLE MOUNTED 11 KV AIR BREAK SWITCH LOCATIONS. 2
4. THIS DRAWING DEPICTS A CHANCE TYPE D7 ABS, SIDE BREAK TYFE FOR VERTICAL -§
BREAK ABS INCREASE THIS DIMENSION TO 6'-0". gé
5. MATERIAL AND QUANTITIES WILL VARY WITH TYPE/MANUFACTURER OF SWITCH INSTALLED.
ITEMINO | MAT. CODE! MATERIAL ITEM | NO.| MAT. CODE MATERIAL
4 B4/115 (B[t machine, 172 % & n o B27/728 gali, dauble arming. 578 xreq’d fenglh
c ] 86/ /7/8_[Boll, machine, 5/8 xrequired lenqth p = 1576 Lonnectors, as required
c 2_|BI3/14/157T6/T1Bolt,_ machine, 3/4 xrequired lenath aa E B53 Nut, eye, 5/8"
d B4E Washer, round, 1-T1/7" diamefer ag = JUmpers, as required
d [T 846/118  |Washer, square, 2—1/4" bs 1 B33/34/35 Bolt, single upset
d 2 B49 Washer, curved, 37 x & cm 1 C3/2 Spool, insulator, T=3/4" groove diameter
g Z X-2 Crossarm, 3=3/4" x #4374 % B=U0"T ¢g 1 Air breck switch dssembly
] [ B40 Log, screw, 1/27 x &~ cu 2 B45 Brace, crossarm, 60" spon
kK [ T2 C-10 Insulator, “suspension, TTRV ek = B50 Locknuls, "as required
T 3 BBT/T3Z2 [Clamp, deadend =]
BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Descripdon: 6,35 /11KV SECTIONALIZING AIR BREAK SWITCH

Date of Origin Reviewed by Approved by Revision No. Unit Designation
: 97 BRED BRED Board 6 Mo—=18
R SHEET 2 OF 2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




'l
SEE NOTE 1

USE M2-13

CROUNDING
’/"""' ASSEMELY

(Vi Vheammelgua), Consultant, TAPP, BREB
MOV TE}EBﬁaszgpéh
“anenltant TAPP nRT

{}\.{Mﬁﬁ—/ an)  (Md. Duhidul Islam)
“menitant TAPABBER Consuitant TAPP REE:
(Md. ARganul Hague, E

Consultant TAPP. BRER

See Sheet 2 of 2 for Notes and Materials List 2 'APP

BANGLADESH RURAL ELECTRIFICATION BOARD

- Unit Description: 6,35/11 KV SECTIONALIZING AIR BREAK SWITCH

Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 M3-15A
Sheet No. | of 2

Revision Date: July 1980, June 1981, August 1989, Julv 1995. August 2013. Fehmarv 2020

T T S n—




TOP VIEW §3 o
L=
S 11 KV DOUBLE DEADEND S j
1. Refer to switch manufacturer’s “instruction for installation” for £ Eflg
Installation Details And Recommendations. F g
2. Connect the 11 kv source jumpers to switch so that when switch is (Md. Mozibur Rahman) (Md. Duhidy Islam) g :-%
open the switch blades are not energized. ‘anenltant TADD RRET - Donsulfant Tapp }'q_r\»"t [ f?"' o
3. Installation of the M2-15, air break switch ground mat, is required at @ &
all pole mounted 11 kv air break switch locations.
2~
4. s drawing depicts a "CHANCE TYPE d7 abs, side break type". For vertical Md. Moza " ﬁﬁ/‘
. K ; . mme)
break abs incease this dimension to 6'-0". Z((mm iltant TAPP }:?lgl,’lr "To(rl:/slul‘!an LT&E@;‘?}J
5. Material and quantities will vary with type/manufacturer of switch installed. e
[TEM | MAT. CODE | Qty. MATERIAL ITEM [ MAT. CODE | Qty. MATERIAL |
¢ B4/llS 4 | Bolt, Machine, 12" x 6 n B 27128 3 Bolt, double arming 5/8" x required length
¢ B 6/7/8 10 | Bolt, Machine, 5/8"¢ x required fength p 15/6 - Connectors, as required
c B 13/14/15/16/17 2 _| Bolt, Machine, 3/4"¢ x required length a8 B 53 6 Nut, eye, 5/8"
d Bag 4| Washer, round, 1- %" diameter g - |Jumpers, as required
d B 46/118 19 | Washer, square, 24" da B 72 1 Bolt single upsel
d B 49 2 | Washer, cueved, 3 x 3" cm C3/2 1 Spool insulator,1, 3/4" groove diameter
g X7 2 | Crossarm, channel, steel 4" x 2" x 2" x 14" x §'-0" cg - 1 Air break switch assembly
c B 40 6 | Log, screw, 4" x 6 cu B 42 2 Brace, crossarm, 60' spon
k C-10 12 | Insulator, suspension, | 1KY ek B 50 24 |Locknuts, 5/8"¢
| B8I/132 6 | Clamp, deadend ek B 5l 4 Locknuts, Y4"g
ek B9 2 {Locknuts, %"
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV SECTIONALIZING AIR REAK SWITCH
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 M3-15A
Sheet No. 2 ot 2
Revigion Dares Inlv 1980 Tine 1OR1 Anonar 1989 Tulv 1995 Anonaet 2013 Fehriare 2020




[ f
ggwoggv—xg’maann!rg
|
m: LIRS TR e ] m;mr\ﬂ»;;n-!s._%
R ERARARRRERRE
NS EFIR T B3 1@ |6 v |88 |FF
N 5 | &8 =lolat |2 |3 |3
2 Tl RIEE ST 8833
[ glaiglela|®l8|el8 312 ] |a B8
“ 3|58 (|2 L% 8], n w|E B IZZ
! N E R R N e
g_ﬂ%xlﬁ «‘:L'g:"‘:-p-.-ma
al=*g S5 N e sslm
el c W w8
- ECOEAES IR R e B i
- RIE] @ 2 Ll 2T
| >0 |5 a ~| e e
o] 35 I~ Haie.
g T~T = 3 |
_ =2 _ N ; = x ol
e pp SRR T ’ i 718
a / 3 |T
) N T
I
o
(o
) 2.0 |® |2
/ L [ 6:
. an ' =
(M3 Mozibur §f§h¥§‘pu’w - 12123
Consultant TAPE P = =0
o~ LAONE : C"I= u;‘lg
/| (e (%
o
[Ts] 2 iaia
j clalg
32 - |z
{Md. Duhidul Islam) ;gg =
itant TAPP RRF' . Seim
ronsuitant TAPP BRF €) <13 (33
< e At e 2 lofs |2
Consultant i | 2o
| =
(1]
) LD-
(Md: Mozammel Hug % | o
sonsultant TAPP B @m\ | - B
NV~ ey o :
/‘l’/— (=) e N
(M5 Abdul Khaleg ALt [
Fa gy 18 3 l.le) }"‘&-.
“ONSWiaH YAPP BREB
=1 -J-! = s
o -~
O
¢ /
! a
o a
I U] B
i) /ﬂ! L e
™ =
_ _\ s O
= A =
> R
— | — 5 \ -
) /3 o
(]
o
o
b
& mﬁﬁ@ o}
e i i i
=1 / b e
(E=3 ]
| n
- g Do
L9
: 1AhsanM°m) I 3 rgmmﬁ‘am‘ 9
¢ (Ramre BREB. I|m yYd G @ A A

SCC')‘ G%Q:lrd)s

l

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV THREE SECTIONALIZING DISCONNECT SWITCHES

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BRI

BRI Board

[

M3-16

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




G

H7 94900

ish Chakr.

"\{_N
(Debasigh

B

(Md. Ahsanu]
szsu]l:*mt,TAPf“fafgFJ ;

/"‘.
I
l
Il
- oy ;
/ " T fr
i > = = &
e e z Il g 5
]
g | | =S
B A
Il E
It |l S
t3 ] <
F :
5
Mdlozibur Rahmat) (Md. Duhidul isiam) , FTRDaleqe)
A tant TADN ODT Consuitant TAPP BRF! l g (MdMozammelHug) ~ (Md.Ab “}ggﬂl BREB
1 ‘onsultant TAPP RRET  copaultant1AFH
ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE| Qty. MATERIAL
c B 6/7/8 |__[Bolt, Machine, 5/8" x required length aa B 53 6 Nut, eye, 5/8"
[ B4 4__| Bolt, Machine, 2" x required length bo B 55 6 |Shackle anchor
d B 46 3 | Washer, square, 24" 0 B 18/19/20 2__|Bolt, eye, 5/8" x required length
g X-7 2 | Crossarm, steel channel 4" x 2" x 2" x 4" x §-0" s B73 2 |Clevi ol wingi
cu B 45 2__|Brace 60" span, pair cm C 203 2 |Spoal insulator, 1-3/4" or 3" dia grove
k C10 12_|Insulator, suspension bn B 85 4 |Clamp, loop deadend
] B 81/132/133 5 |Clamp, deadend ek B 50 17 1Locknuts, 5/8"
p | 5/6 8 |Connectors, as required n B 26/27/28 3__ |Bolt, double arming, 5/8" x required length
0 B 22 2 [ Bolt, EYE, 5/8" x T8" length 5] H18.2/18.6 3 [Switch, recloser by-pass

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KY 1-PHASE STEEL (X7) CROSSARM CONSTRUCTION-SINGLE DEADEND

Date of’ Origin

Reviewed by

Approved by

Revision No.

Umit Designation

Tuly 1979

BREB

BREB Bowrd

O

M3-16A

Revision Date: July 1980, June 1Y&1, August I‘)B‘;_?‘ July l‘)‘)_S, August 2013, FebTLl&}'}'EO2O




Q
Al
A
@1 @ s
Lead
E"ED
P - F 1 l‘ . it "f’: —
o | peCHC] e 3
~ - 35
i S
Sa
‘g’ &
o
; § Q.
v ¥ "
Lot |
v g5
I = &
=
&
:E-_:f‘
| Neutrol g el
————— g
¢ Ll Alll
o
il
b Bk
8
~ i 5 3
T | i ' é
Notes :- Lfb g 8
I. Equipment is installed in the constructed line, materials required for the installing of equipment are shown. ; gé
2. Brace holes at both end should be 11/16"¢ 4 (Md. ammel Hug S
3. The recloser terminal bushing connected directly % M (\ _ ‘onsultant TApp plé-ﬂih
to the coil should be connected to the source, (Md. 11\'103‘1'?% ggh:?;??)p ="n{ o!rd_‘ “’fhfduﬂ Islam) ' Eaili
4. Each recloser tank shall have two connections to ground onmant = -Onsultant TAPP RRe:
ITEM | MAT. CODE | Qty MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
€ B 6/8 5 | Bolt, Machine, 5/8" ae H 2.009 2 Lightning arrester
d Bd6/118 3_|Washer, square, 24" (A7-1) ap 124 2 Hot Line clamp, #4/0x#3 Top
g X-7 2 | Crossarm, steel channe] 4" x 2" x 2" x %" x 8'-0" aq D6 - Jumpers, as required
n B 26/28 3 _|Bolt, double arming be H & 1 Recloser, o1l circuit
p 13/14 6 | Connector, as required §) H 16 1 Switch, Recloser by-pass
[35 2 | Adaptor, Hotline #4/0 x #3 Top cu B42 2 Brace, 28"
ek B50 17 |Locknuts, as required

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV 1-PHASE STEEL (X7) CROSSARM CONSTRUCTION-SINGLE DEADEND

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6

M3-23

e ——

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




e

- (s
e qj P2 - —
Tl

/ ( 2

X
¢ 5.4
Is
I
I
|
H
JION

stod wp wo
RECIR Wojoy G

(8-8 Wey g sefuny BuLOSUDY PIOPUDIS D B ‘lBND0Iq JOISMS ‘WP WY p

NN
el e |

%EW_LM_JAF___”:LJJW_
(MN@?}

punasd O} SUGRORIUOD OB} BADY KOYS IRSO[RI 4oDT T

Li-2n so Aajoundac Aposds pannbal st pos puncub usAp b uoqogoE By 104 T

'wmn;mmnm[qwmw

94} w2i0u Buysng oy Qouuou) poz o o) Kioosp paosuuco Buneng jounwe’ sesopar syl |

uowswj o Aq pejosed: eq Aow epuoy buneiedo wyy o 08 Buneod poey

Depasish Chakragortty)

ul Haque)

(Md.

(Md. Abdul Khaleque)

ngmrﬂmp? BREB

P '1nnc-_\\h\'."‘ T
(_ (Md. Modarmel Hug)
(Md. Duhidul Islatn), ~ Consuitant TAPP BRF-
fonsuitant TARPD RRED )
9909
MATERIAL MATERIAL g
ITEM cope | NO MATERIAL ITEM|" cope NO. MATERIAL /
dm 887 1 |Bracket, cluster type nbR6/27/283 |Double arm bolt
ek 850 | 13 | Locknuls D = |Connectors, as requirea
i 135 6 |Connector,hot line,top assembly aa 833 6 [Nut, eye, 5/8
si Hi6 3 | Switch, recloser by—pass ae | Hzo09 |6 jlLightning arrester ]
o 819 2 |Bolt,eye,5/8 xreq'd length aq g — |Jumpers, standard as req d. i
c | Bss1/e | 3 |Bolt,machine,5/8 " xreq’d Tength be Ha 3 |Recloser
¢ 84 4 |Bolt, machine, T/27 x & bs | s/ 11 [Bolt, single upsel
d | p6/118 [ 15 |Washer, square, 2-1/4" Cy | B4 |2 IBrace, crossorm, 60" span
d 848 4 |Washer; round, 1-3/8" dic aq 08 vumper 12.8 meter, copper
q Yo 2 [Crossarm, 3—3/4"x4=3/4 <10
K cio | 12 [Insulator, suspension, 6" dia
| B81/132 | 6 |Llamp, deadend
cm cy 1 _1Spool, Insulgtor, 1-3/4" dig
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Deseription: 3 SECTIONALIZING OIL CKT RECLOSER WITH BY-PASS SWITCHES (CLUSTER MOUNT)
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 DBREDB BRED Doard 6 M:_?j
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

/ _ . ) o

(Kamrul Ahgan Mollik)

Asst, Secy. (Board), BREB

PD TAPP, BREB:

nsultant TAPP, BREB

Co



©3 S CUE FE SIS PRI W 4400
%@%;;Mdﬂﬂ
Asst. Secy- (Board). ¢, ok
L] / o8
LoAD ik SOURCE
0
i1}
£
SVER E
1 3
2
| o] 8
Q
| =
- - FA- - 4G
| N 2
: | NORMALLY =
i
|
] !
! o
2
~, &
a_.
] 1 g
- l - | S 5
by !
-a i e i |
(Md. Mozibur Rahman) | _
I J Tamenltant ThA o» RRER ‘ } ,a;&
‘ ' i
Notes: L_AI_—_J L_,T_-ﬂ E &
I. The recloser terminal bushing connected directly to the coil (normally the bushing nearest the ’ =] £
o ting handle) should be connected to the Source, Md T (— . E
2. Fu. ihis installation a driven ground rod is required. Specify separately as M2-11. ” (' d E.}Lmr(.f.u] islam) ‘ (v, cAmmelbiug)~ 2
Y ‘onsuitant TAPP por .onsultant TAPP BREF &
3. Each recloser shall have two connections to ground. i S
4. [tem dm, cluster bracket, is a standard transformer hanger, REB [tem B-87.
5. Rotate recloser head casting so that the operating handle may be operated by a lineman on the pole.
ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
dm B 87 1 Bracket, cluster type ! B81/132 6 Clamp, deadend
ek B 50 18 Locknuts cm C3 | Spool, Insulator, 1-3/4" dia
fi 135 6 Connector, hot line, top assembly nb 26/27/28 3 Double arm bolt
st H 16 3 Switch, recloser by-pass P - Connectors, as required
a B 19 2 Bolt, eye, 5/8" xre'd length aa B33 6 Nut, eye, 5/8"
¢ B 6/7/8 8 Bolt, Machine, 5/8" xreq'd length ae H2.009 6 Lighining arrester
d B 46/118 1 Washer, Square, 2-14" aq D6 - Jumpers, standard as required
g X-7 2 Crossarm, steel channel 4" x 2" x 2" x 4" x 8'-0" be H8 3 Recloser
k CIo 12 Insulator, Suspension, 6" dia da B 72 1§ Bracket, secondary
cu B 42 2 Brace, crossarm, 60" span
ag D8 Jumpers, 12.8 meter, copper

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV 1-PHASE STEEL (X7) CROSSARM CONSTRUCTION-SINGLE DEADEND

Date ol Origin

Reviewed by

Approved by

Revision No.

Umit Designation

July 1979

BREB

BRERB Board

6

M3-25A

1?2 aviicimn Tiatas Tl

Qs

1Gs 1

Frivae

Avevrier

TR

1O00S

Fanlsr

Avierer 20012 KFahroara 70720

—

PD,TAPP, BREB



nnector

Qé{wow

Aps® *}_BV@'
”uéfgc‘i‘g.@o“‘“

A

Tvpe

[
[

%mw

sish Cha
TAPE B

(Debasi
PD

"H' Type Cannectar

L ’//',r'_ 2 ’/./,—/ ) - //-_/,’) s
Ll % ===
Lo ‘ Groove B = | ey J
- M&=2 AR ’ ,.
. i O\ -
\5 MES=3 Installation
~ e - i
o : W Y490 m
:i*j A \ Cﬁ]@ﬂwm fohe i =i
) ( Ry 9 CUN, TR =L
P 55}
' S I .g
! N /L k|
R T A > S8
y )
i i T % (3
| : ok
i : 2k
EY ; =
0 . M A
=
\ BE
<S
- o
! \ P 38
I S
L - L.
ER ( ) i
ot - - \ )
— , ‘ Migah‘r_pgﬂgr (Md. Duhidul Islam) P ‘r(msu!tania"!rqgi! i‘glé1
| A T Consuitant TAPP BRET P ¢ ! -
o [~
b . %% |
L) 0 Pt TRy L__l'
ITEM [ITEM MO | . MATERIAL M5~1 | M5—2 | M5—3 [M5~5 [MA—¢]
o |BE7 R Belt, mackhine, 578 w required length 1 -
dBAS T8 Washer, 2 1/4 square Z
A i UArulnteor rin type 1 1
T, oreie) AT RSN 1 [ v5L2 1 . i 51 L (O B
L i pode fop 207 |
- m,_sleel /8"« 10 3/47 i B S I
i line clamp (1-54) | )
[ | =
2 ze 2
SR L
L el eye, 578 req'd length 2
. Clarnp, hol line |
24 Llumper as raquired i |

BANGLADESIT RURAL ELECTRIFICATION BOARD

Unit Description:  £,35/11 KV MISCELLANEOUS PRIMARY ASSEMBLIES

Date of Origin Reviewed by

Approved by

Revision No. Unit Designation

Tuly 1979 BRI

BRIED Board

6 M5-1 To M5-8

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Cq' === Source
A p
Load Specify this
unit to be
:; furnished with
fuse tube or
‘ switch blade
p
M5-9 /c-—d»-ek
%/c-d cdigie EI M5—11
wr/)Rﬂ“" -
an M5—1
Quatontowt ShoeRe  MO712 L] i
Consuit m/ ’/g 35‘
o
o
(Md. ])M&mj ! ! i%
Consuitant. TAPP BRE! L__\ J &
4”'0" PO, v 4r Ou 'é,
_ M5—14 ¢
-=y-- i
f-' 1 c—d—ek 9 g.:ﬁ
: | [F o o b
Waz imel Hug) e o 29
s L ' =
'a) tpnd TYRR
‘onst i J _§
st wl:
Sl_on i Aot 5“-0“ 8
M5-16
iTEM | ITEM NO MATERIAL M5~9 | M5—11{M5-12 |M5-13|M5—-14|M5-16
c Bolt, machine, 5/8™ x required length 1 1 1 1
¢ Bolt, machine, 1/2" x req’d. length 2 2
d Washer, sq. 2 1/4" 1 1 2 o
d Washer, round, 1 3/8" dia 2 2
qQ Crossarm, 3 1/2" x 4 1/2" x 8-0" 1
q Crossarm, 3 3/4° x 4 3/4"7 x 10°-0" 1
Cu Brace, fiat, steel, 28" 1
Cu Brace, angle, steel, 60" span 1
i Bolt, carrigge, 3/8" x 4 1/2" 1
i Screw, lag, 1/2" x 4" 3
p Connector 2
of Cutout. single—shot 1
ag Jumper Z
Cu Brace, wood, 60" span 1
ek Locknuts 1 3 2 ]

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

6.35/11 KV MISCELLANEOUS PRIMARY ASSEMBLIES

Date of Origin Reviewed by Approved by Revision No.

Unit Designation

July 1979 BREB BREB Board 6

M5-9 to M5-16

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

T m—



= f=—===0== Source N %
/ / i
i

’
;
5

Specify this e e

teeg unit to be
; furnished with
fuse tube or j .
' switch blade
» | Wi
\ O '\J
. < &
: B
M5-8A c=d—ek o,? 7=
" g 2 E
- :
ﬂ
,.._‘L.
|
: L1 1z x
CAT Whany o [ 55
=
T 1 5
-1 J =g
~ (Md. Duhigu Islam) s: 5 o
-onsuitant _AD-:EJDE’ en W
76 M5—14A 76
e 25
f"'1 | Py . §.§f
| gL L 1.z / sr_\'
| Six / X<
= S -
g8 i 25
= :
=) =
=< g'-o" - §'-0" 8
O 7
=c M5-16A
- '_ ASSEMBLY UNIT
ITEM | MAT. CODE MATERIAL M5-9A | M5-11A | M5-12A| M5-13A | M5-14 A| M5-16A
¢ B 6/1/8 Bolt, Machine, 5/8" xreq'd length 1 1 1 [
c B4 Bolt, Machine, %" xreqd length 2 2
d B 46 Washer, Square, 2-4" 1 1 1 1
d B 48 Washer, round, [-3/8" dia 2 2
] X-6 Crossarm, steel channel 4" x 2" x 2" x 4" x §'-0" 1
2 X-7 Crossarm, steel channel 4" x 2" x 2" x 4" x 8'-0" 1
cu - _Brace, flat, steel, 28" span 1
cu g Brace, angle, steel, 60" span I
i il - Bolt, carriage, 3/8" x 4 %" 1
J A Screw, log, 4" x 4" ]
p - Connector 2
af . Cutout, single shot 1
ag . Jumper 2
cu . Brace, wood, 60" span i
ek . Locknuts 1 3 3 | 1
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV 1-PHASE STEEL (X7) CROSSARM CONSTRUCTION-SINGLE DEADEND
Date ol’ Origin Reviewed by Approved by Revision No Unil Designation

July 1979 BREB BREB Board 6 M5-9A TO 16A

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




L i L " o0’
4 R
T 1 S8
St
2‘*6" 2‘-‘6" @
{ o,
- M5-14B v &
» Q
ﬁ-
&fﬁ@
w
p-- ] c—~d—ek
/ o il
]t
o
8'-0" 4. g§'-0" 2m
Sil]
s
}:u o
o
M5-168 s 2
4 L
172} .
L]
|0
8
2 o
- \ Hlaque,
LMG‘MIW”‘ R
> (meefg ~onsultant TAPP, BRE
_ e ) o« (Md.MiammelHug) ~ ConsultantTAPP.BRE
(Md.B#zibur RATEES  (Md. Duhidul Islam)  <gnsultant TAPP BRFT
Consultant T3 Consuitant TAPD RREY ~
/"‘\
ASSEMBLY UNIT
ITEM | MAT. CODE MATERIAL M5-14 B M5-16 B
¢ B 6/7/8 Bolt, Machine, 5/8" xreq'd length | 1
c B4 Bolt, Machine, '4" xreq'd length
d B 46 Washer, Square, 2-4" | ]
d B 48 Washer, round, [-3/8" dia
g X-6 Crossarm, steel channel 4" x 2" x 2" x %" x 5'-0" 1
g X-7 Crossarm, steel channel 4" x 2" x 2" x 4" x §-0" !
cu - Brace, flat, steel, 28" span
cu s Brace, angle, steel, 60" span
i Bolt, carriage, 3/8" x 4 44"
i Screw, log, 2" x 4"
p S Connector
af s Cutout, single shot N
aq - Jumper
cu Brace, wood, 60" span
ek Locknuts 1 |

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV 1-PHASE STEEL (X6/X7) CROSSARM CONSTRUCTION-SINGLE DEADEND

Date ol Origin

Reviewed by

Approvid by

Revision No,

Uil Designation

July 1979

BREB

BREB Bouard

O

M5-14B to M5-16B

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, Februar_v 2020




ek

M5~17

q).
REF

{Mmu
nnsultant TAPP B

Consilitant “TAPP BRER

MS""’ 20 e |
w
o
2 i
T ] 3l [ Ell.
38,38, 76 . Th . Iju |28, 6 _i 70 | T b 08 f_k
| gl ot ] g%
47 - e : g L =S4 o Wy VIR (&) ~}—j02 x
e @—eaqau ol 4 A 57
VO S TR N Ll 3 | 30 b o Detail - A : Galvanized Steel Clamp %6
Lz e e Ly 2
.- G M5-22 MS-19
52 5
B L Ms-24 ASSEMBLY UNIT
..M | MAT, CODE MATERIAL M5-17| M5-18} M5-19] M5-20{ M5-21 [ M5-22 | M5-23M5-24
C B 6/7/8 Bolt, Machine, 5/8" xreg'd length 2 1
d B 46 Washer, Square, 2-%" 1 2
¢l B 95 Bolt, m/c,5/8" x 14" 1 I
3 C10 Tnsulator, Suspension 2
ea €12 Insulator, post type, 1 3/4" stud
eb - Bracket, for post type Insulator
ec - Bracket, offset, neutral, [nsulated
ek B 50 Locknuts 2 1 !
o | B 4174271437447 Brace, wood, 28" |
aa i B 53 Eye nut J I
ba B35 Shackle, anchor I
[ B T8/19720 Bolt, eye, 5/8" x req'd length : I
fa B 1257131 Pin, Jumper stond-off !
fq B 97 Pin, crossarm, steel, clamp type 1
G - 4-way poie band with nut bolt & locknuts complete 1
| Plate, arming 14" or 12" x 4" x 'A" !
|

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6. 35/]11 KV MISCELLANEOUS PRIMARY ASSEMBLIES

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

0

M5-17 TO 5-24

Revision Date: Julv 1980 hime 1981. Aueust 1989 Julv 1995 Aneust 2013 Fehrmarv 2020




SIS0 UOND|IDISW DUD SUOISUBWID
9 82 buimosp Alcwasso oy Jals:

\PDBEOSE 31GNOE BC ISNW 20;oNpus)

2SDUC Ay ' D3ID30IBL S JUIOC
buiisco su: i uCwISOC oy 310C au.
<C WiCDSSSU2 Al 0, J8uiid pelbasis:
5C ADW SJQIDINSUI LOISUBASNE

253U} UCKC|ICISUI 4O 3558 20s

SIS W60C-AG LGN i1, 951

8CA, deis UoiDinBen; | 2% ]
S¢ ‘ISDiE: . AT
8188540 Juiwigbin, 2 ep .

7/ 3, 8/5 SN GOD 0 JG
TIU. W Desubut W eCwneT | Bo |
] 1

J

|

P he. 50 SL02Ruue c _

puepDep’awo 7 |

220, ST fmnoc™

JUEJRCEE Ll

v 1,/ 50 me:55

2/ 7% psgsdonixTiog.
O-€2 3/ pr 2/ § WDESOI
7/ 01 BT WIOERSIT U

-
«

-

W | —fea|d | ofow
o b 0

P/ L 3-CN0SBusopm 2
SE B/L 1 PUNC. Akom 2 ¢
Ui 2083 BAQIULIOW I0E - =
CLZ oo uce - -
®Ca WIC OISy, T
TTEEiTN QNIINZ. )

0

(A

|

N
LN\ e

-l

.

4
'
1
v

-l
)
c
O ;
1
1

;

'

¥

L1

.-k

e s et T s

(4

| !...w” /_/ ig A...+
-I|“_@ww.wﬁ§l ek Y

WYHOYID ONIkM

8358 ddvy gy 42U gy u

B

)

BRE
M7-11

Unit Designation

Md Abdul Khal

it

sultant TAPP,

~on

q:l
Revision No.
6

TARD npc:

(Md. Nozamme! Hu

;onsultant

am)
APD RRFE!

Approved by
BREB Board

(Md. Duhigul is

onsuitant T

»

‘Udims __
ssoc-4g sopopnBep ) /

171

aves 3oEN0S

(=24 TN

Reviewed by
BRERB

BANGLADESH RURAL ELECTRIFICATION BOARD
6.35/11 KV VOLTAGE REGULATOR POLE MOUNT

Zitur Rahman)

Htant TA PP BREB

{M
‘nnen

Date of Origin
July 1979

Unit Description:

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020



I wifTh,

SL.%

SESTION X.X

Newpro! F * 1
WIRING DIAGR AM

¥

SISh Cnay, U
. TAPP B;Egru

(Deba
PD

Sany] f‘faqucj

, (Md_ap,

~Onsuy]

(Md_Ap
Cm:rsu!tamtt1 [1{:'4%&?31;?”%

t-—--—-‘\—t
= .
, ‘//" '/Y_jf
(Md. Dunidu) Islam) (Md. Myzammel Hug)

Note :-
1. For each of position these suspension insulators may be relocated it
either to thr crossarm or the pole top position. if the opening point is ,{Mm Rg’ﬁ;‘ﬂ ‘onsuitant TAPP pprr  ‘onsuliant TAPP RRET
relocated, the phase conductor must be double deadended; refer to “onsultant TAP ) = RREE OO ' '
assembly drawing C8 for dimensions and installation details.
ITEM | MAT. CODE | Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
k c1o 02 | Insulator, suspension type ek B 30 24 |Locknuts, as required
a o 01 | Insulator, pin type 1 B 81/132/133 02 |Clamp, deadend
¢ B4 04 | Bolt, machine, %" x 6" p 1 3/4/5/6 - Connector as required
c B 6/7/8 10 | Bolt, machine, 5/8" x required length aq D 273736 - Jumper, standard, as required
d B 48 08 | Washer, round, 1-3/8"¢ br B 96 01 [Chain link, 5/8" x 3%"
d B 46 06 | Washer, round, 2%"¢ ae H 2.009 02 |Lightning, arrester
f Bl 01 | Pin, crossum, 5/8" x 10%" cu B41/42 04  [Brace, 28", steel
g X-7 02 | Crossarm, steel channel 4" x 2" x 2" x %" x 8-0"|l  sc K1 01 iRegulator, stap type
sk H 15.5 01 |Regulator, by pass switch

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 6.35/11 KV 1-PHASE STEEL (X7) CROSSARM CONSTRUCTION-SINGLE DEADEND

Revision No. Unit Designation

¢ M7-11A

Anonat 2013 Fahrmary 2020

Date ol Origin Reviewed by Approved by

BREB Board

BREB

July 1979

Iy 1980 hme 1981 Anonst 1989 Inlv 1995

Revision ater



Ko gﬁf
B Cupor i i II
,/ i | } A | saunce mr S‘gf
1 R S i | oo |
T “ﬁ,ff J?:”‘“" ' £ c
Eammat T 18 r " . E:
</
' n o8
- : oot .; \ T Nuulirel %%
Newltal pas. v y éz
1=
! TEA — : i P-q—-—-i gé?
¢ [‘ /s F

ul Khaleque)

Consultant TAPP RRFP

‘a
/'g‘\ 2 it I ® / s I
.._..}. = i : ! A =
g # é ik J
. h : : =TT
¥ V ]l ! <Li \C\n:luf ensl f L] %ﬂ
: Kl I t i bt 2a
; I s :

»
N

¥ ¥y 'i,

! a ! Pl Bitobove gad i

2 1'&' | : : g Altsenats %
o e T i I —— Bla BT ccm———— }
.2 = @ Fiﬁl 3-8 , \ 1 meilties 3y |
° m—— S |
3 e 57187 Snat
2 (Md. Mozibur Rahman)  § . |
¢ “onsultant TAPP RRET  } 1
| | l *
. |
e — T e A e R T -‘r-l
. LT
ITEM [MAT. CODE [ Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL

a (o4l 09 Insulator, pin type al B 65/129/130 03 _ |Rod, ground 5/8" min. dia
k C10 12 Insulator, suspension type a) B 80 03 |Clamp, ground rod
f Bl 09 Pin, crossum, 5/8" x required length av D4 - Ground wire, as required
n B 26/28 06 Bolt, double arming, 5/8" x required length qe D 3726 - Jumper, standard, as required
el B 6/7/8 07 Bolt, machine, 5/8" x required length _ p 1 3/4/5 - Connector as required
c2 B 14/15/16 06 Bolt, machine, %" x required length sC K1 03 |Regulator, step type
c3 B 3/4 12 Bolt, machine, 4" x required length sk H154 03 _|Regulator, by pass switch 1 1KV
d B 48 12 Washer, round, 1-3/8"¢ p2 - 03 | Ground connecting lug on regulator tank
d B 46 30 Washer, round, 2%"p ek B 50 35 |Locknuts, 5/8"
2 X-7 06 Crossarm, steel channel 4" x 2" x 2" x %" x 8-0" ek B119 06 |Locknuts, %"
| B 81/132/133 06 Clamp, deadend ek B5l 12 Locknuts, 5"
aa B33 06 Nut, eye 5/8" XX R9 03 |Poles, 35 class-4
cm C2/3 0l Insulator, spool scl - 03 |Remote control kit & hardwares-----
da B72 01 Bolt, single upset 5/8" x required length
ae H 2.009 06 Lightning, arrester

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV 1-PHASE STEEL (X7) CROSSARM CONSTRUCTION-SINGLE DEADEND

Date ol Origin Reviewed by Approved by Revision No Unit Desianation

July 1979 BRER BREB Board 6 M7—13

Reviewnn Date: Tnly 10RO Thne 1081 Aveonar 19RQ Tnbkv 1005 Anounet 2012 Fahriary 2070

e ——

e —— T




4, >\
Y 0«%‘

L %
%
“

on
o e

¥

? ase,
.18 Below Neulmi

1o
onnect some aos Meulral

3y O (Y el

bhe one quodrunt (quorter) of the pole

NOTESS

I. The minimum lineman climbing space sholl
This quodronl must be maintained  [ree of line hordwore

2 Refer 1o Guideline MA5 -2, "Mulliple Service Conneclion Guide [or
Domeslic Consumers' for conneclor code number identification

3 KI9 ond K20 service unils may be substituled for K14 ond KI6G units |

Krabort
REg

‘Debasish ¢,
PD.TAPP g

‘%@e)
(M%Tu% _;ﬂﬁi{:ﬁﬁ;\w BRER

. Rahman) (Md. Dufidul Islam ’fr” tan
. DL Islam) (Md. Mozamme| Hug) TAPP, BREI
/ Consultant, TAPP, BRE

(Md. NreZITIL FEE - :
Jonsultant TAPP BREB  Consuitant Tapp g, ‘onsultant TAPD Apt

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

230/400 V. GUIDE LINE FOR MULTIPLE SERVICE ASSEMBLIES

Unit Designation

Date ol Ongin

Reviewed by

Approved by

Revision No.

July 1979

BREB

BREB Board

6

M8-5

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




end,

N
!

daac
g8

grarmed service
y D€ substiturted for K!

“Z2i, pr

m

|

NCT

b\

Four =,
Aonsultant TAPP RREF

.9
(Md. Duhidul Islam)
onsuitant. TAPP BREr

B T

.Abdu]
onsultant TAK;:P;:-MSQ;E%,

§

(

C

Vi
T s

T

' (Md. Mozammel Hug)
‘nnsultant TAPP RRFF

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  BAZAR AREA SECONDARY (LT) EXAMPLE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 M8-6

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




K21, performed service deadend,
may be substituted for

Use one strond from ACSR # 6

K1 or # 3 to tie K18 to bamboo,

Mo
.4»"“"—."-—.‘

Double wras Lie wire
bomboo 1o K18

Tie neutral wire only to
bomboo mast.

(Md.

“onsil

(Ma. W

ansultant TAPP BRER

()
A |
M oot Kialoque,

Consultant TAPP, BREB

st
Mbzibur Rahman)

tant TADPD RRER

(Md. Dutidul Istam)
f.onsuitant TAPD RREF

= ¥
§ < »\éﬁ% 139@

e
| pss

nenaaaﬂrabomw

S TAPR RRFR

ammel Hug)

(Md. Ahsanul Haque)
Consulfant TAPP. BREN

ELEVATION

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

BAZAR AREA DETAIL DUPLEX INSTALLATION

Date of Origin

Reviewed by Approved by Revision No. Unit Designation

July 1979

BREB BRERB Board 6

M8-7

Revision Date: July 1980,

June 1981, August 1989, July 1995, August 2013, February 2020




OTHER ACCEPTED MEANS OF DEADENDING
SERVICE CONDUCTORS MAY BE

SUBSTITUTED FOR THOSE AS DEPICTED ON I.
THIS GUIDELINE. |
EYE BOLT OR SIMILAR ATTACHMENT
FOR CONSUMER USE IN TERMINATING STEEL e
MESSENGERS CARRYING CONSUMERS OWN x
SERVICE EXTENSION. G
EE
<€
REB APPROVED WEATHERHEAD ﬂ“ ag
=,
=
2 | Siil
B 5 4
o £
(sa] ) o
Ll & @ <
1-1/4" GI CONDUIT = &o
5 = X
= 5
5 o
f o
¥ wiliA o
_ i* . .\g
METER AND METER SOCKET TO B8E é‘m_ o
SUPPLIED BY PBS Za o
x [ ] EQ g
\ %‘ 2
P '
o "5 F‘-
— E [ %] :
5o
CONSUMER TO SUPPLY SWITCH AND LOAD { | 2
SIDE WIRING FROM THE METER 1 :
| [s) ﬁé
] | fu ]
e £ w0 {52 %cx
& Y gE =e
~ | e 5 N|=8 %
& e 3k {1
I I
CONSUMER TO SUPPLY GROUND ROD AND T < =& =¥ &
GROUND WIRE. MINIMUM LENGTH OF J T g B g |
GROUND ROD SHOULD BE 6'-0Q" | 2 & =1
T " ,’
po- GROUND WIRE STAPLES TO BE 6" APART —— 1| _8 2|
AN AN A A AN A AN AR AT AN A A AR AT AR NN
N N N S AN N S N N N N N AN I AN NN
R e \\a<\{\\4’\\/&\4’\\%\/&\{/\\X\«\K\)A\A\K\)z& X
o
\ e i
ﬁr— bl 21 B
NOTES : 2o o |
1. REFER TO PBS INSTRUCTION 300-18,
DRAWINGS 92 AND 124 FOR FURTHER DETAILS.
GROUND ROD
V

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

METER POLE, TWO WIRE SINGLE PHASE SERVICE, SINGLE METER

Date of Origin Reviewed by

Approved by

Revision No.

Unit Designation

July 1979 BREDB

BREB Board

M8-8

Revision Date: July 1980,

June 1981, August 1989, July 1995, August 2013, February 2020




LY
\
=

ok

Service drop

1. Extended Gl conduit to obtain required
ground clearance.

2. If Gl conduit is extended over 2'-0Q"
above the roof it must be securely guyed
against the strain.

i
3. Refer 48 PBS instruction 300-19 if

fgrth

Md. Abdul Kh
nsultant TAP

cdetails are required.
-4

3
=
E S g ]
MAIN_SWITCH z o =
Fustomer owned RS = c =
5 §§E 5%
| I s o o
P [ —— 2 3
‘t_ e Ne N b
o] =5
Begl? o3 d
>=F =*
| ek | ’
/ @ LCIJ “5\% §,$
i = 5 £
e 2o} o
/ © £ 2=
g ' 2zd; |89
. a
. st a8
/ =2 =
S
LA 58 8k
s ¥, gﬂ :g-ﬁ:
~ o R R ~ 8o Ta
' T . 5 Be
= -
! EVI
s sz 31
N 28 8
TEM|MAT. CODE| NO MATERIAL ITEM [MAT. CODEl NO MATERIAL
i B40 4 | Loq screw, 3/8" x 37 ds 1_[Clevis, conduit type, insulated
ai B65 i | Rod, ground, 5/8"x6'0" min. ek 2 lLocknut, 2"
qj RBRQ 1 | Clamp, ground rod (if required) gh 12 /3 1 |Meter, 100 amp
Bw E18 T [ Service conductor deadend wb — |Conductor, black, 19/0.064
ci N1 3 | Ground wire, golvanized iron meter wh 1 |Weatherhead
en 1 Conduit nipple, 27(41012" lonq) wr = |Conductor, red, 19/0 064
or Condul, Ol ngid, 2"xreq’d length ws 6 |Wood screw. No. 9
i g | QiR SHeES BTN (A
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 3-PHASE, 4-WIRE GROUNDED WYE METER LOOP 230/400 CLASS-100 METERS
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BRER BREB Board 6 M8_9

Revision Date: July 1980, June 1981, August 1989, July 19935, August 2013, Februa.ry 2020

S—



88 gl JUennsiy

K18,/K21

Min. clearance
should be 10’
above ground

NOTES :

K18

Deadend Servic
Wedge Service

1. Other accepted means of deadending service
conductors may be substituted for those as depicted

on this guideline.

thru 22D for further detoils.

Refer to PBS Instruction 300-—19, drawing 22A

> # B Duplex

K18/K21

N

ch:o_\

Phaose

Fosten Bamboo mast
to pole frame of .
huilding

(bny _mEEmN@w o)

/

—_—

e

S

Drip
Loop

il

Ground Rod _

a

g3yg . B . ;
s &
oy S
- /%7
m_wamﬁ Ay,
Ty 1o i)
lpgy," 7405
— R
|rr|JJJ.||.frfr|Irr<
T —
4
X ] “a
| \ EF
s N § uwu m
o5
1—5 Meter on house .\Unﬂ

Crt6zi0Ur Rahman)
“onsultant TAPP BRER

6

N BOARD
RESIDENTIAL, TWO WIRE SINGLE PHASE SERVICE, 230 VOLTS

BANGLADESH RURAL ELECTRIFICATIO

Unit Description:

g
2 —
=
=1 ~
- L I
51 0O
=| =
=
=
=
R
=
g -
S
5
"]
= =
= =
3 &
2 =
] o
o, =
2| =
< =
2
Lo =
D =
= (e
- =
-
Er)
o
B
=
3 o~
e i
oo =8
(P —_—
=
.e. =
5| =

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, Febmary 2020




See

Detail "

SOURCE

X2 Neutral
X1 Phase

X1 Phase
X1 Phase

LOAD

X2
@W "% Neutral

DETAIL "B"

NOTE :

t
Q\J Service from three 2-Bushing single phaae

(Kamrul Ahsan Mollik)
Asst, Secy. (Board), BREB,

J——1LSI

(Debasish Chakrabortty)
PD,TAPP, BREB

gh
Transfarmers.

ITEM | NO. MATERIAL
i & Screw, lag
D Connector, as req'd
aa Jumnpers as_req.d
qc Conduit, _1—1/4", as re.q'd.
ad Straps conduit, as regd
gh I Meter & Meter Bose
sd ) Transformer, current
sm Wire No. 12 insulaied

1 Service head

foa
-
w

85

8

o

E%

A

&

ot

53

= &

=&

(@]

&= :

r‘c“: -u'l

S

—E £
g8 So
£ @

“ &0 ELQ

£ EZ

& -

2F &

o = Fly- ]

S8 =3
=2 . =P
: I gt
2 ¢ '

N X1
= See Note
F“)
B (o]
o X2
o~
X1 .5 400V %1
n 9
L 4 D
H1 H1 H1
“E oT Xz:i ]m nj ]CT
X1 X1 X1
H2 H2 H2
s Y i, O C\ / 7
5_5, L To ﬁmer Lood
& 5 B ] X2
Q
¥ - PN YO
o ° |l—Meter bose|
= E L] o |
Q5 L
e 1
= =
5 WIRING DIAGRAM

(Md. Ahsanul e
Con sultant,TAPgaI?uRIgP

X1

To Cosumer Load

e

NOTE: MAY OFFSET
CT. AS/F
NECESSARY

L DETAIL "A"

Connections fram C.T1.'s to service head.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: SECONDARY METERING GUIDE 3-PHASE 230/400 4-WIRE GROUNDED WYE

Date of Origin

Reviewed by

Approved by Revision no.

Unit Designation

July 1979

‘BREB

BREB Board 6

MS8-12

Revision IJate: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




1348 ddV.L WUENTUY T HHE GV JUEINsuo;

{bnH awiwezd Pw) «.Em_wvmsz PN

1
Ty oo

iddy ad VL jugmnsug;

ﬁ\u:g—mﬂ.\/m .:._E#.‘

dHUY dd v JUEjTsU,
88 ddyy Td (munEy Mazow p

(s

Y _ g 4D MBuimis: Dy wesg _
BT e MBuima_ Ix wb.y |

A ot JLA

L=
o
&
o
MNP PE0d wi #0023 besinisw 0.2 QWDT g e
WEMOTIC DNIHIM A
CENENTY 18 Hi . \
K - 8 N 2 v
Buriajaw | T RIS BN B W
fiowlio jo poulsw P3siaraad . ST @ L
=~ A S T A | At N = hA
= 0L Si-8W 388 'ZION| ¢ o | i S >
I Se e ) p 4
| = - - . ’ - o
| v-TvL30 = = i 4 ™ %
| ! =
4@ 9uD 13 ey e Buiueng Gn I . f L T
. s — > [ 3
Bui 3. G304t SADMID [8Buc lTeun 33iaids S5 I Y asopuc = Lo I~ 3 il S s z
’ WOS Wi o - — L . yb‘ob <
. vaed nu_nu....bnmm.h.u: i e . iqnt..... .
35CQ s —{ |® & ol = e =
- - [ ¥ )
% (5 - ; Tt ._m.n kigans o / E
FSTUC SWDS WOy [ — oD ——— - 4
s Jdwoisn
$8000 13 6 2o Sge—ttl fL. ol i
N\ y TTTPRET O T SOR (M 3 .a_q
. P i3

- & OyD(_...-..'l " .I_ﬂ.u TR ’ . ekt
eiL’s 479 !
A 17D T
¢-

018 Gy, #C VRIODELLRIu. .:|_d.1/., T

Syl DUD B0 _GI/E R0 B0y WOLIEE § 23

- WA¥ ®Q'§ "NICuR [ ol ]
DO 50 AGSS  Sudaw
SRS DWUNDIT | £ 0

BI24C wIoe W) vinbudy T mT
FIBIC WG BT 0D § SRS OOYE

Lal Ll

o) o ' -
--nn.',:i:.a:;ﬁsi‘é

WAL " IO ST
DDA. 50 SIMrDucy:
s@LEw We 3BW, !

DS 06 eoakg |
67 'wog: 2
_1D4naL  NOWRSSD DURDOS] |
; o ©
P0%. 5T S.0C ADwuC sacwn,
(B8 AN |
‘DDOJ S0 SAAIRULCTD
& oDe. 2 9/C SumLs 3gneDuos

el

B PO L CUD WSS,
/1 w ¥ 8/¢ $DOBS TI0E p2

! - ]
2/ 1 ¢ 95 IeusDm gl
whue DDe. 3 2/| unDOW JOQ! il .

whos ppas 1 g5 INLO0W Liog! Gil 2
TVIHZLYA IONMELH

ul ol e

M8-15

Unit Designation

ide 3-Phase 4-Wire Star

Revision No.

Approved by
BREB Board

Reviewed by
BREB

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription:  6,35/11 KV Primary Metering Gu

Date of Ornigin

July 1979

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




: |
= |
5 >
= 3
: e
" C m o
s Y-
= e . Q&
- - e * r—~ (1
. 2 G <
6 S¥  ma ol 1 Jf? 5—
% e B A
Mot s B3 8% . 4% g
‘ mﬂmhﬂ“ pRED P 3§ -5 8 :f S
ﬂd” ] - =
psst 503 ® T CE
= @© @ " =
. = - Ko i R s 2
§i5 g of 3 3 o2&
: . LS T 3 1 £ s g5
ST £ 0 T
® i l [} 4 3 [ b A
il J 0 0 g ek R / g3
s o e R R e e 28 8 20 fa fu!
T—m ° ) ® @ o_L i3 0 % 5
T . T 3 ] = T5
| : - E [z Sz
“ £ G [FY £ c?
| iy o -1
£ 2 = |
5 ai § % 3 g
: g 51
1 5 " 5. $§ ' 6\5
Y S oz o8y |25 £
] prtod - o
? é ; ¥ 52 (}3} o ch‘
i — piEdo. 1O 8 =&
— r-x- o il e R ey e s i W §E =
L ; ] iz ﬁ it 1 25
v o8 Pt ofe <8
b it < akE =
1 I ¢ 3
- Lo even ': &
'S >
7T TP
< = =g o3 ol
o 43 st <03, U
o ¢ (M —J-Laz 22 £
- ! 4 | g - L % E :_:D.
o ¥ PE A |08 a ] =3¢ 2
ek - wz o f E5
%r-.jl il = & k - esE s Sy
il &= : 4 ez} g
! o o 2 o

3‘1 _Z -] t I i1 : = C

i b ¥ s !

{8 i !

I H | I
= g D — — .. EE
= i \? 1

1 : =B

I 2 | 2F

1 =0

: 4 : | ] l't" ﬁ %/\} S z

[ - ; ol 1

1 g . - Md-"Mozibur Rahman oF

o~ 1 : ; g\ -'(’}fquhnﬂ* TADD T-}QF-‘JI]" % :':

o o

, ]

LgJ

ITEM | MAT. CODE Qty. MATERIAL ITEM | MAT. CODE Qty. MATERIAL
C B 6/7/8 16 Bolt, Machine, 5/8" x required length aa | Deadend, assembly, netural
s B4 14 Bolt, Machine, 1/2" x required length cu B4l 2 Brace, 28"
d B 46 22| Washer, Square, 2%" cu B 45 ! Brace, 60" span
d B 48 4 Washer, round, 1-3/8" dia gh - I Meter box, Meter
g X-7 3 X-Arm. Steel 4" x 2" x 2" x 4" x 8'-0" ae Connector, as req'd
n B 26-28 1 Bolt double arming 5/8 x req'd length s¢ G 3 Transformer current
8 1 1/4/68 ? Connector, as req'd g8 G 2 Transformer Potential
aa B 53 | Nut, eye, 5/8" ek B 50 41 Locknuts as reqd
ag D 2/3726 - Jumper, primary, bare, as req'd qe H 2.009 3 Lightning Arreste
af Hl 3 Cut out qa D 16/17/18 a Metering cable as req'd
ac 3 Brace Side Arm
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Deseription: 6.35/11 KV |-PHASE STEEL (X?) CROSSARM CONSTRUCTION-SINGLE DEADEND
Dute ol Ongn Reviewed by Approved by Revision No. Uit Designation
July 1979 BREB BREB Board 6 M8-15A
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




- Conduit

on pole

G

SOURCE

nsultant TApp ?;?P

al
onsultant TAPP gqul?%
d.
Co

(

G

(Md. Mgzammel Hug)
“nsuliant TAPP BREF

dul slam)

(Md. Duhidul

‘onsujfant TAPP RRE

Steel EI

-

=

DETAIL — "A"

I

(Md. Mozibur Rahman,
“angyltant TAPR BRE

wsm@émmﬁ?mm 29400

PD,TAPP BRER

{Debaddh ChaKf_@,Qomy)

il
?%E
:

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/11 KV PRIMARY METERING 3-PHASE, 4-WIRE STAR

Unit Designation

Revision No.

Date ol Origin

Reviewed by

Approved by

M8-16

July 1979

BREB

BREB Board

G

Page 1 of 3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




LRV

R b
S
L \@ FRONT VIEW @ o> =
; &£ 5 | B
i ® o
B %c' E fa 4
Orange # Of
/ Brown ?‘S
) ]
/ o
R | Y ~ Green =
_, - /
f #
[ a\g
s T
1 N | = :isff
- % 28
1 — g f'bs__, : gr:r
A N | 5
A ¥
(| Lg_l K Y S
— i
| | . ok
=
8 v | | &
Ky | | ] , | S8
Py
"\ W‘ﬁuy L7 | s
! \LL:h Lr'%‘ W1 &
| e 2E
H \ | | <
] ,\(1 | i | =3
| “"‘“---..___ _,_,--""',/ ;I Y
Six
S F&
* 28
= &— EQ
5=
o B
‘ | \ =8
e AT —- Sl
LOAD ' Black _
MATERIAL ' MATEJ:\;JAL L§
TEM “nopg NO MATERIAL ITEM “oope - NO. MATERIAL %g
< B4 4 Belt, machine 1/2" x 6" af _H1.100 3 Cutouts 100 omps. & Mtg, brkt. gF
d 848 4 Washers 1-3/8" dia , @e H2.009 3 |lightning arresters & Mtg. brkt. B
d 20 |Washers 3/16" under woodscrew gl X2 2 |107 crossarm ot
d 846/118 10 |Wesher 2—1/4" x 2—1/4" n_B26-28 [4 [Bolt, double arming 5/8 xreqd lenath &
sdl 6 |C.T. Connectors ek | B50 Locknuts 5/8" os reg d &
sd [G13/14] 3 |CTs ratio as reqd Jumpers ACSR as reqd i
se | G12 | 2 |[PT's 6350/240 volts al | B67 Staples =
20 |Wood screws T—T/4" min. p 14—6 Connectars ﬁg
A 2 10{_ long G.I. pipe L':_r.?ic on arm | Cu | B44 2 |287 steel brace—See Nole 4 i ga
B 5 ;;2'4' long G.I. pipe 1 dia on urm | ek | B51 4 lLocknuts 1/27 ‘,—:13
6 ) 12 long Gl pipe 17 dic on arm 1 _{Conduit as req'd on pole, straps fﬁt
1|1 Gl Tee on arm ‘Cu| B45 2 60" Brace S5
} 1 3tree{ t 11 on arm qq | IMetering cable, stnd. colour code 3%
3 Unien on pole h _[1_[Meter box, mete i
of [H1.002 [ 3 |Fusé Borref — A i 2, Mmeter -
af | H6.00 | 3 [Fuse Barret = F ED

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription: 6,35/11 KV PRIMARY METERING 3-PHASE, 4-WIRE STAR

Date ol” Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

BREB Board

6 MS8-16

Page2 of 3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




NOTES

A1 May be used on C1,
C7, C8, Which one
separate units

A2 Metering for : 1) Underground
top to consumers pad-mounted
transformers 2) Platform
mounted banks in excess of 500
KVA. =

A3 PBS should furnish stand

pipe and have strops welded
to pipe of &' intervals, see
below sketch. Extensions must
be fitted to C.T and P.T bases
A4 The MB-16 may also be used
for metering primary underground,
as depicted on MB-15.

CONSTRUCTION PROCEDURE

* Note : This order of construction is very
important in avolding unnecessary labor

B1 Mount cutouts and lighting or restors

B2 Drill holes for 10° crossarms and brace Move neutral away

from hole Do not cut neutral conductor

B3 Gain pole for crossarms

B4 Place crossarms at base of pole and fit double arming bolt

B5 Remove junction boxes from CT's and PT's.

B6 Connect junction boxes per drawing with pipe and fittings

B7 As viewed from the source side
Beginning with rightmost PT, install or fasten junction

box to PT silling on crossarms,

B8 Continue with CT's and other PT, finally connect leftmost

CT.
B9 Adjust CT's and PT's on crossarms.

Fasten PT's and CT's to crossarms with wood screws
and washer on the front crossarm only

B10

B11 Make secondary connection to PT's and CT's -be sure

to remove shunts from CT's

soneat U] L il plhpe B12 Raise completed structure by two twin block and tackles
! :::I:‘/ with strop into position of pole install crossarm bolt and boxes
I// ] L B13 Make primary side connections to PT's and CT's §
Pole F=y | B14 Seal covers of PT's and CT's (é’
14" %" L ? Materqng  B15 Install and faston stand pipe to pole fg:'
i I-'"r‘—J_ socket B16 Install meter socket and make connections g;

i s
(Md. sanul tag]
: : TAPP, BRHB
(Md m/n ; (Md. Dunidul isiam) (Md Abdul Khaleque, onsultant,
“onsultant TAPP BRF%B Consultant, JAPP BRE® (Md. Mdkamme Hug, Consultant TAPP, BREB
' = onsultant* TADo oot
(Depasis, Rl GLOTTY
PD,TAPP, BREB, '
BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Desceription: 6,35/11 KV PRIMARY METERING 3-PHASE, 4-WIRE STAR
Date of Urigin Reviewed by Approved by Rovision No Unil Desisnation
July 1979 RRER BRER Board 6 MB8-16  ,.uc3or3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

1 1




SOURCE

ki ) |, Union
o~
b i L _ Newtral 9
a8 Cu 4#:-{ Metal
I Conduit
| on paole
H
il
T
| 4
A
Hip—
o
I | ]
LOAD

= g )

, N\ Steel El

I o \ i ;
b+ ] 4 < } S
| FE
- oy
o b j
1 SOURCE : PLAN DETAIL —~ "A"

/ ' sanul Haque,
U&"mm (Md. Duticut isiar, (m/dﬁ;mq’ (M ul Khaleque) (M, Al o Rt

; bty / TAD FT 1 Jtant TA
“pnsultant TAPP BREP Consultant TAPD nee  onsuftant TART ORT Mansiiitant TAPP RR onsu

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY METERING 3-PHASE, 4-WIRE STAR

Date of Origin Reviewed by Approved by Revision No. Unit Designation
Tuly 1979 BREB BREB Board 6 MS8-16A
Sheet No, 1 of 3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, Febmary 2020




FRONT WVIiEw

Orange
/ Brown
/ Green
i Pl Bl S ———
/ \ 1‘..
s ~
- _— - < A
1 | .
/
0] l_.- lx ¥ 2 -IJ ‘-.
= =9 | g [ [ O B
i 1
I } AN
| | ! |
— \ \.A./“l ]
\ l L L
e .
7
P £
- *+ - d ‘gf{it‘r
e S - r"Q,
@
q43
T N
- it
oy
\
Py L l -—] Whit 5&5’
q
AT ddva, 1T (MO Dunidul Isiagy) ammel Hug) male <5
f ZOIAT DIAT R N el ! et ol - que, X
[TPTIey MOTZOIA™ "DIA onsultant TAPP BRET nnsultant TAPP RREFR n'((‘nm!mm TAPP RRE} gg
i 5
ITEM | MAT.CODE [Qty. |~ MATERIAL ITEM [MAT. CODE[ Qty MATERIAL
d B 48 4 Washer 1-3/8" dia at H1.100 3 | Cutouts 100 amps. & Mitg. brkt.
d 20 Washer 3/16" under screw ae H2.009 3 Lightning arresters & Mtg. brkt.
d B46/118 10 Washer 2-1/4" x 2-1/4" g ) 2 | Crossarm, channel, steel, 4" x 2" x 2" x !4’ x 80"
sdl 142 6 C.T. Connectors n §X26-28 3 | Bolt,double ariming S req'd Tength
sd G 13/14 3 C.T's ratio as req'd ek B30 19 | Locknuts 5/8" as req'd
se G 12 2 P.T's 6350/240 volts - - - Jumpers ACSR as req'd
- - 20 Screws 1-1/4" min, al B67 Staples, for wooden poles.
A 2 10" long G.I. pipe 1" dia on arm p 14-6 Co“nnecmrs
B . 2 | 24" Jong G.I. pipe 1" dia on arm cu B 42 Z__] 287 steel brace - See Note 4
C 2 12" long G.1. pipe 1" dia on arm - - ] Conduit as req'd on pole, straps
- | 1" G.1. Tee on arm. ga z Metering cable, stnd, colourcode
| 1" Street E 11 on anm gh - | | Meter box, meter
e s | 1" Union on pole < B 6/7/8 5 Bolt, Machine, 5/8"p
af H1.002 3 Fuse Barrel
|_af H6.00 3 Fuse link

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV PRIMARY METERING GUIDE THREE PHASE 4-WIRE STAR IN-LINE & X-FORMER BANK

Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREB BREB Board 6 M8-16A
Sheet No. 2 of 3

==

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




A1

A2

NOTES

May be used on C1,
C7, C8, Which one
separata units

Metering for : 1) Underground
top to consumers pad-mounted
transformers 2) Platform
mounted banks in excess of 500
KVA.

CONSTRUCTION PROCEDURE

Note : This order of constrnuction is very
important In avolding unnecessary labor
Mount cutouts and lighting or arrestors

Drill holes for 8’ crossarms and brace Move neutral away
from hole Co not cut neutral conductor

Gain pole for crossarms
Place crossarms at base of pole and fit double arming bolt
Remaove junction boxes from CT's and PT's.

Connect junction boxes per drawing with pipe and fittings

8 8 8%

A3 PES should fumish stand As viewed from the source side
plpe and have strops welded Beginning with rightmaost PT, install or fasten junction
to pipe of 5' intervals, see box to PT silling on crossarms,
below sketch. Extensions must  gg  Gontinye with CT's and other PT, finally connect leftmost
be fitted to C.T and P.T bases CT.
A4 The M8-16 may also be used B9 Adjust CT's and PT's on crossarms.
for metering primary underground,  B10 Fasten PT's and CT's to crossarms with screws gf»;\ & '
as depicted on M8-15. and washer on the front crossarm only Q’S\Q’
&
B11 Make secondary connection to PT's and CT's Be sure \\5‘5;“’
to remove shunts from CT's f cg-"ﬁ
e .- reld pipe B12 Raise completed structure by two twin block and tackles ‘f' ©
> [;‘" with strop into position of pole install crossarm bolt and boxes s
TTH
,/ ' B13 Make primary side connections to PT's and CT's
~ qu/ Sy 1 B14 Seal covers of PT's and CT's

- /l 5
I?‘J r 6 'lé Materqng B15 Install and faston stand pipe to pale

[ 23X :::.—i B B16 Install meter socket and make connections é,

Y - i = .-

g
_ Wk 7A/
" TEnsuoD (Md. Duhidul 152 (Md. MoXammel Hu Consulrnne 4! Khalegue Md Ahsanul Hagque)
"MI\" P -?mlwsuir;_”-]: :p_[-,,r%r }”r]w)r ‘nnsultant TAPP q&é[ "Tapp HRF;’;: ‘-_ing“mm'mw RRET

(e

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6,35/11 KV PRIMARY METERING INSTRUCTION NOTES

Date of Origin Reviewed by Approved by Revision No. Unit Designation
197 3REE BREB Board 6 MB8-16A
Ty BRED ' Sheet No. 3 of 3
Revision Date: Tulv 1980 June 1981 Auneust 1989 Julv 1995, August 2013. Fehrnarvy 2020

-



/AN SWITCH

10'-0" MINIMUM

NOTEZ

1

Extended Gl conduil to oblain required
ground clearonce,

If Gl conauit is extended over 2'-0"

obove the roof it must be securely guyed

cgoinst the strain.

Refer to PBS instruction 300-19 if
further details are required.

mi
NSultant mgf: gg&

ip—

g i e srey st TR TR 3440

i

ES £
(-“—3 R

3 £

5 . }gg?

(Md Dy
MNSUitar |
(Deba\sjg
PD.Tap

g2 :
= 3
£ i
#gé

(Kamrul Ahsan Mollj

ASSt. Secy. (Board), BREB.,

MAT, LN MATERIAL ITEM [MAT. COD MATERIAL

_?M&Ai ‘COD P Tog serew, 378 £ 3 ds fPCIews, conauit iype, insulated
31865 Rod, ground, 5/8%6/0"_min. ek 2 LLocknut, 2_

o] 320 Clamp. cround rod (if required) gh 12/3 1 [Meter, 100 amp

bw | EI1B T_|Service_conduJclor deadend wb ~_[Conductor, block, 19/0.064
ol b 3 | Ground wire, gaivanizec iron meter wh 1_[Wegtherhead

on T Condot_mippie, 2 (410127 long) wi o [Canductorn, red, 19/0.064

G " Condwnt, Ol ngul, 2 xreqd dength e 6 IWood screw. Mo, 9

cs 2 [ Condull straps i

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 3-Phase, 4-Wire Grounded Wye Meter Loop 230/400V Class 100 Meter

Date of Origin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BRER

BRIEB Board

‘ M9

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




?J}%f\/
Abdul K
onsultans TADD nan

<]
&
©
2
©
?
L U
og! =
V&
— #
{
l |
T
| l |
|
s o T ¢
aq! —e
) 'R
> c, d, ek
b2 —— r&//
=
/oy
o~ l\ / Cj
o) P q
, o
o5l ¢ ¢ o ¢ g B MPORTANT | ogh®
P | PN P | =N Refer to M9—13 sheet 3 for
O Q ol s = o @ connection diagram and notes.
0] SHSH—HE » &b
SECTION A—a
(TEM _ MATERIAL CODE | NO. __MATERIAL _ | ITEM | MATERIAL CODE |NO. MATERIAL
c [B13/14/15/16/17 2 | Boit, machine, 3/4" x reg'd length fe K—10 ~ | Capacitors (see note 9)
d B46 | 2 |Washer, square, 2-1/4"13/16" hole | fd 890 1 | Bracket, mounting (see note 8)
| ek 1‘/325% | 2 |Locknuts, 3/4 bz 3 | Oil_switches (see note 1)
p | H,; /4 — [ Connectors aql D6 — | Jumper, primory, insulated
ae 3 | Surge Arrester aq2 — | Jumper, primary, Bare
ofr H1 3 Culout (see note) i ¢j = | Ground wire, No. 6 copper
ap | 3 | Hot line clamp and stirrup ic — | Insulating caps, as reaquired
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: 3-PHASECAPACITOR INSTALLATION NON-AUTOMATIC SWITCHING, CLUSTER TYPE MOUNTING BRACKET
Pute ol Grigan Reviewed by Approved by Revision Na Uit Designatwom
BREB BRERB Board 6 M9-13 Page 1 of 3

July 1979

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

y

PD.TAPP BRER

(Md. Ahsanu] Haque)

Consultant TADD nni

M Abdul Khalogue,

LS

ammel Hu

]

nsultarlt TAPP R

Md. Mo

IRES

{Md. Duhidul Islam

Onsuitant

fIPUEY MATZOW PIAT)

TADT

L5

'




L "

IMPORTANT ¢

Refer to M9-13 sheet 3 for
connection diagram and notes.

' FUSING TABLE
L { 1
| KVAR “T" FUSE
@) b ! T
/ | | o s | . (per phase) MAX. MIN
G ST = Samm D) . 50 15 12
agl 100 25 20
= i b = = - 150 40 30
200 50 40
¢j SECTION A—A
ITEM] __ MATERIAL CODE|NO. MATERIAL ITEM | MATERIAL CODE |NO. MATERIAL
¢ B13/14/15/16/17| 2 | Bolt, machine, 3/4" x reqd length fc K~10 — | Capacitors (see note 9)
d B46 2 | Washer, square, 2—1/4"13/16" hole | fd BaD 1 | Brocket, mounting (see note E)
ek B50 2 | Locknuts, 3/4" bz 3 | Oil switches (see note)
p 1/2/3/4 — | Connectors aql 06 — | Jumper, primary, insulated
ae H2 J | Surge Arrester ag? - | Jumper, primary, Bare
of H1 3_| Cutout (see note) c| — | Ground wire, No. 6 copper
ap 3 | Hot line clamp and stirrup ic — | Insulating cops, as required

BANGLADESH RURAL ELECTRIFICATION BOARD fgsg
Unit Description: 3-PHASECAPACITOR INSTALLATION NON-AUTOMATIC SWITCHING, IN-LINE TYPE MOUNTING BRACKET g o
o
(&)
1dute ol Onigin Reviewed by Approved by Revision No. Uit Thesigniation ﬁ E{
B
July 1979 BREB BREB Board 6 M9-13 Page 2 of 3 é 5

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

; o L QZ}" L S A oy
i ry " 5 b { : ![a.que)
d ddV], TUEHnsuos) (M. Duhidy! 1siam (MdNViozamme! Hug; ‘Md. Abdu leqpuc) MAhmul
(e MQIZOW P Consitg g f"f',ql.rlz-{-.?'l?;g'rﬂ\ “onsullnt TAPO AL Conman TAP RRED Conmiact TAPF BRED




—f PHASE

PHASE
PHASE

a8

i) ae
AT al // (
? ' P —
331_—————‘.} | ' POLE GROUND
i ¢j WIRE
bz O ’ @) (Note5) O
/ aq1
oq! _9q] /¥
.

A |
S ...
©

!
l\—-—o R Wy el (e J | NEUTRAL
J i €
I

1

1

3
i

(See note 4)

g
l

0 &

d O]

O
O P

O O
¢ O

b 0
o o

—

]

CONNECTION

CONNECTION DIAGRAM

NO CONNECTION

]

fd  WYE point —+~

NORES :
1. Oil switches or load break cutouts ore required to break capacitor load current. Conventional cutouts may be instalied with oil

switches. If oil swilches are nol availuble, load break (link breck) cutouts must be installed. )
2. Install insulating caps on oil switch ond capacitor phase bushings. Insulated conductor to be used from the ‘oad side of the

cutout to the oil switch, from the oil switch to capacitors and between same phose capacitor units,
3. A driven ground rod M?—ﬁ is required with this instailation.

4. Install o separate continuous conductor, No. 6 bare copper, from the WYE point of the capacitor bank to the system neutral.
gtaple this conductor to the pole and also connect to the pole ground.

5. Ground the capacitor bracket ‘and oil swilches by connecting to t e pole ground.

6. Install cutouts and surge arresters back-to—back using the two "L shaped brockets from the crossorm mounting hardware.
install arrster hicih ond cutout low. See Guide Drowihé; M31. ; )

/. #ings depict two bushing capacitors, as per the Connection Diagram, remain the same.

8, sings depict cluster and in-line type copacitor brackets. Different braockets accommodate six, nine or twelve individual

capacitor units, Minor variations in bracket style can be expected, All connections, as per the Connection Dicégrg:m, remain_the some,
9. Specify number of capaciters and KVAR required per phase. Instoll equal emount of KVAR per phase. Add individual capacitor

KVAR to get total KVAR installed, .
10. Rotate o1l switch head to position switch handle.

11. Install centre phase cutout on opposite side of pole from neutral conductor.
12. CAUTION : Capacitors retain a high voltoge charge for a minimum of five minules after de—energization. When planning work

on or around capacitors, de—energize, wait five minutes, then ground the capacitor phase bushings. Remove this ground before
re—energization.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 3-PHASECAPACITOR INSTALLATION NON-AUTOMATIC SWITCHING CONNECTION DIAGRAM AND NOTES

Date of Origin Reviewed by Approved by Revision No, Unit Designation

July 1979 BREB BREB Board 6 M9-13 Page 3 of 3

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, Febmary 2020

}
ﬂyagﬁm{;k:‘““““oo r (Md. Mezammel Hug) (Mé;gd‘“ Khaleque) (Md’Ahsanul Haque)

(ownEy MO PN {Md;' DuhidulIslam),  ansyttant TAPO nor Consultant TAPP RREB 0 on RER
: Onsuitant Tapp n REr

)
RER,

(¥
B

Y. (Bogm)M

(Kamy
Asst. S,

L) O @G TOH SAie e 7R 3930¢

-ggﬂw

Br

Chakra
PR

PD 1A




Half of
Crossurm

Anchor Log

TO SUPPORT OR BRACE POLES IN FLOOD AREAS, TIDAL
PLAINS, SWAMPS AND OTHER UNSTABLE SOILS

X r / [l\ggmmm Hug, (Md. Abdul Khaleque)

a1 T pmmsue) (Md. Duhidul Isiam) ‘onsultant TAPP RRF! "onsultant TAPP RRFT
(uwm;fﬁ MQTZOW "PIN) bonsuitant TAPR BRET
Notes:-
d. Rhsanul Haque) -
1. To Supports poles in class 7 or class 8 soil condition. CéguleLTAPR BREB Debasis Cnakga}_t_ggﬂw
( prove value or 200 inch-pounds or less as per soil test probe result ) B0 TAPR BRE

2. Install the bog shoe logs in parallel with the line conductors,

3. Install the bog shoe logs to bear against undistrubed earth,
4. The backfill of the bag shoe logs must be tamped as throughly as possible.

ITEM | MAT. CODE| Qty. MATERIAL ITEM | MAT. CODE | Qty. MATERIAL
(= B0 1 Bolt, Machine, 5/8" x req'd length z Z2 p) Anchor, creosoted log, 12" x ¢'-0"
d B 110 2 Washer square, 24" ek B 50 1 Locknut
B XS-3 2 Crossarm, wooden 3%4" x 4% x 8'-0"

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: POLE BOG SHOE

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 M17

Revision Date: Julv 1980, June 1981, August 1989, July 1995, August 2013, February 2020




DIRECTION OF
STRAIN

Tamp Back Fill
Well

Only troted logs
should be used

o
5
)\ | =
=
e
P mt
8 1~
NS S
=
3
z_‘ S
Install logs to bear
ogainst undisturbed earth o
-
i g
Minimum jog dimensions . _ . EX
: AR e 3 o & B -
Length Diometer WD G («ig HO Sl M.__m:]@ sy =
Top log 3 -8" 8" g3
Bottom log | 3-6" 8" Logs are to be fastened to predrilled F
* Bottom log is excluded in M 18—1 assembly Reles: in the pole
£
&y
ITEM MATERIAL MAT CODE M 18 M 181 EF
¢ Boit, machine, 5/8 xrequired length B6/7/8 2 1 E:ﬂl-
d Washer, square, 2—1/4" 2486 4 2 3«
ek Locknuts, as required B350 2 1 LE'_
e < Log treated (ltem # Z-1) i 1 2E
(Same Tog as used for F2=1_Unit) =
=2
L ELECTRIFICATION BOARD

BANGLADESH RURA

POLE STABILIZER LOGS

Unit Description:
Date of Ongin Reviewed by Approved by Revision No. Unit Designation
il T IRFB T
July 1979 BREB BREB Board 6 M18, M18-1
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

g ddVL juensuos
ey Marzon px)




TOLERANCES
NN T/ f7/ NOMINAL 60 NO GO |
— - O P | — 1/16" | 578" 34"
=+ t 7/16" 3/8" 1/2"
st || ! 12 | a2 | 8t 9;{ & “”;2,. 5;;,.
boe | ovewr | vemr |y
| TYPE - 01 |
. 4'-0"g |
| i
0000I0I00CONE
N N i - A |
] | " | 1 } | ]
" - e},
fvt —1= e G- ey e e
1_‘ A JI 1 L ill 1 ‘l L li L _
by 6 17 I-7t 61
bt | 43 iy ! L Bl R ! V-2 1/21 ! 41
TYPE — 02
5 =7.q
—
TYPICAL ENLARGED
. eo AXB) (C A SECTION
] | v | 1 I ] | | | ) |
IIJI T { T l T l T [ T ! I—! T | T I T II II]
o | e Trof-—o o i- ol -
| t f |
l_L 3/4'1‘— & 11° | Al V=1 E " . 6 C
¢ 25" | e ¢-3 757 |_a
IYPE - 03
8'-0"¢g
- N I 7 /A e (/A 8 " ¢
(&) L)) (3 (*) W ®W® e 18" 4 :
| e i e : e ok Calt g
3"? 1! | - | 1! ’ . ]
”(1 A S 0 .S (A JABY 5 W 0 |
| J R 4 - f oo [ g o -
_L - 1 __| =71 il | ._._§..L_...‘ Fé{
|_ir |..rz2 2 va2 /2 | s v3t | vz e i iy A W |
TYPE - 04 E
e 8'-0"g .
Type 04 and Type 05 are most commonly used Lé
for REB construction E‘_

OO ® ® ® OO

e -

| | I |
Jl. ) 1 1 il 14 1 Ll
c3pen T i = i - i
e il T T i T il ik o Gl,l
S I Joi. 1 A 1 L L.l i I | L | L L Ll
T 1 f i f 1 7 T
! i ! ] | i | |
—3 3/4%M— 8 | 2'-6 B 5
] 1'=5 121 | 17 -6 1/24 T S I
Ll L} i i
TYPE - 05
10'-0"g

URY OF QI ey

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

WOODEN CROSSARM DRILLING GUIDE

Date of Origin

Reviewed by Approved by Revision No.

Unit Designation

July 1979

BREB BREB BOARD 6

M19

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

(Debasish Chakrabit:
50 TAPP aggm}

dd

(weurnyEy MQIZOJ P

L}
R e (Md. lJum&-am)

Consuitant TAPP BRES

(Mc?. Abdul Khaleque,

“onsultant TAPP. BRET

(Md.éanu]H

aque)
‘ansultant TAPP BREB




914 x 102 x 50 x 50 x 6 mm Steel Channel
(30" x 4" x 2" x 2" x 4" Steel Channel)

Y14 nun
I j
2 76! 1 78
gg £ @ = 1 s 76
a- o Top View
?23 = m
g & | M—T Side Vi
§ ‘§ & | | | . ‘Li . 50 —lc iew
3 (8 g T e T w C %
5, __m; m 7 200 O SO TR '76 JJ& [_,,_
38 14 | _ 483 i 14!
X-5
Front View
1524 x 102 x 50 x 50 x 6 mm Steel Channel
(5'-0" x 4" x 2" x 2" x '4" Steel Channel)
1524 1nm
762 ! 162 5
| | | i \
@ ! { & 1 : m
e Y
L2e.] 457 o152 176,26 152 487 |26 ] R
— ' ) ' - ! g 1‘?
/ 7 &4
Top Yiew 2
1524 mm 5
762 : 762
I . bl i I N O s0 _ Side View
T 7
-@w é-, A~ @éw—éw---%é&:&— ASNIAGAS &P -0 :t: Ly p
SR/ATE 17&1 1021 76 1311 102 176 | 76 | J02_IS1 76 | 102 [ 26 | 127 lm! 7, 6
i | TR | ! b b |
14 I _483 Il 483 | L.LJ"__E;‘L_ X-6
Front View
2438 x 102 x 50 x 50 x 6 mm Steel Channel
(8-0"x 4" x 2" x 2" x '4" Steel Channel)
2438 mm
1219 1219 |
i | | _|i ¢ | | |
| P | | | l ! |
e — WA Ay R ~--_éA-~ e —ea—eat—— = @‘F}
26, 279 (<102 381 - \:‘n/;r i N | r 102 279 nr
7 ddv., 1IN0 (Md Duhidul is| EMd/Mgn,
i marzow PIN) WL Lulidulisiam).  Top View mel Hug Md
T onsuitan! TAPP BRER P ‘onsultant TAPD Rk ‘anyuitant TAPP BRop
2438
1219 1219
_ e : Side View
|| i N . A
M H o 1 1 tiv 1 M 1 e
S e S B T R R §
fJet 200 [ 402 1 152 _176' 152 176 .10z {76! 127 \_ 137 i76' 102 13761 152 .36, 152 102 ' 203 i_b_l'&,_ 6
_[m e | as7 26w | o ' w1 76 457 | 14 luJ_
Front View
X-7

Holes Size:-
A i~ 18 mm ¢ (Circular).

- 40 mm x 18 mm o (Elliptical). TR R 39400 ations A
. All Dimensions are in Millimeter(mm).

Note:-
No. of Holes & Locations As shown above.

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:

STEEL CROSSARM DRILLING GUIDE

Date of Origin

Unit Designation

Reviewed by Approved by Revision No.

July 1979

BREB Board 6 M19 A

BREB

Revision Darte: July 1980,

June 1981 Aucust 1989, July 1995, Aueust 2013, Februarv 2020




i
o -
|
g
!
»
1
P
*
Q
8
(&
z
L8]
Q
0
r\

Brand butt with proper

length and
charge No.

class and

W Througn=bolt holes must pe parallei and in the b
by i |I same plane. N
Q e HOLES : Drill 11,/16" diameter.
. Wl
O —+
, .f
i | GAINS : Gains are to be flat with plane at right
|
|

angies to bolt hole.

Neutral bolt hole must be at 90° angle with
through—bolt holes.

_.;" All poles treated full-length must be bored, roofed

and gained before treatment.

Roofs : flat

i Bottom of brand shall be

10'+ 1" from pole butt; 14'+ 1" mark for pole
55" and longer.

s

Monufacturer's Mark and date of Treatment,
(month and Year).

Brand with proper length ond ciass.

Brand with species, preservative code and retention.

S

TOLERANCE

Holes

On the gain £1/8" from the centre lines of
the holes

On the side opposite the gain £1/4" from the
centre lines of the holes.

Location—measure frem roof
Gain side £ 1/4"
Opposite side = 1/2"

Diameter £ 1 /16"

Gains out of parallel + 1/2"

A

g 'ddv.L wensuan

(ueiryey MaIzowW P

(Md. Ylozammel Hug;

{Md. Duhiduy Islam)  +onsultant TAPP RRES

~onsuitant TAPD RRE

rtty

she
TAPP

Pp

]

=}

Co,

!
d. Abdul Khaleque,
“onsultant TAPP RREF

hakrap,
BRER

{
0

L

b2 OF @Y e St AR T 34900

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: — 6,35/11 KV POLE FRAMING GUIDE 30' AND LONGER)

Date ol Ongin

Reviewed by Approved by Revision No |

Unit Designation

July 1979

BREB BRER Board G ‘

M20

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




% Through—bolt holes must be parallel and in the}
T . same plane,
| w0 )
(8]
’ & This hole shall be at 90 angle eyl
]S with other holes. g‘f
e %
) ! HOLES : Drill 11/16" diameter. R, @ﬁ
| angles to bolt hole. f
— | — : N
l ] i 4
i i
B
/90 All poles treated full-length must be bored, roofed
e and gained before treatment.
I
‘"’; jl(,“:‘* 9 .
! 9’3' M
Roofs : flat <7 i
T
—~ "+ Bottom of brand shall be 10'* from pole butt. E
| : 5} I
Manufacturer's Mark and date of Treatment, (
(month and Year). :
*;> Brand with proper length and class. E
— OO0 -
\4
' Brand with species, preservative code and retention. g
) >
e |
2 TOLERANCE :
w kil D
2 Holes
| On the gain £1/8" from the centre lines of -
o l the holes ' -
on Date: Tuly 1980, June 1981, August 1989, July 1995, August 2013, February 2020
1| centre lines of the holes.
I
i Location—meaosure from roof
| Gain side £ 1/4"
O Opposite side £ 1/2"
Diameter £ 1/16" A
o |
BRG oS 0‘;"&:»:?
l‘Dﬁqn-{pP
Brand butt with proper
length and class and |
charge No.
' i hdul Khaleque,
Md. Dol 1< (Md. Mozamme! Hug) (Md A b
o oy quenseo) (VA DoMigu isiam, 8 ) Consultant TAPP, BRE ..
R%ﬁé&gug}?ﬂ%mzmﬁ: pl?\'} onsuitant TAPR q;;lr- onsultant TAPP RRT s ‘gydtmnﬁlxélga&g?p
su L
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: - 6,35/11 KV POLE FRAMING GUIDE (25' AND LONGER)
Date ol Origin Reviewed by Approved by Revision No, Unit Designation
July 1979 BREB BREB Board 6 M20-1

Revision Date: July 1980. June 1981, August 1989, July 1995, August 2013, February 2020

T -




; =3 T =
| TYPE OF PHASE | PHASE LOCATION |
| CONSTRUCTION | NOTATION | ON POLE
: i
R (RED)
NORTH OR WEST
HORIZONTAL | Y (YELLOW) CENTRE
| B (BLUE) SOUTH OR EAST
- :
LY (YELLOW) | TOP
| i l
. i
VERTICAL | R (RED) ‘ CEMTRE |
BOTTOM (
| B (BLUE) '

Aoy 0

d
(5RO QIS o et e e 39400

o =0 ﬁ
ER | ¥% e ;
& g za B _'
2 g ;E = = A

N 05 o) o Y

/ 5 £ - =2 25
w =5 =5
TS |

B .‘*‘j — 8

NOTES

1. For all vertical construction the phasing shall always
be Yellow—top, Red-—centre, Blue-bottom

SR

£

sy

Ty,

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  ANGLE CONSTRUCTION GUIDE CROSSARM TO VERTICAL CONSTRUCTION

Dute ol Origin Reviewed by Approved by Revision No, Unit Designation

July 1979 BREB ! BREB Board 1§ M21

|
i

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

S—




Wrong Way

Right Way

Note: No parts of tree should be closer than 2.0 m from open wiring.
Trimming should leave tree with symmetrical appearance.

ﬁﬁgo'

fore PIeR = &

h!
&

o=

(Md_Abdul Khale
Consultant TAPP ﬁqﬁﬂ

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription:  TREE TRIMMING GUIDE

D ol Oigiin [Revienvenl by | Approwvest by Revisiom Mo Unit Designation

July 1979 BRER BRER Board 6 M22-1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

35 w@fﬁ@ﬂ

T

sanul H,

basish chy
kr.

ague)

tTAPP BRER

(Md
‘onsultan

(Md. Mozamme! Hug)
nnsultant TAPP BRFET

L

(Md. Duhidul Islam)
t TAPR QQ[.:F

tan
tdl

~onsu

s
vt
.

4Uensuo

JAVL

!
1
Y MATZ0N DA

gad
et




_.Cul=q
(flush with trunk)

.~ Cul #3
{(Mush with 1runk)

Bark will strip down™"
Ihe lrunk here

— Righ! Way

For small branches REMOVAL OF HEAVY sIDE LIMB
omil Culs and# 2

&
e
e

: I
l-\ L!!‘l,/t:ul 2 J
{Slope for good drainage) / s
Bark will strip down/l {
I

—
— —

the frunk here

——
(===t

=
o Right Way Wrong Way §Q
"U' L
T &
L2 5
REMOVAL OF VERTICAL LIMB §§
& o
<3
SSJ Q.
Nole : Coal finglcyt-wilh tree puml
n \/_ M’/ﬁ:\/ g UIH““I‘&’F
o (VIR Iasrare b Md. A u1 Khaleque) -.ﬂanTA?PB
et ddv L “JUR)|nsul, s (Md. Duhids il Islam A D& TADD T ( nnq
Ci(é?Um(Vl}T mm?m‘\ m\l Consuitant. TAPP _RR)F sonsultant. TA Manenltant TAPD RRER
BANGLADESH RURAL ELECTRIFICATION BOARD I
} Unit Description:  TREE, TRIMMING GUIDE
Dute ol Oiigin Revienaex] by Approwved by Revision Mo Unit Designation
- B Hoarc o | M22-2
Tuly 1979 BRERB BRERB Board ! "
st 2013 F 020
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, PebruaryZ




- = . s
2 T | |/\'4~__q f—\lL)
Wl 1 | NEUTRAL | - NEUTRAL | : _ NEuIRAL
| ':‘:".'?‘:',-'?IHJ]J—- - -r[llzzts'ezer@I - --r1|!=.-_=_z :5}@311@)‘#%%%%?1‘%‘
! | !
< | | . I b
) . 1dJ8 0 I - I J10 o ]I % 46 .. _position of Guy
% ¥ W] g
e PMHNASE PHASF, | 2 PHASE
£ I 4 Y - ST Ty
s o 1""-"6‘4‘ 1Oy s e e f e »
B R S i
Jomw | ==t -
L /I8 oln L4ZJ o ‘\._#__,J J6
' TANGENT 0° to 30° For 60° o 90°Angles
Nole 4 ond Deodends
OPEN WIRE SECONDARIES
a00
fres T
AR Q{
K\
ﬁiﬁ\hﬁ?:;?’gﬁ?g?
SR
Sr.aq,ﬁk
NOTES .

For secondory lap loke-offs, install the tuke-off nevirol 3" below Ihe system neulrol
Minlnum neotral 1o phase and phose lo phose seporotion shall be 18" for spans up o 300
feet. Increase this separation to 24" for spons in excess of 300 feet but less thon 400 feel
If secondary is located under primory on same pole tine these osseinblies sholl be instolled
no higher ttran the primary ‘neultal position .

Double upsel bolls ( B36, B37, B3B) ore no longer being procured. The JBunil (single upsel
bolt } moy be substituled for the J5 unit,

On o primory conductor deadentd pols where the LT secondory phose conductor is olso
deodended, There sometimes moy occur a down quy/ secondory eonduetor conltict wherein
minimum clearonces belween the secondary conduclors and the guy wire connol be mainlained.
For Ihis situotion, the neultrol conductor moy be installed on gither 0 JB or JIQ secondary
unit and the phase conductor deadenderd ono JIO secondory unit. Refer 1o Guide Drowing

M27 -2 for picloricol deloils
Md. Mbzamme! Fud, (MdAbdul Khaleque) ™d Ahsanu Hague)

tmw (M. Dm Isiam) 'iénsuitam_ TAPP RRF Consnitant TAPP RREB ~rnsnitant TA

Consuitant TAPP RRE!

krabortty)

B D m N—-
PD.TAPP BREB.

(Debasish Cha

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: INSTALLATION GUIDE FOR OPEN WIRE SECONDARY

Date ol Origin Reviewed by Approved by Revision No, Unit Designation

July 1979 BREB BREB Board 6 M24

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




L
Nrimor Tnpe\ |I I Tie wire Ntinor Tape ,
% I | |
il ' '
Electrical | J5 or JB / l
Tope | ' Eleciricol , | Ugzee 5
| Tape l
: l l
| | f |
,| . ! [ 3 1
- LA '::“4 '
EXAMPLE | i
Preflormerd | \Lﬂ Praformed  Eleciriral
decd'e\ml l J l deadend Tope
s A
N , d /
\
| 4
/ &
Electricol il
lope * (p g
_, 4adB0°
ﬁ@ .\ 3 \’
PN ‘;@AC&S e
~ EXAMPLE 2 %% £
[=]
NOTES : 2
I, Mulliplex secondaries are user onl i 5D
_ se y for spacial cite , s
, by the Syslem Engineering and Design L;irlzt:h'm.ure.m“sm"re'3 hal ‘e to_be. opproved §§
: For service loke~-ofls, or in ontici i i g~
_ . ficipolion of service take-olfs, double deadend the s &=
m(:’ijhnlex ne_utm! rnesse_nger. Moke o stock toop for both Ihe neulrol 'und phusé gcfij
conductors six fo aight inches below spool insulolor . Reler to quideline M5 -22 §
Multiple Service Con:?an Guide for ¢ ions, '
7 . e o Hug) e
4T (Vd. Didy jsjay, (M. Mdgammel Hug) Md Abdul Khaleque) Md, Ahsanu) Hague)
NP BN Consuitant Tapp pr. onsultant TAPP RRE A APP RREP (M P BRET

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: INSTALLATION GUIDE FOR MULTIPLEX CABLE SECONDARY

Date ol Origin

Reviewed by

Approved by Revision No

Uit Designation

July 1979

BRER

BREB Board 6

M24-1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




| l Neutral
Connectors |
f

Phase

>& PE
[ / Control

L~
= of]
l
!
| | > oy
| | ¥
|
18 Ft. Min. LK“) 5
20 Ft. Max. |~ J«::'___'__‘;q ~
| 1 Supplied by street light F o
| | % muapnpufi:ctu?ers = éF
- | 1
X
l | Ground Line qQOO
| | w3 ©F TS O SRS P 2
| l e

Ii {|Ianl]} IFI] o [lIJ i Ilmlllmi]mﬁimll III Qlllllu:l Il II 1l Ill IIINIII: | IIIII":I|1"||II"||lm|1|

I1mlllmlllm!lr"III1ll Hmlllmlllml!l”HI"IIII”IJI illmillmlllmllluIHIH 1 Ilmllll“l “Il llll i III (L1 [ 1]

\ Q-IW M‘
s o )
(Md. Duhidul Islam (Md: Mozamme! Hu {Md.Abdul Khal lle) (Md. Ahsanul Haque) |
pmd ita?nztibgg;hr?}g}n Jonsuitant TAPP m?}r-' “onsultant TAPD i Pangultant TARP B “onsultant TAPP BRF
Lonsu /
DeoHs japortty,
PD,TAPP, BREB.

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Deseription: SECURITY LIGHT INSTALLATION GUIDE

Date ol OUngm Reviewed by Approved by Revision No Unit Designation

Tuly 1979 BREB BREB Board 6 M26-5

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013. February 2020




| .
| ,___Pole ground

No. 4 Aluminium
(REB Item No. D4)

Xo e A
Neutral bushing

H Type Connectors

I

||

||

||

hp | | (REB ltem No. T6)

[ |
Neutral to case I :

L

l

|

I

grounding strap |~

8 Copper/ :

(kEB Item No. D6) /

2
§

O

| @
er.

| &

| s &

‘ &

|

\|\/I/ g
[ F&
Tank ground f ] =
connector p 2 L pall j
e I

; . _ Md_ Ahsanul FHague)
(Md Mozibur Ra]unan)p (Md. Dunidul Isla m) (Md. Wozammel Hug) | (M!i.Abdu eque) =rEnq1ﬂ|aﬂ1 TAPP. BREB
Con "s'l.l“m‘-At TAPP BRE Consuitant TAPE B Qr lonsultant, TAPP RRET -'"‘_p_ﬂs;]l“ﬂrl‘-TAPps BRER

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Desceription: 6.35/11 KV TRANSFORMER GROUNDING GUIDE FOR SINGLE PHASE INSTALLATION

Date ol Ongin Reviewad hy Approvad by Revision No Unit Designation

July 1979 BREB BREB Board G M2 74

Revision Date: July 1980, June 1981, August 1989, July 1995. August 2013, February 2020




See Note 1

Pole ground
No. 4 Aluminium

(REB Item No. 04)\

Neutral X2 (X

bushing @ h

Neutral to case |

grounding strop

No. 6 copper .- |

(REB item # D86)

See Note 2 '\ e

Tank ground connector &
No. 6 ~

H Type
connectors
(REB item No. |-6)

Bolt head
NOTES : /Round washer ~ No. & copper to

pole ground
1. Connect transformer hanger bracket to m/
2. Refer also to Note 4, Guideline M28—\/ /}//////// = 3
[y / -

1d . Frame (Md. Myzamm .
Gefozibur Rahman) (Md. Duhidul Isfam) Nut 2 Imel Hug)
"‘{gﬁu\tam TAPP RREP  Consuitani TApp. JA.F?:JF" nsultant TAPD Rpgr

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: 6.35/11 KV TRANSFORMER GROUNDING GUIDE FOR THREE PHASE INSTALLATION

Date ol Onigan Reviewed by Approvid by Revision No Uit Desigration

July 1979 BRER BREB Beard 6 M2 7_ 1

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




<Y
L

Primary Deadend
Down Guy

Secondary

@ ~ Dow

Primary Deadend

n Guy

Take—off” Angle

(0° to 30°) or o J6 (30° to 60°).
Example 2 depicts a secondary take—off angle of 0° , which will cause down guy / secondary conductor

conflict. The neutral moy be continued by using a J8, or it may be deodended on a J10. The phase
conductor is to be deadended on a J10.

Y Secondary
& Take—off = 0°
S Angle
&
&
74 i
] ] & fEX ) £ g
X b 1 §5
=E] $ I 53
= | “ = | <8
7~ ( @ ] L .% 4 @ ) b -
] 1
O [@+— & S O] | 3
| ‘1 | 2
S [ . il e 55
\ - Z \ - - ]
] I o~
| B |
Ol Bt 8 Ol |Er—+ 5
| B mlo -
=0
: r EQ
[ l :"D % \\_/ | I .t? E;l
1]+ % 7 s
| L .
=L —— | | o o — ‘ | Neutral =&
= 7
Neutral . 8@ | . 23 d
4 R | $|787 /E
‘ L™ e8 T SR ™ S
= = L2 8 <
J10 or J6 1 J8 or J10 | T?N\L:J 5%
& L] ] Phase 28
Ly XT3 A U k=5 23
T —_ \ ’Jose J10 _.:/‘(__ =€
= J6 =~
EXAMPLE 1 EXAMPLE 2 o
PRIMARY DEADEND POLE WITH LT SECONDARY TAKE - OFF gg
The secondary take—off angle is defined as the angle between the secondory conductors and the : é
primary assebmly unit deadend guy. b
Example 1 depicts o secondary take—off angle greater than o° . The neutral may be continued by using a J10 E‘g
i

@)

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription: 6.35/11 KV TRANSFORMER CONNECTION GUIDE FOR LT SECONDARY

Dute of Ongm

Reviewed hy

Approved by

Revision No

Unit Designation

July 1979

BRER

BREB Board

O

M27-2

Revision Date: July 1980, June 1981, August 1989, July 1995. August 2013, February 2020

—

’.--_‘x__




“onsul

NOTES:

nsuitant TAPP B
(1»1@@;:&) : =

tant TAPP BREP

(Md. Duhidul Islam)

(Md. MoXxammel Hug)
‘ansultant TAPP BREF

Neutral

1)__6»

1. Connect service neutrals to system neutral as per quideline M45-2.
. Connect service phase conductors to secondary phase conductor as per guideline M45-2.
3. Refer to guide drawing M8-5 for multiple service assembly units.

|
|

{M% (Md,ﬁxjétﬂ/ﬁaqu

Consultant TAP? RRER

€)
“anguitant TAPP BRET

for spans
over 300

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription: 6.35/11 KV TRANSFORMER CONNECTION GUIDE FOR SECONDARY AND SERVICES

Dute of Origin

Reviewed by

Approved by

Revision Mo

Unit Designation

July 1979

BREB

BRERB Board

6

M28

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013. February 2020




Transformer 9econdary Conductors; Transformer: . Primary
Rating, KVA | Neutral (Phase Current Rating Fuse Rating |
(Per Transformer) (bare copper Covered Primary | >éconaary :

pper) Copper) (Amps) (Amps) | (Amps)
3 5 No. 6 (Dﬁ) No. 3 (DIG) 20.8 20.0 1
10 | No.6 (D6) [No.3(D16) | 16 417 3
__________ 15 | No.6(D6)|No.3(D16)| 2.4 62.5 3
______________ 25 ~_No.3 (D7) |No.3 (D16) 39 104.2 5 ]
| 37.5 1/0(D8) | 1/0(D17) | 59 563 10
50 ~ 1/0(D8) | 1/0(D17) 7.9 208.3 10
- T NE 1 ARECE 283 10
. 100 4/0(D9) | 4/0(D18) | 15.7 416.6 25
167 2x4/0 (D9) | 1000 mem 26.3 695.8 40
\ or 2x4/0 |
Notes: \\

1. CAUTION: It is mandatorythat the transformer tank be grounded as shown on
BREB standard guid drawing M27. Do not attempt to remove the tank ground
before de-energizing the transformer.

2. Note that all transformer leads are copper, either bare or covered. Do not install a E
combination of copper and alluminum conductors in the same transformer connector. &

3. For all of the transformer sizes listed on the above chart: o ﬁ,‘ mmmm\qqoo

- Use No. 6 copper for transformer tank ground loop;
- Use No. 6 bare copper for transformery lead.

4 it is absolutely necessary to install aluminum conductor, transformer secondary leads use
10llowing: These substitutions shall apply only on transformers upto and including 50 KVA

o
5

§
=
£
I{

- No. 4 aluminum for transformer tank grounding, loop;
- No. 3 aluminum for No. 6 copper;
- 1/0 aluminum for No. 3 copper;

- 4/0 aluminum for 1/0 copper;

Ma zamme| Hug) Qﬁﬁf

Md. Dy
[ Lt de il ‘cif!*ﬂ] onsultant Tapp RRFE! ('\fd Amﬂqﬁj

s7ibur Rahman) ; j
“onsuitant TAPE pRp

(Md ltant TAPP ARER

“onst

BANGLADESH RURAL ELECTRIFICATION BOARD
FUSE AND LEAD SIZES FOR 6.35/0.23 KV DISTRIBUTION TRANSFORMERS

Unit Description:

Unit Designation

M28—1

Date of Origin Reviewed by Approved by Revision No.

July 1979 BREB BREDB Board 6

Revigion Date: July 1980, June 1981, August 1989, July 1995, August 2013, Fﬁaruary 2020

V"
\
Tebagi¥ hak%m
»n TaPP B

(Md, Ahsanul Haque)
Consultant TAPP. BREP



Nores : ;
I Mointain 2" minimum spacing belween ground wire and
hardware ossocioted with enerpized conductors.

2 Wnhere ground clearonce permlits mount all neutrels

o! lower level,

Neutrol 1
o 4—1; Ih'-_‘_ 10‘_0—9—
|
I

\
|.4'-0" | 2.0

COMPLETE ASSEMBLY {

Cl, AT ond M5-5 Tap
‘ | \\:4M

o] Top .7 r gy 1
vl 1| Y S A |
U Bda i s
N [l [
1 H {
o I l _r.? l |
I [ eﬂ * l 'I =
virol Tﬂo-}#s—u— o | "
Ul Ly
COMPLETE ASSEMBLY COMPLETE ASSEMBLY
A5.3 AND A4 A5-1, M5-2 and AS
' Q
q
) gﬁ
'(/ f é? &
(Md. Mezibur Rahman) (Md. Duhidul Istam) (Md. Nozammel Hug, .(Md.Abdul Khaleque) Q
‘onsultant TAPP BREB  Consultant JAPP gRE: Sonsultant TAPe npr  Consultant TAPP. BREE, n%ﬂf&ﬂﬁ.’ﬂ,g%%,
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description:  TAP ASSEMBLY GUIDE
Date of Origin Reviewed by Approved by Revision No. Unit Designation
July 1979 BREDB BRI:B Board 6 M29-1

| g3 : 3
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




—

_L____/L_{?L}-ﬁ!'ﬂﬁ_’“

COMPLETE ASSEMBLY COMPLETE ASSEMBLY
2,C1 AND M5-5 {if Needed) AS-2,A5-2A,CL,LAND M5.5 {if Neaded

..;"‘, 8
i : \
\
1.
]
|

COMPLETE ASSEMBLY
A5-2 AND A3

COMPLETZ ASSEMBLY
AS5-3 AND C4-|

Notes:
[.Maiatgin 2 mimimum soacing between ground wire gnd

harawgre associated with energized conauctors.
2.Whara ground cieqrance permits moun: all neutrals at lowar levels

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Deseription:  TAP ASSEMBLY GUIDE

Revision No. Unit Designation

Dare of Ongin Reviewed by Approved by

July 1979 BREB Board 6 M29_2

BRLED

Revision Date: July 1980, fune 1981, August 1989, July 1995, August 2015, February ?
(Md E_')L;.'dullsmm (Ma.

(Md. Mozibur Rahman) — {(Vid
(M ftant TAPP RRET Onsuitant Tapp RRF

onst

Consultant TAPP,

(Md. Abdul Khalgqﬁg)
.B

PD,TAPP nprp

(Debasish Chakrabdfity)



i e

AT SINGLE PHASE ANGLES AT SINGLE
AND DEADENDS i PHASE ANGLES
o~

See note 2

N P g
S
P _g.\f.r
| 8O

i T Q a

iy 52

AT THREE PHASE 8o

TAP ASSEMBLY (S' a
NOTES:-

L. Maintain 2" minimum spacing between ground wire and hardware associated with energized conductors

inimum distance from staple or clip to lag screw or eye bolt

2. Position of staple pin is \v?important. Maint
bﬁ(ﬁﬁn‘] Md. Mozamme! Huq A/_j

(vid. Mozt Md. Duhidul Isa tAne TARD oy ; Umal e :
5&};\1 Yant TAPD BREB ,.‘Ggsum ! TLT;JL-:':@\’;F onsultant TAF Ponsultant TAPD EEE)B , (Md. Ahsanu] Haque,

‘onsnlfant TADD nppy

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: GUIDE FOR INSTALLATION OF GROUND WIRE ABOVE NEUTRAL ON GUYED POLE

Date of Origin Reviewed by Approved by Revision No. Unit Dcsignation
July 1979 1IR3 BRI Bonsd 6 M30-1

Revision Date: July 1980, June 1981. August 1989, July 1995, August 2013, February 2020




2= L»j

=+

See note 1 il

|
3
J

AT SINGLE ARMeASSEMBLIES WITH AT SINGLE ARM ASSEMBLIES WITHOUT

POLE TOP PIN POLE TOP PIN
./_'. s
§
NOTES : ; §
1. Pasition of staple is important. Maintain 4" min. distange ) _.?‘
from staple or clip to lag screw or eye bolt. gg
=]
2. Maintain 2" minimum spacing between ground wire and o f';?
hardware associated with energized conductars, t\qo k3
Ry
[ T )
D — é%fo@
I ; | KoL
v N3P ul Hagque)
SECTION X - X Cnakapo™y (MA AR po BRER
: (eaSY oo pREB. rrnsoef
‘i‘ . ?DIP‘PP'
H 4" gop Fi
c - 2 P [
el s L e | e ol 1 L o e
N & g o
X \ / X \ J/
See note 1—

- -
’
: Md. Duhj - ;
AT DOUBLE ARM ASSEMBLES  (Md. Mozibur Rahman, .n,m(m{,ﬂm:.ﬂh.’f’ﬂ_‘ﬁff?f”) AT DOUBLE ARM AssEmpues 10 Mozamme} mﬁé
WITH POLE TOP PINS onsultant TAPP RRRT PP WITHOUT POLE TOP PINS *ant TAPPIRRE!

BANGLADESH RURAL ELECTRIFICATION BOARD

- .

Unit Deseription:

GUIDE FOR INSTALLATION OF GROUND WIRE ABOVE NEUTRAL ON POLES WITH BUTT WRAPPED
OR DRIVEN GROUNDS

Lule o Ongin

Reviewed by Approvid by Revision Mo Unit Designation

July 1979

BREB BREB Board 6O

M30-2

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013. February 2020




T0 SOURCE
HOT LINE
CLAMP

CROSSARM MOUNTING BRACKET

THREE PHA
DEADEND

NOTE : For single crossarm
instaliations combine two brackets
to make one bracket os depicted.

SE

'N‘fd.rnziburRﬂhfﬂﬂﬁ}r
SINTGLE‘ PHASE Sppaultant TAPD ARE
DEADEND TANGENT
BANGLADESH RURAL ELECTRIFICATION BOARD

ppre——

:

{Md. Duhidul Islam
Consuitant TARR Rt

T

THREE PHASE

TANGENT

POLE MOUNTING BRACKET

T0 SOURCE
HOT LINE
CLAMP

Cha
PP R

Debasisp,
°D.7A

,(Md. Ahsanu] Hague
"nsultant TApPp BRE)}:

T0 SOURCE
HOT UNE
CLAMP

g

SINGLE PHASE

fifll* Mogammel Hug)
<gnéultant TARPD ORF

Unit Description: 6.35/11 KV CUT-OUT AND LIGHTNING ARRESTER CONNECTION DETAILS

Revision No.

Uit Designation

Date ol Ongm

Reviewed by

Approved by

6

M3l

July 1979

BREB

BREB Board

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




|

e, T

GUY WIRE

/4
7

L5WGC Gl WIRE
(.AS REQUIRED

T3 47
3 L
Y
LY
h o n
MAXIMUM SPAN I
% A
GUY WiRE "FOR £ L/0 ACSR CONDUCTOR—78M LSWG G.LWIRE
M 1/0 ACSR COMDUCTOR~ &5 M A5 REQUINED
£ ) ACSR CONDUCTOR— B0 M
ot
AMCHOR
r I
13 -
Loy o>
Fo N o
Eool
-! l ‘.:
L :'
I | (
1
1Y ]
|
o —4-
1 =0
t1
[+] ‘0 Q1 }0 - O
==
1 A ‘T
b i : | Hug)
— M - | i o Md: Mozamm ) 5 =
vid Kficzibur Rahma), Ly oM Uuhk(:l._islam; Shsuitant TAPP. BREF EL,:[—]
Mapsnttant - onsuitant TAPP BRET Detail of
Poie Band,Single.
EH [NO MATURIAL UNIT ITEM{NO | MATERIAL UNLT
2 |[Crossarm, Steel, Angle 2Y2X2V2%1/4-4 -0" | Hos 4 [Boits5/8 @x1'7270 Nos
4 |Brace, Angle. Gal-Steel 2X2X 14" - 4-0" | Nos BS53 4 |Nuteye, Oval 5/8°Q - Nos
2. |Band. Pole. Single 27X 14" -8p Mes |[BSS 4 |$hackle Anchor Mos
8 [Bolt-S/8'0-2%2" Nos ||N2  AsreadWire Guy B
87 2 Bolt—5/8% 10" Nos |B63/EN| 8 |Belt clamp/Guy Grip 1Nos
Asregd Gl Wire 4 4 SWG B62 2 |Rod,Anchor5/8°0-B Nos
B4S 2 ([Washer Sqare Curved(3X3X1/4-11/16 hotle) Nos
2-1 ? [Log, Anchor-3-&" Mos
850 6§ |Lock Nut 5/870 Nos

BANGLADESH RURAL FLECTRIFICATION BOARD

Unit Description: DRAWING OF GUARD CRADLE FOR RAIL ROAD CROSSING OF 6.35/1

1 KV LINE

Date ol Origiu Revieww] hy Approved by Revision No

Unit Designation

July 1979 BRER BRER Board o

M32

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




Q L

o ;
O ¢
& { A

=== ANNRNNSSS AN

B

i

SIDE GROOVE TIE .

NOTE. In inoking lies, starl with middle of length of tie wire ol position marked "B
To complele tie, cinch up lasl two turns ol each end with piers antil lie wire

is snug and Vight, Use the Tlol faoce of the pliers ogninst the line gouord |

!
oy
£ B RGN

SN
Wiy

ACSR | LINE  GUARD | TIE WIRE ]
REB. | COLOR No.1 f\lumlt_mmu#
SIZE -
NO. CODE Approx, Length oL
: &
No. 3 £10 GREEN 7't 53 -ﬁ% '
X ;
1/0 ENl YELLOW g &8 §_§
- iy 35
b S &
4/0 E12 RED 9"+ RS gg
S£ -
&
BANGILADESH RURAL ELECTRIFICATION BOARD
TYING GUIDE SINGLE INSULATOR
Unit Designation

Unit Description:

Reviewed by

Approved by

Revision No.

6

M40-10

Date of Origin

BREB Board

BRER

July 1979
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, Fﬁbruary 2020

(M

Zamme! Hug;

{Debasish Chakraljortty)

(Md. Duhiju Islam)

Cons

(Md. Mozibur Rahman)

Snenltant TAPD RRER

vltant Tapp por

d.
{Qjﬂﬁmpp TRY




DES S

|

D

.
o

= X% T

: 666666 Wﬁhﬁ'bﬂ‘ S0 660 0 %l 9

Py

780
D@ Sepds . &
S &,
(1,, (ll

SIDE GROOVE TIE

NOTE !

- moking Yies , stort with middle of length of tie wire posilion ol morked” 3"
To complete tie, cinch up last twe tuins of eoch end wilh pliees unlil lig
wire is snug ond ligh! . Use the (o} foce of 1he plieis agains! the

lina quard .

[/
0

— ACSR LINE GUARD TIE WIRE §
Sz RED COLOR No. 4 Aluminum L g
NO. CODE Approx. Length =] é@i’ﬁ
No. 3 E10 GREEN 7'+ ' g
170 £l YELLOW g =+ %%
4/0 E12 RED 9 * g{-}
80

(Md. Abidul Khaleque)

(Md@ Mozibur Rahman) (Md. Duﬂ’(fs]am) (Md. Madgammel Hug) Consoltant TAPP BRER
Lonsuliant :

‘onsultant TAPP BREP  mensyitant Tapp RRE' ‘onsuitant TAPD RRET

A

(Md. Ahsanol Haque)

‘ansul

tant TA on NRET

BANGILADESH RURAL ELECTRIFICATION BOARD

TYING GUIDE DOUBLE INSULATOR

Unit Description:

Date of Onigin Reviewed by Approved by Revision No. Unit

Designation

HRER BREB Board 6

Tuly 1979

M40-11

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, Febma]‘y 2020




For hend opplication, ho® one or more einforcements against the conduclor wilh midpainl ol 1he insulator,
rolale In some direclion as the loy of the conductor, for three or four inchies soch side of cenler .

~ In like manner opply remaining reinforcaments 1o cenlor section . Alter all hove been staried
complele the oppiicotion rotary oulward wiping molion of Ihe hand. Moke ceilain 1ho! 1he ends
snap info ploce in proper order

00
mm“"“
WSSy s
poL ! s
YR 5o
@
-2
ACSR LINE GUARD
RED RODS COLOR ROD
SIZE [DIAMETER| ITEM | LENGTII PER CODE DIA e
(INCHES) | NO. (INCHES) | SET %m
gl
. No 3 | 0281 E10 33 9 GREEN | () 523 20
o
170 0.398 Ell 37 11 YELLOW | 0.640 s
m O
4/0 0.563 E12! 43 15 RED 0.805 gf‘

r W | Haque)
(Md. Abdul Khaleque) (Mé. Ahsanu! Haqu

MA Pty l Mdzammel HUq; = T “nsultant TAPP ARFET
(xfd. Mozibur Rahman) (Vig. Duhidul Islam ‘{Md' - Consultant TAPP RRE nsu
’Ennw‘lfrm* TAPP BRER  sonsyitant TApP BRJF,.ﬂr‘!SU“an TAPP RRF

BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: LINE GUARD DATA AND INSTALLATION GUIDE

Date of Ori Reviewed by Approved by Revision No Unit Designation
ate of Ongin v :

Tuly 1979 BREB BRER Board 6 M40-12

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




G
T
|
R
(Q / S
Vd = N
'f \ N&’ ngg,
= i T
\\ /.f \ @dﬁ*
&S
Ly o
o I"“_I)Ji' »
|'ﬂ|rllll
P
. 1 O
g ] o
=t o
i .'.-q:'—-"\' NOTES ! The aligiinent of eyeboll .ﬁ'-.-
_.'r‘f,h};ﬂ* eye depends on type of RZ
I \ suspension clomp used .
i
/) - - -1-‘\ ﬁ
(e .
m A |

Line guard ~.

- A\l
~ 4P
i
AEPIET,
- o
o AEP ] \
W

PRIMARY Q\&;
ANGLE ASSEMBLY H
f-ek
A &
5 li*"
s : ; \\
/ i
(T
i A
N th /’
mmlia}hm;lﬂ) (Md. Duhidu I%Jarn) /
pnaultant TAPT L, r""'!"r'ﬁ“x”r TABD RREr (
;;./ NEUTRAL AND SECONDARY £
Taul &;1\3’181{‘35)3 N i
e (M 'ADEL pp BRE L:: ASSEMBL Y o
(Md. Mogammel Hug) Consuiian 4} ‘K} =
~onsultant TAPD RRE e Mm\_ S a
bv_ Jéé? \*‘f‘ 7] <
o = \\\Q 2 [’3
HEUTRAL AND SECOHDARY ?‘\\\ Ahsanulllaqﬂc} 8§
ANGLE ASSEMALY nmﬂmtmm’ BREF ' ©
ITEM [NO MATERIAL | TEM |NO. MAT rmql_______________
[+ Bﬂl! machine, 5/8"'x_re-'d. lenglh ho |Shackle, anchor
m Clamp, suspension size as reqd da f!rackc!,':ecuud_g_.__y
cm Spol Insulator, dia,groove as req'd by _|Line quard, preformed _
8 | [Clevis, secondury, swinging o Dolt, eye, 5/4° x required fenath !
ok Locknuls, 08 req'd. 1 |Screw, tag, 1/2"xreqd.lenyth |
d Washer, square, 2Vq" - i =v—

BANGLADESH RURAL FLECTRIFICATION BROARD

Unit Description: ANGLE ASSEMBLY GUIDE, VERTICAL CONSTRUCTION, 30° 1O 6(]0 ANGLE,

ACSR CONDUCTORS WITH LINE GUARD

Date of Origin Reviewed by

Approved by

Revision No.

Unit Designation

Tuly 1979 BRER BRERB Board 6 M41-10
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




PIRIMARY
DEADEND ASSEMBLY

-
piE Sy, s S e T S e PR L, sk
| |
| |
|
] : NEUTRAL AND SECONDARY
| | DEADEND ASSEMBLY 3
_— S
R S ) i
&4
PLaed]
S aq-
5 aQ
NOTES . .%T;f:(
I. For 1/0 and larger use spool of 3" min. groove diameler on neulrol and &a‘qztz:)
—~ secondary deodends, &

ITEM MATERIAL ITEM MAT ERIAL
| Clamp,deadend cm Spool Insulalor, din, groove 0s req'd
3 Clavis, secondury, swinglng bn | —Clamp, Loop Deadend

(VId. Mozibur Rahman) (Mid. Luniow ISidly, {Md%]&i Huq; W
“ananitant TAPP RRER  Consuitant TAPP BREF ‘onsultant TAPD npr / (Md, Ahsagul i_{ngﬁcr)r

Tansnltant TAPP BR

BANGLADESH RURAIL. ELECTRIFICATION BOARD

Unit Description: DEADEND ASSEMBLY GUIDE, DEADEND CLAMP METHOD ACSR CONDUCTORS

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BRER BRER Board 6 M42-11

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




PREFERRED

METHOD
SEEE AR A R BN 7 SR T MRS 2 RS =T s L S St
Y W | :
! 1-I.i-,' min, "\\nu . [L
.5__ - lap - st
. :a‘__ oy lop
i %
Iy [
I b, i T e ©
i bl T AP FROM PRIMARY  LINE
=== WITH HOT LINE CLAMP

[’ ;. e .
TrTTEaoREEN :sm‘\-;;‘-‘:‘%s::l\i-’i' zii&’!’w:ﬂi%?Eséi’ﬂ}‘?:.—';;‘i:-‘.-‘.- ; = i
3 - RYCRA| Tap >/
L - f
" v ol g; ‘-éf
s 3
= d IAP TROM NEUTRAL O SECONDDARY LINE ’?’r‘ Eé‘i}}.
- -1 & ok
(T Wil CONNECTOR - it
1
| | ik
3 L
DL et
--r:{]-- ol o HE :”lr__ | ;t, -‘e.*;:::“__{ S e e e e S e
I | - ‘L\ E_ e Sl e
~) | - e
] "
l | !r}pw—a_._Jj )/"p
L’.‘—". JJ : Gl . N
- TAP FROM PRIMARY  DEADEND é‘i'
A o
| WITH HOT LINE CLAMP gy
| T @
[ O
| 58
R rA
5 i Q
BT | ST SR P B (< e L e RN | R g
4 |‘{-'} W - == T e
| | - Jup
L';‘-x_.J
- Noles: IAI" FROM NEUTRAL OR SECONMDARY DEADEND
I. On new construction, lop moy be made direclly over line quord provided  conduclor
Is 1horoughly cleoned and inhibitor used belore inslelling rods.
2 When installing line guord on exisling lines, conduclor should be wire brushed
lhoroughly and inhibitor used belore inslalling rods,
ITEM [NO, MATERIAL ITEM| NO. MATERIAL
[ Connaclor tomprassion - 51 Adopler, hot line
op GClamp, hol line, top assembly "
BANGILADESH RURAL ELECTRIFICATION BOARD
Unit Description: TAP ASSEMBLY GUIDE ACSR CONDUCTORS
Date of Origin Reviewed by Approved by Revision No Umit Designation
Tuly 1979 RREB RRER Roard 6 M43-10
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020 <
, ’ r : (Md: Mdgammel Hug) PR~
(Vi Vozibur Rahman) (Md. Duhidul Islam)  <gnsultan® TAPP RRFF
mnenltant TAPP BRER  Consuitant TARP RRE! G (Md. Ahsanul Haque)

erslbamd TATITY TVF




B No. 2 ACSR SLEEVE ]

ALUMINIUM SLEEVE Sleeve are marked to
indicate conductor size

| 26/1 ACSR
STEEL SLEEVE

s O em——n e

ACSR READY FOR SPLICING

Aluminium sleeve pushed
back on cable

N R =mmmmo=2222] - |
e

e T
Frictign Tape STEEL SLEEVE PRESSED Whats L6: Bi |
§ piece sleeves are used
ON STEEL CORE __—" {5 not crimp the outer sleeve
/ ) over the Inner sleeve.

PN NN\

COMPLETED SPLICE

DIRECTIONS FOR MAKING AN ACSR TWO SLEEVE SF‘LICE- - @;@

1. Slip Aluminium sleeve on cable for enough back to be out of the way. Cut back Aluminium strands at end

of cable 3/4" more more than half the length of stee| sleeve. ' ‘
2. insert steel core wires in the steel sleeve and press with inner groove of tool. Press entire length of sleeve starting ot the
middle and working toward the ends. Leave about 1/16" space between presses.

3. Stroighten steel sleeve by hammering carefully against a suitable block. .
4 Place o piece of friction tape on the coble fo mark the position of the end of the Aluminium sleeve

such that it will be centered on the splices.
5. Clean conductor by wirebrushing, paint the steel sleeve ond the adjocent cable that will be covered by the
aluminium sleeve, with o suitable corrosion inhabitor.
Slip the Aluminium sleeve in place ond press with the outer groove of tool using the some
procedure as with the steel sleeve.
7. Stroighten entire splice by hammering carefully against a suitable block. Zanl)
8. Splice shall not be within 10 feet of insulator. i ‘ﬂ’\}%q“ "{.&\\

, .
Wl{ahman) (Md. Duhidyl s (Md. MAzamme) Hug, Q/‘ﬁ"/,

Fonsultant TAPP BRER ongyjitan .I_JC\_'__J_““T}_ ‘onsultant TARR not

2 U]Hﬂq“c) -.1\.."_.:-....'._‘ e
cénMSuhant;rAPP, BREB (Ltsg ol )

Unit Description: SPLICING GUIDE- COMPRESSION TYPE, ASCR CONDUCTORS

Dale of Origin Reviewed by Approved by Revision No. Uit Designation

July 1979  BREB BRFB Board 6 M45-21

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




r'\

H-TYPE CONNECTOR P

SECONDARY
PHASE OR -—=
NEUT AL
CONDUCTOR

< "1anLs"
No. 6 AAC(Insulaled)-phase

No. 6 ACSR (bare)-neulral

I %R 72 39900

SERVICE
TOP VIEW < ENIRANCE
R S SLFEVE

b3 O QI ey

[— (BLUE -BLUE)

|7 SERVICE DROP
- No 6 AAC (insulaled) phose
No. GACSA{bore)-neulral

 SECONDARY NUMBE R HED GROOVE
CONDUC TOR oF 1TEM ron
SIZE(LT) “1aiLs” NUMBER “1AILS"
____Nas.__v; i e e e
Ne3 ool 8 1-4 A
Ne3 10 1-2 n
120 e 6 1-3 A
170 v %% 8 [-2 A '
o o 10 [-2 A
1/0 % 6 [-? 3)
4/0 v,5%% o L-1 A
1/0 o 10 I-1. n

NOTE -I. For use where lhare are, or aie anlicipotad lo be mulliple domestic service connec linn,
Itis desirable 1o limit he omnber ol moltiple service drop conneclions 1o two per conduclor
per pole The aculal number of service diops will be delermined by lield conditions,

2. For single phose domeslic lype service connections only (N2 6 duplex service drop) f

3 Use "BLUE BIUE "service enlionce sleoyn .

4. Keep TAIL  endings insuloled unlil inslaliation of 1he service sleeve. fé‘
EXAMPLE - A lotal of six(R)service drop conneclions is desited . The I_T secondory condpclor size is 1/QAGSR ¥ Fa)
The correct H-lype connector is cade number 4 The N26 duplex  TAILS would be inslalled in gi

groove ‘A the LT conduclor in groove ‘B’ Il additional services ore anticipoted, connactor codg =
"

[ =

<

number 6 would be used ond eilhier 4or 5 lengths of Na 6 duplex for g tolol of either Bor |O."TAILS
would be installed in groove \/ '
-

Al : : (Md. Duhiguy| Islam) (Md. M§yzamme| Hug)
MEATuZibur Rahman) “‘]r‘]sj_‘lilr-?..< AT 1 .r:})' 8 onsultant TAPP RRE:
~nepltant TADPP ARFR T BRF

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: MULTIPLE SERVICE CONNECTION GUIDE FOR DOMESTIC CONDUCTORS

Date of Ongm

Reviewed by Approved by Revision No, Unit Designation

Tuly 1979

BRER BRER Board G M4 5_22

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




INSTRUCTIONS FOR SPLICING OVERHEAD CONDUCTORS f
USING FULL—TENSION AUTOMATIC SLEEVES /fa‘?

S
&8
-
. ~
. &
ks Preparation of Conductors : _ &
7~ %

1. Cut the conductor square so that all strands are even, in lay and free of burs.

2. Straighten the conductor to remove any curvature due to coiling.

3. Clean the conductor thoroughly by using @ wire brush which has been coated with a liberal
quantity of inhabitor. Wipe off excess inhabitor after cleaning. It is just as important to clean
new conductors as well as old conductors.

4. The conductor size and type stamped on the spiice must correspond to the size and type
of the conductor to be spliced.

5. Measure and mark the conductor with electrical tape to ensure full insertion of the conductor
into the splice. One half (1/2) the length of the splice is the measure of full insertion.

I, installation of the Automatic Splice :

1. Remove the coloured end plug (if provided) by pulling out with a slight twisting motion.

2. Do not remove the conductor into the splice, and with a smooth straight thrust push the
conductor through the gripping jaws until the conductor hits the centre stop.

4. Visually check tape marker to verify full insertion. Remove the tape marker.

5. As tension is opplied the conductor will move 1/4” to 1/2" from the end of the splice

—~ due to the sliding action of the gripping jows.

6. After completion of the splice installation and before the chain hoist or rope blocks have been
released, an additional momentary tension (jerk) should be applied to the conductor to "set” the
splice and assure proper installation. -

- / (Md i HUQJ a’//7
El ¥ TADD ul Khalequ
(T\'1MJ ) (Md. Duhidul Islam) e {\11631%‘] i\hah.qug)r

SR sl _ APD RREP
“pnsiltant TAP? BREB onsuitant TAPP BRET

YR) N (@S O SIS PR R 59900

A¥sinul Hague)
'_"ﬁﬂltmfrmﬁ’,%ll

BANGLADESH RURAL EILECTRIFICATION BOARD

Unit Deseription: 6,35/11 KV AUTOMATIC SLEEVE INSTALLATION GUIDE

Date ol Ongun Reviewed by Approved by Revision No Unit Destgnation

July 1979 BRER BRER Board 6 M45-23

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020




SERVICE ENTRANCE SLEEVES

AhmMoﬂgg:B
oard), BRED.
I~11 TO 1=19 AND I-51 Asst. Secy-
-9 AND 1-10
3“:"% ‘é%ki Q)
@ = FECLE LT
R\\\"‘O
ATREE R ERA)
UNINSULATED
END END
ITEM NO. SIDE A COLOUR SIDE B COLOUR
I-9 4/0 STR TO 4/0 ACSR PINK 4/0 STR TO 4/0 ACSR PINK
i-10 4/0 STR TO 4/0 ACSR PINK 1/0 STR TO 1/0 ACSR YELLOW
I-11 1/0.8TR TO 1/0 ACSR YELLOW 1/0 STR TO 1/0 ACSR YELLOW
I-12 1/0 STR TO 1/0 ACSR YELLOW 3 ACSR RED
I-13 1/0 STR TO 1/0 ACSR YELLOW 4 STR TO 3 STR ' ORANGE
-14 5/16" GLV. TO 3 ACSR RED 4 SOLID TO 6 ACSR BLUE
I-15 4 STR T0 3 SR ORANGE 4 STR TO 3 SIR ORANGE
I-16 4 STR T0 3 STR ORANGE 4 SOLID TO 6 ACSR BLUE
=7 4 STR T0 3 STR ORANGE 8 STR TO 6 SOLID GREEN
I-18 4 SOLID TO 6 ACSR BLUE 8 STR TO 6 SOLID GREEN
I-19 4 SOLID TO 6 ACSR BLUE 10 STR TO 8 SOLID BROWN
1-51 4 SOLID TO 6 ACSR BLUE 4 SOLID TO 6 ACSR BLUE
- mmnm \
Consyltant TABD NRER 490 ) 1 d Abdnl “%’hﬂ'“\;‘e
i L ﬂ. } (P PR iy
“ L S
(Md. Duhidul Islam). _,.;‘} Md(ﬁ
Consuitant TADD 8] ( M ammel HUL] ‘E«)
¥ ¢ Wﬂ“
INSULATED onsultant TAPP RRE: b ﬂ\\‘,p )
‘ﬁﬂ“ﬁ“a‘:ﬂ
|-49 4 STR TO 3 STR ORANGE | 4 STR T0 3 STR ORANGE
I-50 4 SOLID TO 6 ACSR BLUE 4 SOLID TO 6 ACSR BLUE
72 4 SOLID TO 6 ACSR BLUE 4 STR TO 3 STR ORANGE

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description: SERVICE ENTRANCE COMPRESSION TYPE

Date of Origin

Reviewed by

Approved by

Revision No.

Uzt Designation

vk

July 1979

BRER

BRERB Board

6
:
!

M46-02

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February.ZOZO




@l b Bl bl ol P L] m| P e | &l ] < 2l @ 2 2] B
A ) o E T DUV 8 B e e O
— <t ~ <+ un
GROOVE CONDUCTORS IN GROOVE -
| TS e —
>
§ 6 Sol. Cu.
G oo
= 6 ACSR -7 ;@%mﬁ:;—fc
o DIE-BG -6 \?W@@M#
e 4 Sol A, || 1 crwp DIE-0 wap O Y T
S 1/4 oW 4 CRIMPS i
3 W, :
o
5 3 ACSR +
(6]
“a 3 st. Cu. STREET
—— LIGHT
5/16 Gr. W. CONNECTORSI
AR i £
3/8 G.W. %%
-8 -5 RE B ©
1/0 St. Cu. 2 :
/ u X Dé:_?—-Op DIE=0 = %‘% ( é
2-6 ACSR 2 ERives 5 CRIMPS DIE-D = 2
5 CRIMP 2 2
3-6 ACSR ° =3 8
1/0 ACSR
7/16 G.W.
4/0 St. Cu. !\\ﬁﬁ_
4/0 ACSR = -2 -1 B
DIE-D DIE-D DIE-D S&
4-6 ACSR 5 CRIPMS 7 CRIMPS 7 CRIMPS =i
-
£ | 5-5 ACSR <z
=£
"C” TYPE A &
"H" GROOVE
A TYPE =
5
/ X 5::
P 8t
: “0%. éf%
= NS D8 S
B £ ge.C‘!‘QB N 8 '
psst GROOVE

n'%”ﬁ)

20 TARR

BANGIADESH RURAL ELECTRIFICATION BOARD

Unit Description:

"C" TYPE AND "H" TYPE COMPRESSION CONNECTOR GUIDE

Date of Ongin

Reviewed by

Approved by

Revision No.

Unit Designation

July 1979

BREB

RRER Board

6

M406-04

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013. February 2020




IDENTIFICATION LONG LEG

TAG

COLOR CODE AND
CROSS OVER MARKS

L3 T @R o e P MR 39400

CABLED SHORT LEG

Loor
INSTALLATION
| . For o down quy, fasten a "pulling eye” (11.-327) 1o the anchor rod. For on overheod quy ,
loop o sling or short piece of chuin around the pole just below the guy aollochimen!
2. Fosten o "quy grip® (TL-315) to Ihe guy wire. Ploce the guy grip lor enough up the guy
strond lo ollow enough length of qguy strond for the installolion of the prelormed quy grip .
Install " chain hoist™ (TL-311) so tha! the choin hoist heod is in the guy grip ond the loke-up

3
end isin the pulling eye or pole sling .

4. Tension the quy strond ., The guy should he slightly over -tlensioned lo compensaota for guy
stretch ond stroightening ofter removal of the chain hois! .

5. |Install the preformed quy qrip so that the center of the qrip loopis in anchor rod eye or guy
atltochmen! . Wrop one preformed quy grip leg unto the quy sliond starting ot the crossover

mork "A" . Wrop the olher leg slorting ot the crossover mork "A" . Cul the quy strand
so tha! one inch exlends inlo the loop of the preformed quy grip.

REMOVAL OR RETENSIONING

I. Note tha! one leg of the preformed guy grip is longer thon lhe other

2. With a screwdriver lift one of the stronds of the longes! leg ond unwrop it oboul two
pliches., Perform this same operolion for the remaining longest leg stronds.

3. Reossemble oll the long leg stronds inlo a helix by windinq each one around on
imnginary core so 1hat every stiand is porallel ond none are crossed over ony olher ,

When oll the strands in this leg ore completely reossembled into o helix , unwind this leg

1,
back to the loop . Repeo! the above unwinding operolions on the short legq N
REB ITEM GUY WIRE COLOR CODED

NUMBER SIZE CROSS OVER MARKS
E-21 174" YELLOW 28
E-22 3/8" ORANGE . ja
E-23 7/16" GREEN gg
ma:man (- ‘ imel Hu 1d A 1'1“\0"‘“::'!?‘ :Ei;f
(Md. ur ) (Md ihidul Islam) ‘nrr\?gmtanfa?agr' ‘}1 Conanltar )

Consultant TAPP BREB  oneiitant Tapp RRF

BANGLADFSH RURAI. ELECTRIFICATION BOARD

PRE-FORMED GUY GRIP DATA AND INSTALLATION GUIDE

Unit Deseription:

Revision ho

Umt Designation

Date of Ongm

Reviewed by

Approved by

July 1979

BREB

BRERB Board

6

M47

Revision Date: July 1980, June 1981, August 1989, July 1995. August 2013, February 2020

(Debasish Chakraportty
PD, TAPP 8% :



11 KV Phase

{1

Secondary | or Neutral

]

" o

. see ¥ o o g
NO 1 ) L o

N o . N\\ / \ /  Note 2_—/,/

% \/ ' : \/ |

| | l g—_“—m_—-——-—_:

AR m\\wm g ‘

Note | |. L
o

1
18’
1

15
8

Ao
: o,
Running Crossing over Over Over Over ways By or over Buildings - -/
line along street, Navigable Rail road gccesible Flat roof or &-,’
street /road road River to pedestrians pitched roof.
only

ABOVE GROUND, RAILS, ROADS

b Comitant Thee TRes cénsdlﬂ g:gﬂgﬁiﬂ 1Deg%§$: p.aggggt% &i&y
11 KV OR 33 Kv s N
| &/ S5
Op;m wire . Cl) Secondc'lzry :‘-'33 or Neutral _Ci) —\ | q}f_., / Yé’ {%
Service r‘:::r WO\ Drop r:N S =y _ ‘_E'-_-,
%

w3 ~3

™
A Tl
Over Over Dvef S
Commercial Non—-commerciol Pedestrian
| Comminication Secondary or 11 KV & 33 KV Driveways Driveways Ways
: wires ond cables | Neutral Primary : a1 o
p | | | (5
AT WIRE CROSSINGS - MULTIPLEX SERVICE CONDUCTORS
NOTES ;

1. Vertical clearance over navigable rivers are as authorized by Bangladesh Inland Water Authority. The required
clearance is determined by the types of river traffic and varies between 35 feet and 70 feet. Before ottempting

a river crossing design the required clearance at the pomt of crossing should be determined and verified through

the System Engineering and Design Directorate.

2. Where the voltage between service conductors does not exceed 300 volts the following shall” apply :
(@) If the roof or balcony is not readily accessible, a reduction in clearance to 3 feet is permitted and

(b) o reduction in clearance above only the overhanging portion of the roof to not less than 18 inches shall be
permitted if no more than 4 feet of service drop conductors pass above the overhanging portion and then are =
terminated on on approved mast. 2

menitant TAPE DR

BANGLADESH RURAIL ELECTRIFICATION BOARD
Unit Description: MINIMUM VERTICAL CONDUCTOR CLEARANCES

Date of Ongm Reviewed hy Approved by Revision No Unit Designation

July 1979 BREB BRFRB Board 6 M50

Revision Date: July 1980. June 1981, August 1989, luly 1995, August 2013, February 2020




) 40-0" ,
Dongat Teea . ™7 7 2w ¢ I se b #
._S' i ipes ’/’;///({Zl “{'\\fl{ s -/-\
7 VLY N
(> { ; \-" l *‘
- S e | iy [
A & \
e/l SRRt
!l * ! J-/ J 1
\\., < / IU‘ V\'i‘ﬂ \-.-: ‘[:':_:_W’ “;f
il o f ol N )
‘).'{ : / ,4:‘;."/. | r'““fi U/\ ¥ i
HRRUDL Y Ll G AU
Bamboo Elevolion Diush
After Clooring
NOTES ™

Mote consumars losa service bacause ol hren damoge to Transans sion lines
thop similon damoge to digtelbution finas,so lrna tiimming tnquiromanls

ore cortaspondingly greatar and must be sthiiclly enforced tor 32MCY conslruchion
Trees like cocounu! pulms which loge oll then teafoge, when [(opped becouvsa
they Intivde inlo the danger zone, must be cul off level with the ground

regordloss ol their loculion.

On lavel ground, rapidly growing trees should bo considared for topping or remnovul

below an oulside

7~ it thay would reoch within
cenductor in lalling
s
,anﬁm:/i{;\hlnan) (Md. Ualidul islam)
(}Aﬂdn\ TAPP RREB  Consuitant. TAPP. BRER

5 fenl of o point linmediotely

PRAL A

'Md. Abdul Khiieque)
Cc(msultant,Tf\PT’. BRER

(Md. Midzammel Hug)
consultant, TAPP. BREF

(Md. Alsarl Fame)

ﬁmmﬂtaﬁr TADD DT

B3 T EIE Tom e e 98 39900

Je———

A{Ratrol Molik)

. Asst. Secy. (Board), BREB.

4

(Debasish Cha
PD.TAPP B

BANGLADESH RURAL ELECTRIFICATION BOARD

Unit Description:  RIGHT OF WAY CLEARANCE GUIDE

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 BREB BREB Board 6 RI

Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

rity)



INITIAL SAG TABLE
No. 3 ACSR "SWALLOW"
(300ft. Ruling Span)

- —_ e — ——

e —=

Temp | TENSION SAG INCHES for SPANS IN FEET
Of  lin pounds| 150 | 200] 210] 220] 230] 240] 250] 260] 270] 280] 290] 300 310] 320[ 330] 340 350] 360] 370] 380] 390] 400

120 358| 6.9| 12.2| 13.4| 14.7| 16.1| 17.5| 19.0| 20.6| 22.2| 23.9| 25.6| 27.4| 29.3| 31.2| 33.2| 35.2| 37.3| 39.5| 41.7| 44.0| 46.3| 48.7
115 374] 66| 11.6| 12.8| 141| 15.4| 16.8| 18.2| 19.7| 21.2| 22.8| 24.5( 26.2| 28.0| 29.8| 31.7| 33.7| 35.7| 37.7| 39.9| 42.0| 44.3| 46.6
110 391| 6.3| 11.1| 12.3| 134| 14.7| 16.C| 17.4| 18.8| 20.3| 21.8| 23.4| 25.0| 26.7| 28.4| 30.3| 32.1| 34.0| 36.0| 38.0| 40.1| 42.3| 444
105 408 6.0 10.6| 11.7| 12.8| 14.0| 15.3| 16.6| 18.0| 19.4| 20.8| 22.3| 23.9| 25.5| 27.2| 28.9| 30.7| 32.5| 34.4| 36.4| 38.3| 40.4| 425
100 426 57| 10.2| 11.2| 12.3| 13.5| 14.7| 15.8| 17.2| 18.5| 19.9| 21.4| 22.9| 245| 26.1| 27.7| 29.4| 31.2| 33.0| 34.8| 36.7| 38.7| 40.7
85 444 55| 9.8| 10.8| 11.€| 13.0| 14.1| 15.3| 16.6| 17.8| 19.3| 20.7| 22.1| 23.6| 25.1| 26.7| 28.4| 30.1| 31.8| 33.6| 35.5| 37.3| 39.3
80 462| 5.3| 94| 10.3| 11.3| 12.4| 13.5| 14.7| 15.8| 17.1| 18.4| 19.7| 21.1| 22.5| 24.0| 25.5| 27.1| 28.7| 30.4| 32.1| 33.9| 35.7| 37.5
85 480} 5.1 9.1| 10.0/ 11.0| 12.0| 13.1| 14.2| 153 16.5| 17.8| 19.1| 20.4| 21.8| 23.2| 24.7| 26.2| 27.8| 29.4| 31.0| 32.7| 34.5| 36.3
80 498| 49| 88| 9.7| 106| 11.6] 126| 13.7| 14.8| 16.0( 17.2| 18.4| 19.7| 21.0| 22.4| 23.8| 25.3| 26.8( 28.4| 30.0| 31.6( 33.3| 35.0
75 516] 4.8| 84| 93| 102| 11.2| 12.2| 13.2| 14.3| 154| 166 17.8| 19.0| 20.3| 21.6| 23.0| 244| 25.9| 27.4| 28.9| 30.5| 32.1| 33.8

70 s34| 46| 81| 89| 98| 10.7| 11.6| 126] 13.7| 14.7| 159| 17.0| 18.2| 19.4| 20.7| 22.0| 23.4| 24.8| 26.2| 27.7| 29.2| 30.8| 32.4
65 553 44| 7.8 86| 95| 103| 11.3| 122] 13.2| 14.3| 153| 16.4| 17.6| 18.8| 20.0| 21.3| 226| 24.0| 25.3| 26.8| 28.2| 20.7| 31.3
60 5711| 43| 76| 84| 92| 10.1] 11.0| 11.9] 129| 13.9| 150| 16.1| 17.2| 18.4| 198| 20.8| 22.1| 23.4| 24.8| 26.2| 27.6| 29.1| 30.6
55 sgo| 42| 74| 81| 89| 98| 106| 11.5| 12.5] 13.4| 145 155| 16.6| 17.7] 18.9 20.1| 21.3| 22.6| 23.9| 25.3| 26.6| 28.1| 295
50 607l 40| 72| 79 87| 95| 103]| 11.2] 12| 13.0] 14.0| 15.0| 16.1] 17.2| 18.3| 19.5] 20.7] 21.9| 23.2| 24.5| 25.8| 27.2| 28.6
T INITIAL No. 3 ACSR
2 T Ao g PIaRe 72 3940 NOTE : THIS TABLE IS FOR DESIGN PURPOSE ONLY

BANGLADESH RURAL EFIECTRIFICATION BOARD

Unit Description: 33 KV NO. 2 ACSR (6/1) "SWALLOW" INITIAL SAG TABLE

IDate of Origin Reviewed by Approved by Revision INo. Ulnit Designation

July 1979 BRE BREB Board IS TS-3-1
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2029\ Q\
) \\/‘ X)‘
-~
NN i ‘o y DT :.,%—
(Md. Mozibur Rahman) JNE ddVL JUBINSuUO Ry "ﬂ\:..'.'fu' \:_!'_x:._\.“:-.”.;_ Haque, (Debasisn Unaméggmy J .
‘ansuitant TAPP, BREF (e A -RiN) SN LAPE BREB PD,TAPF, BREB. (Kamrul Ahsan Mollik)

Asst. Secy. (Boerd), BREB.



T B R

ttty) (Kamrul Ahsan Mollik)
Asst. Secy. (Board), BREB.

Initial Sag of 1/0 ACSR(6/1)
300 Feet Ruling Span
Temperature | Tension Sag in Inches for Span in Feet
°F Pounds | 200 | 210 | 220 | 230 | 240 | 250 | 260 | 270 | 280 | 290 | 300 | 310 [ 320 | 330 [ 340 [ 350 | 360 | 370 | 380 | 390 | 400
120 728 120 | 13.2 | 145 | 159 | 17.3 | 188 | 20.3 | 21.9 | 235 | 25.2 | 27.0 | 288 [ 30.7 [ 32.7 | 347 | 36.8 | 389 | 41.1 [ 433 | 456 [ 480
115 758 11151127 1139|152 | 16.6 | 18.0 | 195 | 21.0 | 22.6 | 24.2 | 25.9 | 27.7 | 295 | 31.3 | 333 [ 353 [ 373 | 39.4 [ 416 | 435 | 46.0
110 788 111 | 12.2 | 134 | 147 [ 16.0 | 174 | 188 | 20.2 | 21.8 | 234 | 250 | 26.7 | 284 | 30.2 [ 32.1 | 340 | 36.0 | 380 | 401 | 422 | 240
105 818 10.7 | 118 | 129 | 141 | 154 | 16.7 | 180 | 194 | 209 | 224 | 24.0 | 256 | 273 | 29.0 | 308 | 32.7 | 346 | 365 | 385 | 406 | 42.7
100 849 10.3 | 114 | 125 | 136 | 148 | 16.1 | 174 | 188 | 202 | 21.7 | 23.2 | 248 | 264 | 28.1 | 298 [ 316 | 334 | 353 [ 372 | 392 | 412
95 880 99 1109120131 | 143 | 155 | 16.7 [ 18.1 | 194 | 20.8 [ 223 | 238 | 254 | 270 | 286 | 304 | 321|339 [ 358 | 377 | 396
90 911 96 | 106 | 116 [ 12.7 | 13.8 | 150 | 16.2 [ 175 | 188 | 20.2 [ 216 | 23.1 | 246 | 26.1 | 27.7 | 294 | 31.1 | 329 [ 347 | 365 | 384
85 941 93 ]102(11.2 123|134 | 145|157 | 169|182 | 195|209 | 223 | 238|253 | 268|284 [ 301218335 353 | 372
80 972 90 | 99 [109 119|129 | 14.0 [ 152 | 164 | 176 | 189 | 20.2 | 21.6 | 230 | 244 | 259 [ 275 [ 29.1 | 307 [ 324 | 32.1 | 359
75 1003 | 87 | 96 | 105|115 |125 |13.6 | 147 | 159 171|183 [ 196|209 [ 223|237 [ 252 | 267 [ 282 | 208 | 314 | 33.1 | 348
70 1034 | 84 | 93 /1102112 122|132 |143 154 | 166|178 |19.0]203[216[ 230 244 | 259|274 289|305 | 321 | 33.8
65 1065 8.2 91 99 1109|118 |128 | 139 )| 150 | 161|173 | 185 | 198 | 210|224 | 238 | 252 | 266 | 281 | 29.7 | 313 | 329
60 1095 | 80 | 88 | 96 |105 115|124 | 134|145 156 [ 167 | 179|191 204217 | 230 [ 244 [ 258 | 272 [ 287 | 303 | 31.8
55 1125 | 7.7 | 85 | 94 |10.2 | 11.1 | 121|131 | 141 [ 152 [ 163 | 17.4 | 186 | 198 [ 211 | 223 237 [ 25.1 | 265 | 279 | 2924 | 309
50 1155 | 75 | 83 | 91 | 99 | 108|117 | 127 | 137|147 [ 158 [ 169 [ 180 | 192 | 204 | 21.7 [ 230 [ 243 | 257 | 27.1 | 286 | 300
BANGLADESH RURAL ELECTRIFICATION BOARD
Unit Description: INITIAL SAG 1/0 ACSR
Date of Origin Reviewed by ' Approved by Revision No. Unit Designation
July 1979 BREB BREB 6 S-1/0-1
Revision Date: July 1981, August 1989, July 1995, August 2013, February 2020
"'“-\ WM
_(Md. Mozibur Rahman) (Md. Duhidul s} (Md /Mozamme! Hug) v = Md An _
“onsultant TAPP BRER ;msumm--:ﬁjgfg-’%“;)r‘_ Sonsultant, TAPP BRE! ~(Md. Abdul Khaloque) "-”("Sm' fas :’f“ff””‘iﬁ?n (Debasish Cha
' nstitant TADD BRER 2

PD,TAPP. BREB



INITIAL SAG TABLE
4/0 ACSR "PENGUIN"
(300ft. Ruling Span)

S:A_G INCHES for SPANS IN FEET

—_— e

Temp| TENSION
°F |in pounds| 150 | 200{ 210] 220| 230] 240] 250] 260] 270 280] 290[ 300 310] 320] 330] 340 3s0] 360] 370] 380] 390] 400
120| 1.359| 7.2|12.8(14.2|155| 17.0{ 185|20.1| 21.7| 23.4| 25.2| 27.0| 28.9|30.9 | 32.9 | 35.0 | 37.1| 39.3| 41.6| 44.0| 46.4| 48.8| 51.4
115]  1.416] 6.9|12.3(13.6|14.9| 16.3| 17.7]19.2| 20.8 | 22.4| 24.1 | 25.9| 27.7| 296 | 31.5| 33.5 | 35.6| 37.7| 39.9| 42.1 | 44.4| 46.8| 492
110]  1.475| 6.7| 11.8[13.0|14.3| 156| 17.0 | 18.5| 20.0 | 21.5| 23.2| 249 | 266 | 28.4 | 30.3 | 32.2| 34.2| 36.2| 38.3| 40.5| 42.7| 45.0| 473
105| 1.534| 6.4|11.4|125|138| 150| 16.4 | 17.8|19.2|20.7| 22.3| 23.9| 256 | 27.3 | 29.1 | 31.0 | 32.9| 34.8| 36.9| 38.9| 41.1| 43.3| 455
100]  1.595| 6.2]10.9(121|13.2| 14.5| 15,7 | 17.1| 18.5| 19.9| 21.4 | 23.0| 246 | 26.3 [ 28.0 | 20.8 | 31.6| 33.5| 354 | 37.4| 39.5| 41.6| 43.7
95| 1.656| 6.0 10.6|11.7|12.8| 14.0| 15.2|16.5|17.9|19.3| 20.7| 22.2| 23.8 | 25.4 [ 27.1 | 28.8 | 30.6| 32.4| 34.3| 36.2 | 38.2| 40.2| 42.3
90| 1.717| 5.7|10.2|11.2|12.3| 13.5| 14.7|15.9| 17.2| 18.5| 19.9 | 21.4 | 22.9 | 24.5 [ 26.1 | 27.7 | 20.4| 31.2| 33.0| 34.8 | 36.7| 38.7 | 40.7
85| 1.779| 55| 9.8|10.8|11.8| 12.9| 14.1|153|16.5|17.8| 19.2| 206 | 22.0 | 23.5 | 25.0 | 26.6 | 28.3| 29.9| 31.7| 335 | 35.3| 37.2| 39.1
80 1.841| 54| 95/105|11.5) 126|137 [14.9|16.1 [17.3| 186 | 20.0 | 21.4 |22.9 (243 | 259 |27.5| 20.1| 30.8 | 326 | 34.3| 36.2 | 38.0
75( 1.903] 52| 92101 |11.1] 121|132 (143|155 (16.7|17.9|19.2| 206 [22.0 [23.4 | 24.9 | 26.5| 28.0| 20.7 | 31.3 | 331 | 34.8 | 36.6
70| 1965 50| 89| 98|108| 11.8] 12.8 (139|150 (16.2|17.4 | 18.7 | 20.0 |21.4 |22.8 | 242 |257| 27.2| 28.8 | 30.4 | 32.1| 33.8| 356
65 2.026] 49| 86| 95[104| 11.4| 124 [13.5(146|157|16.9 | 18.1|19.4 |20.7 |22.1 | 235 | 24.9| 26.4 | 27.0 | 205 | 31.1| 32.8 | 345
60| 2.087| 47| 84| 92(101|11.1| 120|131 |14.1|152|16.4| 176|188 |20.1 |21.4 | 227 |24.1| 256|271 | 286 | 302 | 31.8| 33.4
55| 2149 46| 81| 89| 98| 10.7| 116 (126|137 147|159 [17.0|18.2|19.4 (207 |22.0 |23.4| 24.8| 26.2 | 27.7 | 29.2| 30.8 | 32.4
50| 2209 44| 79| 87| 95104 11.3[12313.3[143]15.4|165|17.7 |189 [20.1 214 [22.7|241(255]260 | 28.4|290]|315)
NITIAL 4/0 ACSR AR

NOTE : THIS TABLE IS FOR DESIGN PURPOSE ONLY

BANGCLADESIHI RURATL ELECTRIFICATION BOARD

! Unit Description:

L T 6 TR e 7
- o g % ‘m
.4 '."'\-"rw\ B_-q__ AT A\,BB

33 KV 4/0 ACSR (6/1) "PENGUIN" INITIAL SAG TABLE

a ceh DTS
T

Date of Origin

Reviewed by

Approved by Revision No.

Ulnit Designation

July 1979 BRI 13121:13 DBoard 6 Ts_4/0_l
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020
CLALz B D
P
W 1d. Abdui Khaleque (N
ltant TAPP BRI

(Md. Mozibur Rahman,
‘onsultant TAPP. BREI

o EAd AU IR UG

e T PR

onsullant . TAP

B TIay CAns
PIBRFE|

. t‘.\m?z&

-Ahsanul Hagumy

(Debasish Chakrabortty)
PD.TAPP RRFR«



INITIAL SAG TABLE
477 MCM (26/7) "HAWK"
(300ft. Ruling Span)
[rempTENSION - . SAG INCHES for SPANS IN FEET |

°F_lin pounds| 150 | 200| 210] 220| 230] 240| 250] 260] 270] 280 290] 300] 310] 320] 330] 340] 350] 30| 370 380 390| 400
[

120 1732 12.8| 22.8( 25.1|27.5| 30.1 | 32.8| 35.6| 38.5| 41.5| 446| 47.8| 51.2| 54.7| 58.3|62.0|658|69.7|73.7 779|821 86.5| 91.0
115 1792] 12.4| 22.0( 24.2| 26.6| 29.0 | 31.€| 34.3| 37.1| 40.0| 43.0| 46.2| 49.4| 52.7| 56.2 | 59.8 | 63.5|67.2| 71.1 |75.1 | 79.3| 83.5| 87.8
110 1857| 12.0| 21.2| 23.4|25.7| 28.1 | 30.6| 33.2| 35.9| 38.7| 41.6| 447|478 | 51.0| 544 | 578|614 |651|68.8 |727|76.7]| 808/ 85.0
105 1926| 11.5| 2041 22.5|24.7| 27.0 | 29.4| 31.9| 34.6| 37.3| 40.1| 43.0| 46.0| 49.1| 523 |55.7| 59.1 | 626 | 66.2 | 70.0 | 73.8| 77.7| 81.8
100 2001| 11.1| 19.7( 21.7|23.8| 26.0 | 28.4| 30.8| 33.3|35.9|38.6| 41.4 | 44.3| 47.3| 504 | 536|569|603|638 |67.4 |71.1| 749|788
95 2081| 10.7| 18.9| 20.8|22.9| 25.0 | 27.3| 29.6| 32.0| 34.5|37.1| 39.8| 426 | 45.5| 485 |51.5|54.7 | 58.0 | 61.3 |64.8 |68.3| 72.0| 75.7
90 2166| 10.2| 18.2| 20.0| 22.0| 24.0 | 26.2| 28.4| 30.7| 33.1| 356| 38.2| 40.9 | 43.7| 465 |495|525|55.7|58.9 |62.2 |656| 69.1 | 72.7
85 2257\ 98| 17.41192|211|23.0{251| 27.2| 294 |31.8|34.1| 366|392 | 41.9| 446 |47.4|504 |53.4 |56.4 |596 |62.9| 662 |69.7
80 2354f 94| 16.8| 185203 | 222 124.1| 26.2| 28.3|30.5|32.8| 352 | 37.7|40.3| 429 |456 | 48.4 | 51.3|543 |57.3 |605| 63.7 | 67.0
75 2456| 9.0 16.0|17.7 (1941212 |23.1| 251| 27.1|29.2|31.4| 33.7 | 36.1 | 38.5| 41.1 |43.7 | 46.4 | 49.1 | 52.0 |54.9 |57.9| 61.0 | 64.2
70 2565 8.7| 154 17.0| 186 20.3 [ 22.1| 24.0| 26.0| 28.0( 30.1| 32.3 | 346 |36.9| 394 |41.9|44.4 | 471|408 |526 |555| 585|615
65 2679| 83| 147|162 17.8| 195 21.2| 23.0| 24.9| 26.8|28.8| 30.9| 33.1 | 35.3| 37.7 | 40.1 | 425|451 | 47.7 |50.3 | 53.1| 55.9 | 58.8
60 2799/ 79| 141 155|17.0| 186 [ 20.3| 22.0| 23.8| 25.7 | 27.6| 296 | 31.7 | 33.8| 36.1 | 38.4 | 40.7 | 43.1 | 456 |48.2 |50.9| 53.6 | 56.4
55 2924) 76| 135|148/ 163|17.9 (195 21.1| 228|246 |26.5| 284 | 30.4 | 32.5| 346 |36.8 |39.0 | 41.4 | 43.8 |46.2 |48.8| 51.4 | 54.0
50 3053f 73! 12.9]| 1421156 17.0 | 18.6] 20.1| 21.8|23.5|25.3| 27.1|29.0 | 31.0| 33.0 [35.1 |37.2|39.5|41.8 |44.1 |465]| 49.0 | 516

INITIAL 477 mecm ACSR YR BT @]"\5{ O w fi 5 ﬁ K ko
NOTE : THIS. TABLE IS FOR DESIGN PURPOSE ONLY - — A i N
BANGLADESH RURAIL F:I.E(_.:‘I“RIFICTAT'IO,"\' BOARD (K:tmmf'ﬁ mm
Asst. Secy. (BO@T“),BREB-—“_‘

Unit Description: 33 KV 477 mcm (26/7) "HAWK" INITIAL SAG TABLE

Date of Onigin Reviewed by Approved by Revasion Nao. Unit Designation

July 1979 BREB BRIIB Board G TS-477-1
Revision Date: July 1980, Junc 1931, August 1989, July 1995, August 2013, 2019. ~ o
T I el Hg Clioriasiibars T2 “,—'.-"1 : 09_4__7_«- _Lmudb-,:ﬁ LHARIADOTity)
rE o | Telas et iant. TADSYR DS (Md. Ahsanul Haque) ER,
UMd. Mozibur Rahman (MId. Lunidul isian nnsuitant, TAPPIBRER “onsultant TAPP Jl}]}\";fl"- PD,TAPF, BREB.

i
Zonsultant. TAPP BRET onsuitant TAPP'BRE! =



-

FINAL SAG TABLE
No. 3 ACSR "SWALLOW"
(300ft. Ruling Span)
MAXIMUM DESIGN TENSION = 745 POUNDS

Temp| TENSION e ) SAG INCHES for SPANS IN FEET
°F_|in pounds| 150 | 200| 210 220] 230 240| 250/ 260] 270| 280 290] 300| 310] 320] 330] 340 3s0] 360] 370] 380] 390] 400
120 243| 10.1 | 17.9| 19.7 |21.6 | 236 [25.7| 27.9| 30.2 | 32.6 | 35.0| 37.6| 40.2| 42.9| 45.7| 48.6 |51.6| 54.7| 57.9| 61.1 | 64.5| 67.9 | 715
115 255 9.6 |17.0|18.8 |206 | 225 |24.5| 266 | 28.8 [31.0| 33.4| 358|383 | 40.9| 436 | 46.3 |49.2 | 52.1 | 55.2| 58.3 | 61.5| 64.7 | 68.1
110 264| 9.1 [16.2|17.9 (196 |21.5|23.4| 253|274 [29.6|31.8| 34.1|36.5|39.0|41.5|44.2 |46.9| 49.7|526| 55.5 | 58.6| 61.7 | 64.9
105 282| 87 (154|17.0 (187|204 |222|24.1|26.1 |28.1|30.2| 32.4 | 34.7|37.1 | 305 | 42.0 |446| 472|500/ 52.8 | 55.7| 586 | 61.7
100 298| 82 (146|161 [17.7|19.3|21.1|22.8|24.7 |26.6| 28.7| 30.7| 32.9| 35.1 | 37.4 | 30.8 | 42.3 | 44.8 | 47.4| 50.0 | 52.8| 55.6 | 58.5
95 314| 7.8|13.8|152(16.7|18.3 |19.9| 216|234 |25.2|27.1| 29.1|31.1|33.2| 35.4 | 376 [39.9| 42.3 | 44.8| 47.3 | 49.9| 5266 | 55.3
90 332| 7.4 (13.1|14.5 (159|173 [18.9| 205|222 |23.9|25.7| 276 |29.5|31.5|33.6 | 35.7 |37.9| 40.2 | 425| 449 | 47.3| 499 | 52.4
85 350 7.0 124137 |15.1|165[17.9|19.4|21.0 |22.7| 244|262 28.0|29.9|31.933.8 [36.0| 38.1 | 40.3| 426 | 44.9| 47.3 | 498
80 370{ 66 |11.7]12.9 (142|155 |16.9|18.3|19.8 [21.4|23.0| 24.7|26.4 | 282|300 |31.9 (339|359 |38.0| 402 |42.4| 446 |46
75 391| 6.3 (11.2]12.3 |13.5|14.8 [16.1|17.4 [ 189 [20.3|21.9| 23.5|25.1 | 26.8 | 28.6 | 30.4 [32.2 | 34.2 | 36.1 | 38.2 | 40.3 | 42.4 |44.6
70 412 6.0 (106 |11.7 [12.8 |14.0 |152|16.5|17.9 [19.3|20.7| 222 23.8 | 25.4 [ 27.1 | 28.8 |30.6 | 32.4 | 34.3| 36.2 | 38.2| 402 |42.3
65 435| 56 10.0|11.0 [12.0 132 143|156 |16.8 |18.1 | 19.5| 209 | 22.4 | 23.9 | 255 [27.1 |28.8 | 305|323 | 34.1 |35.9|37.9 |39.8
60 458| 54| 95(105 [11.5|126 [13.7|14.9|16.1 |17.3|18.6| 200 |21.4 | 220|243 [ 2590 |27.5|29.1 |30.8 | 32.6 | 34.3| 36.2 | 38.0
55 482| 51| 9.0| 9.9 (109 |11.9 [13.0|14.1 152 |16.4 | 17.7| 19.0 | 20.3 | 21.7 | 23.1 | 24.6 |26.1 | 27.6 | 20.2 | 30.9 | 32.6 | 34.3 | 36.1
50 506| 4.8| 86| 9.5 (104 (11.3 [12.4|13.4|14.5 |156|16.8| 18.0|19.3 | 206 [22.0 |23.4 [24.8|26.3 |27.8|29.4 |31.0| 326 |34.3

FINAL No. 3 ACSR
NOTE : THIS TABLE IS FOR DESIGN PURPOSE ONLY

35 OF T e iy © PR 72 399

BANGLADESIHI RURAIL ELECTRIFICATION BOARD

Unit Description: 33 KV NO. 3 ACSR (6/1) "SWALOLOW" FINAL SAG TABLE

{Komr
imrat Ahsan M Y

A;m_seey_m_d_f'ﬂll

7-¥30ard), BRER

Date of Origin

Reviewed by

Approved by

IRevision No,

Ulnit Designation

%

July 1979 1I311:13 T3IRTIT3 DBoard (&) TS‘3'F
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013. February 2020 2 . }
= /V]_'n A e \ IL
] - . - -~ 14 A i v
e L‘]ﬁ);’ , (Md. Ahsanul Haque) Debasigh Chy -
\M_"J._-._M\Gk?i.';'|il:j|r:1_ Hug; ‘---"J\'gf';”?;‘-_l’f‘f onsultant TAPP BRER hakrgbortty)

(Md. Mozibur Rahman,
a) Ti A FTATITY TATITTTY

°D.TAPP. RREB.



FINAL SAG TABLE
4/0 ACSR "PENGUIN"
(300ft. Ruling Span)
MAXIMUM DESIGN TENSION = 2276 POUNDS

——— . e

Temp| TENSION SAG INCHES for SPANS IN FEET
°F_lin pounds| 150 | 200] 210] 220] 230] 240] 250] 260] 270] 280] 290] 300] 310] 320] 330 340] 350] 360] 370] 380] 390] 400

120 770| 12.8| 227 | 25.0| 27.5| 30.0| 32.7 | 35.5| 38.4| 41.4| 445| 478| 51.1| 546| 58.1 |61.8|656 |69.6 | 736 |77.7| 820 86.4 |908
150 800) 12.3|21.9|24.1| 26.5|28.9| 31.5 |34.2| 37.0| 39.9| 42.9| 46.0 | 49.2| 52.5| 56.0 | 59.5 [63.2 |67.0 | 70.8 | 74.8 | 78.9 83.1 |87.5
110 633| 11.8| 21.0 [ 23.2| 254 |27.8| 30.3 |32.8| 35.5| 38.3| 41.2| 44.2| 47.3| 50.5| 53.8 | 57.2|60.8 |64.4 | 68.1 |71.9| 75.9| 79.9 |84 1
105 868 11.4)12021222|244)|267|29.1|31.5|341)|36.8(39.5| 424|454| 485|517 (540|583 (618|654 |691|728]|76.7 |80.7
100 906| 10.9| 19.3 121.3| 23.3 | 25.5| 27.8 |30.1 | 32.6| 35.2| 37.8| 406 | 43.4| 46.3| 49.4 | 525|557 |59.1 | 62.5 |66.0 | 69.6 | 73.3 |77.2
95 948| 10.4| 184 | 203|223 (24.4| 266 |28.8|31.2| 33.6(36.2| 388|415\ 443|472 (502|533 |56.5|59.8 [63.1|666|70.1 |73.8
90 992) 98176 |19.4|21.3|23.3|253 |27.5|29.7|32.1|34.5| 37.0|39.6| 42.3| 45.1 |47.9|50.9 |53.9|57.0 |60.2|63.5|66.9 70.4
85 1040] 95)16.8 (1851203222242 |26.3 284 |306|329|353|37.8| 404|430 (457|486 |51.5|54.4 |575|606|63.9 |67.2
80 1092) 9.0|16.0 |176|19.4 |21.2|23.0 {25.0(27.0|29.2|31.4|336|36.0| 384|410 (436|462 |49.0|51.8 |548|57.8 |60.8 |64.0
75 1147) 8.6|152 1168|184 12021220 |23.8 (258 |27.8|29.9| 321 |34.3| 366 |39.0 |41.5 |44.1 |467 |49.4 |52.2 550 |58.0 |61.0
70 1206| 8.2(14.516.0(17.5/19.2| 209 (226 (245|264 |28.4| 305 (326|348 |37.1 (394 [419 |444 |46.9 |496|52.3 |55.1 58.0
65 1268) 7.8|13.8 1152|167 |18.2| 19.8 |21.5(23.3|25.1 {27.0| 29.0 | 31.0| 33.1 | 35.3 |37.5 |39.8 |42.2 | 44.6 |47.2 | 49.7 | 52.4 |55.1
60 1334] 74131 (145159 173|186 20.5|22.2|239 (257|276 |29.5| 31.5|33.6 |35.7 [37.9 |402 | 425 |449|47.3 | 499 |524
55 1403 7.01124 (13.7]1151 165|179 1194 | 21.0|227 (244|262 |28.0|29.9|31.9 [33.9 [36.0 |38.1 |40.3 |426 | 449 | 47.3 |498
50 1475] 6.7|11.8 |[13.0| 14.3 | 156 | 17.0 |18.5 [ 20.0 [ 21.5|23.2 | 24.9 [ 26.6 | 28.4 | 30.3 |32.2 [34.2 |36.2 [38.3 |40.5 | 42.7 | 45.0 |47.3

FINAL.4/0 ACSR

NOTE : THIS TABLE IS ONLY FOR CONDUCTOR INSTALLATION ~ *** &% ¢ T8 Sizifis firera ¢ 3990
BANGLADESH RURAIL ELECTRIFICATION BOARD {vwa-u"i(uf,c‘{manMom
Unit Description: 33 KV 4/0 ACSR (6/1) "PENGUIN" FINAL SAG TABLE ASSL. Secy. (Board) pghy
Date of Origin Reviewed by Approved by Revision No Unit Designation
July 1979 BRI BRIEDB Board 6 TS-Q/O-F
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, February 2020

{ﬁiq N
(Md. Ahsarful Haque) NN

—

W
ivid. Mozibur Rahman) (Md. Dunidul Jsiam)
Yewenitant TAPP. BRER rARD RO

Afisiifast TADPD :
. VIOKATfiIE: Fiuy, . ; TAPP. BREB (Debasish Chakrapont
nsultant:- TARR{BREF PD TADD nﬁ""‘g.'-\ Y)




FINAL SAG TABLE
477 mcm (26/7) ACSR "HAWK"
(300ft. Ruling Span)
MAXIMUM DESIGN TENSION = 2,687 POUNDS

Temp| TENSION SAG INCHES for SPANS IN FEET
°F _|in pounds| 150 | 200| 210] 220] 230 240| 250] 260] 270] 280] 290] 300] 310] 320] 330] 340] %s0] 3s0] 370] 380] 390] 400

120 1478{ 15.0| 26.7| 294|323 | 35.3| 384|41.7|451| 486|523 |56.1| 60.0|64.1|683 |726|77.1| 817|864 913 96.3 (1014|106.7
118 1499| 14.8| 26.3( 29.0 | 31.8 | 34.8| 37.9| 41.1|445| 480|516 [553| 592|632 (674 |716|76.0]| 806|852 90.0 | 95.0 |100.0(1056.2
110 1520f 14.6| 25.9| 28.6 | 31.4 | 34.3| 37.3|40.5|438| 472|508 |54.5| 583 | 623|663 |705|74.9| 794 | 840|887 93.5|98.5/|103.6
105 1555) 14.3| 25.3| 27.9|30.7 | 33.5| 36.5(39.6|428| 462|497 (53.3| 57.0|60.9|64.9 |690|732| 776 | 821|867 91.5]96.3/101.3
100 1605 13.8| 24.5( 27.01297 | 32.4| 353(38.3|415| 447|481 (516|552|589|628 |668|709| 751|795 |840] 886 93.3| 981
85 1660| 13.4| 23.7| 26.2 | 28.7 | 31.4| 342 |37.1|40.1| 43.3|465 (499|534 |57.0|608 |646|686| 727 | 76.9 812|857 (902] 949
90 1719] 12.9| 22.9] 256.3 | 277 | 30.3| 33.0 | 358|388 418|449 |482| 516|551 |587 |62.4 |663| 702 | 74.3 785|828 (872 917
85 1783| 12.5] 22.2|1 24.5 | 26.8 | 29.3]| 31.9|34.7 | 375| 404 | 435 (466 | 499|533 568 |604 [641]| 679 | 719 759 )80.1 [84.3| 88.7
80 1852| 12.0| 21.3| 23.5|25.8 {28.2| 30.7|33.3|36.0| 38.8 |41.7 |448|479|51.1|545 |580|615| 652 6950|729 769 |81.0| 85.2
75 1928] 11.5| 20.4| 225|247 | 27.0f 29.4|31.9 346 37.3 |40.1 |43.0 | 46.0 491|523 |55.7 |59.1| 62.6 |66.2 70.0 738 (777|818
70 2010} 11.0( 19.6| 21.6 | 237 |25.9| 28.2|30.6 [ 33.0| 356 | 383 |[41.1|44.0|470|501 532|565/ 59.9 | 634 | 669 706 | 744|782
65 2099| 10.6| 18.8]| 20.7 |22.7 |24.8| 27.0|29.3 | 31.7| 34.2 | 368 |39.4 | 422|451 | 480 |51.1 |54.2]| 57.4 |60.8 | 64.2 67.7 | 71.3| 75.0
60 2186| 10.1| 17.9| 19.7 {21.7 |23.7| 25.8 | 28.0 {30.3| 326 |35.1 [37.7 | 40.3 | 43.0 | 459 |488 (518 549 {580 |613 | 647 68.1] 716
55 2301 96| 17.1| 189 |20.7 |226| 246 | 26.7 | 289 31.2 [33.5 [36.0 | 385 |41.1 | 43.8 [466 |495]| 524 554 (586 |61.8 [65.1|68.4
50 2415] 9.2] 16.3]| 18.0 {19.7 |21.6| 235 {255 276 29.7 |32.0 |34.3|36.7 | 39.2 |418 444 [471| 500 52.8 |55.8 | 58.9 |62.0 | 652

FINAL 477 mcm ACSR
NOTE . THIS TABLE IS ONLY FOR CONDUCTOR INSTALLATION R3O @IS AW Wl e w2 39400

BANGLADESH RURAL ELECTRIFICATION BEOARD (Kamn = ,
Unit Description: 33 KV 477 MCM ACSR (26/7) "HAWK" FINAL SAG TABLE Asst. Secy. (Board), BRER,

Date of Origin Reviewed by Approved by Revision No. Unit Designation

July 1979 I3IRI-13 BRERB Board 6} TS-477-F
Revision Date: July 1980, June 1981, August 1989, July 1995, August 2013, 2019.
8 K7 - &= 'S f"
L/—"/‘— (o y - e
1d. Mozibur fanman i 1813 _——i == '.l\;.“-.kl“'li.'.l_"fl.:a':""s';-:;' Md Ahsanul Haque) (Debasish Cm“"@bﬁm}ﬂ
{AvlG, WIVASY TRELL otkbimprd b L) Md. Mogammei Hud, swant TAPP RREI onsultant TAPP RRER PD TAPP BREB.

& W 1 Gl ) - ™ [ ]l | ‘
Consultant TA? ansultant TAPP'BRE] onsultant TARPRIRRES



